Name of the Trade - Electrician 3™ Sem - NSQF - Module 1 - DC Generator

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level Topic of Week No of
sylabus the Syllabus
1|What is the name of the part marked as ‘X’ Armature core Brush Commutator raiser | Commutator segment [T SeReX & "X’ & & H [RATEAd HIET & IR PR ERl FFGTA LR FHICR TS C 1 |DC generator - 53 -54
in DC generator? AT FATE? Parts
2
d
Differential long shunt |  Differential short Cumulative long Cumulative short  [D.C STeIRexX &l =13 T 2 TSRl FledT AT TSHIAT o 2T Fol ofell eic A | ORI Ag Ac ARE | A 1 |DC generator - 53 - 54
compound shunt compound shunt compound shunt compound $U13s Iqifs Types
3|Which rule is used to find the direction of Cork screw rule Right hand palm rule | Fleming's left hand | Fleming’s right hand [D.C Sieikex & ORd SUATS & f&em ATd ieh TF [AH clfest 8T FI AN I | FATHIT F S0 gTT FT | FA[AT & Gt IAFT | D 1 |DC generator - 53-54
induced emf in D.C generator? rule rule FT & fore forer TreT &1 39ieT fomar IGeE IGeE GO Function
ST 82
4|Which formula is used to calculate the D.C STeReX H 3cTee] SUHT T I0TAT C 1 EMF equation 53 - 54
generated emf in D.C generator? ceneratedemt -2 vor N A N FXe & fow fome g et 39T fomam S Generated emf = 2N volt JIN A ZN
eneratedemr = 0 O Generated emf :7XEV0“ Generated emf :LXEVOH Generatedem = — 2y P vort |82 eneratecemr = Ot Generated emf :7XEV0|1 Generated emf :LXEVOR Generatedemf = — 2 — x P vort
60 60 A 60X A 60 60 A 60 X @
5|What is the formula to calculate back emf v E, =V x I, R, Volts E, =V -1, R, Volts Ep=V+I,R, Volts |STHTE &I 0T &el b1 FA FAT UTh E, =V x I, R, Volts E,=V-1,R, Volts E,=V+I,R, Volts | C 1 Back EMF 57 - 58
of a D.C motor? E, =——Volts .. A E = Volts
b 1R, b 15R,
6|What is the name of the part marked ‘X’ in Pole tip Pole coil Pole core Pole shoe DC Generator # 'X’ & &9 # [Rf&eId H1a1 ¢ Al ¢d gSell EICEaN oret 2 D 1 Parts 53 - 54
DCgenerator? T ATH FATE?
H
d
7|What is the name of the D.C generator? Shunt generator Series generator Compound generator | Separately excited |D.C STelRex FT ATH FAT§? 9T TR AU SR AP TR 37l ¥ 3dToid sfelkex | D 1 Type 53-54
generator
!
8|Which energy is converted into electrical Heat Kinetic Chemical Mechanical SR AR THE Foll 1 A6 g d Fatl 7 FSAT aifaeher SEPicEd s D 1 Function 53 - 54
energy by generator? gRafda T sirar &2




9|What is the name of D.C generator's field? Short shunt Long shunt Differential Cumulative D.C STeRReX $Ies ol o113 FT 872 T AT TN STeReX | lle-dT AU T3S SRS | 1adieeh NaTh feReX | ol Aeeh SfelkeX Type 53 - 54
compound generator | compound generator | compound generator | compound generator
10|What is the principle of D.C generator? Cork screw rule Fleming's left hand | Fleming's right hand | Faradays laws of |D.C SeRReX &l Qi T 87 Fich TF [ATH ol THIT o U G T | Fel {9 o aligel &1 ol TS 1 fagga Principle 53-54
rule rule electromagnetic iCre iGre: FFEHIT 9T &I fATH
induction

11|What is the formula for dynamically induced BLV volts BL sin® volts BLV sin® volts BLV cos@ volts  [aTfarelie ®9 & ORd STATE o foT g3 BLV dlec BL sinB dlec BLV sind dlec BLV cos6 dTec Principle 53-54
emf? FITE?

12|Which rule is used to find direction of Cork screw rule Right hand palm rule | Fleming's left hand | Fleming’s right hand &1 1 T2 AT LA o folT v Fich TF [TH EIeeT &1 T gUell ol | WFollH9T oh STV GRA AT | TFel[819T oh GlTgeT @12 T Principle 53-54
magnetic field? rule rule T 3T FRAT SATAT &2 IGpE IGRE IGEe)

13|What is the name of the part of DC Stator Pole core Pole shoes Yoke (or) frame |38} STeReR o ST9T T ATH T &7 X ¢d PR qreT g ik (1) e Parts 53-54
generator?

!

14{How many parallel paths in duplex lap 4 6 8 12 4 GTel S STeReX & Foolard oY ATSfSaT 7 4 6 8 12 Armature 53 - 54
winding of a 4 pole DC generator? el TATAIR TEA 87 winding

15/Name the part of DC generator? Side end plates Pole shoe lamination | Commutator segment|  Armature core 31T ST o HIIT Tl AT JAIST? H1SE TS Tolcd el g AT FFYR TS TR FR ATAATT Parts 53 - 54

lamination
]

16[How interpoles are connected in a DC In series with In parallel with In series with shunt | In parallel with shunt [SREY STeReX & SeXdTel &l 3810 07 3R & T Sl # TR & Y FHIK | AT BIes & A1 Aol e BIes & 1Y Commutation 53-54
generator? armature armature field field " " THAAR H

17|What is the necessity of residual Build up the voltage Reduce the field Reduce armature Maintain constant  |{Tsh ¥ ScdfSid S STeRex H 3rafRIse recol Fl (AT T hIes T A P IR AR FA R | @3 3m3eqe dees Self excited 53-54
magnetism in a self excited DC generator? current current output voltage ?;{EﬁthrEﬁr 3TTARTSHT FIAT &2 FATT I generator

18|Which are the two points that the brush Resistance between | Resistance between | Resistance between | Resistance between [D.C &M=t #, 3 &le A & fdig & ot 12T TlasuFda |77 3R FFgERI TSR |70 3R Fagee & I | 21 31 3R FsaeX Brushes 53 - 54
contact resistance measured in D.C the opposite brushes brush and brush and brush and armature |[F9e FTARYEr T AT &2 gfa”rer F & TRy gfarer & o wfarrer
machines? commutator raiser commutator conductors




19|Which voltage drop is indicated in the Full load voltage drop |Armature voltage drop| Armature reaction Shunt field voltage  |fohd dlecst 319 &I 'X' & &9 H g q;U‘laﬁ's'a’m qrd R dlecot 91 3R Ruererat 3/ 2Ic $Ies dlecat 319 Building up of 53-54
portion marked as ‘X'? drop drop T T g? voltage
Iy r—
L
: i
: :
H :
rre—— i
20|What is the name of the compound Long shunt compound|Cumulative compound| Differential compound Short shunt FHUT3S ST I ATH FAT &, FMe, AT Hles SledT A HUT3S T g aficeh Aierh g e Ah Types 53-54
generator, if the shunt field is connected in compound FHTHTR & A1 AW H J3Tg 38 ?
parallel with armature?
21|why the armature core of a DC generator is | Reduce the copper | Reduce the friction Reduce the Reduce the eddy [T Teh 31T STeikeX oh 3MTHTR R GeTeld | T BITel &l hA X | ENOT ET1el ol vl Y | TRECREE gTiet ohl haf | 87aR €T B1ied Y vl Construction 53-54
laminated? loss loss hysteresis loss current loss g7 Eay Eay
22|Why armature resistance of a D.C Reduce armature Reduce armature Run armature with Reduce the D.C SfeRex 1 TR JTeies g o sl IR URTHA FY | TR dlocsl 319 Pl | dotel o AT I | 3T T AT hal Armature - 53 - 54
generator is very low? current voltage drop less weight temperature of FIT§? FH B BRI ET Construction
armature
23|Why the D.C generator should run in Protect brushes from | Protect the residual | Avoid short circuitin | Avoid over loading of |D.C STeT¥eX &l E1ST i =T # &1 &1 TeiaT | $121 1 Sl T 1T | ATASE Foehed ohT T&TN | IR A AT Tlehe T | ST ATATATRA Hlel Building up of 53 - 54
clockwise direction only? damage magnetism armature generator arfgu? Cy CEl T voltage
24|Why compensating winding is provided in Connect more loads |Reduce commutation | Neutralize armature Increase the T3 ST STeReY H GATGGR &Tiaq[d a1 3TeIeh TS hotehe Y | HEYLRI TG 1 hal | JTHER FTciTshalT FemTd | STeRex i GaTel 9aTu Armature 53-54
large DC generators? effect reaction effect efficiency of generator [JeTeT r ST &2 F I I H reaction
25|What is the reason for DC generator fails to | Loose brush contact | Armature resistance | Field resistance is Prime moveris |31 STakeX & dloeol T [TATOT el 3 EERRRISC IR gy 31w & | Fres ufeRg #ifas | 9188 HaR 38 a8 Building up of 53-54
build up voltage? is more above critical running at above  |father gYsY T FAT HROT &2 IR A IR E SR AT ETE voltage
resistance rated speed
26|What is the name of generator, if its field is Shunt generator Series generator | Compound generator | Self excited generator [STeRex T #1TH &1 €, ATe; ST &17 9T SFeARe Foft FeReX AP TR TIF Scdiold STelie Types 53 - 54
connected in parallel with armature? FHTHTR & FAAAR J3Tg 3T
g7
27|What is the purpose of pole shoe in DC Reduce the airgap | Increase the field Minimize the Spread out flux [T STeXeX 3 GTeT QT 3527 FAT 572 TR 3T & vl Y &1 1 dATehcl 96U | ehid GTITA bl bl | TR 319 A FAT &9 Parts 53 - 54
generator? strength magnetic losses uniformly in the air F FoTFd i thell@
gap
28|What is the function of split rings in DC Maintain constant | Collects the current | Reduces the voltage Increases the A TR A e RITH FATHRA§? | AR el J1T0 W |9RT T Ueh 6T & Tehd | 5 I dloeol 31T I |8 T g?ﬁn A cfaad Parts 53 -54
generator? voltage unidirectionally drop at brushes terminal voltage than IATE HH AT cool JeldT &
rated
29|Which material is used to make brush in Steel and graphite | Carbon and graphite [Cast iron and graphite] — Aluminium and  [STeRReX & 51 FoIT & [T TR TTHAT ST el 3R AIEe HTeT 3R AHTEC ToTdT olTgl 3R AHIBC | T AT 3R FHIST Carbon 53 -54
generator? graphite 39T foRaT STaT §2 brushes
30|Why DC generators are loosing their Heavy short circuit in | Running without load | Continuous running | Change of direction [FT ST STeliex 3t ATRISE Yashed W | R H A ATC Flhe | TelT 1S o IR Tl | ool Teh & SIMAR | AT T &= HFER Building up of 53 -54
residual magnetism? load continuously without break of rotation very often [t §? wE TolAT EECRIRS voltage




31|How does the magnetic circuit complete Field coils Armature core Laminated pole core | Winding conductors [Teh STeikex # I1eh 3R 4F & Areas & BEECE 3R PR EGEREICED 3R A argiSaT Function 53-54
through the yoke and poles in a generator? in armature FEHT ATHE HE TUEIAT 8?2 FsFeT

32|Why the terminal voltage decreases if load |Because of armature | Due to increased in | Because of brush | Due to increased in [SHT 2 STeReX & A Fe=1 R EfeeTel IR gfafRaT goa | IR ACRIT A gig | JrdlecaT R aoig ¥ | o€ Bles WRehed A gig Characteristics 53 - 54
increases in DC shunt generator? reaction effect armature resistance voltage drop shunt field inductance |atecsT & F4T g ST 87 % HROT & HROT ORTae FF T ST & & HROT

decreases

33|Which type of DC generator is used for long | Shunt generator Series generator Differential Cumulative e T Y AR oSl & ToIT fohd TR 9T SFeARe Foft FeReX Ta%iee AT TeReX | Fadl JeTe ShelkeX Types 53 - 54
distance distribution lines? compound generator | compound generator |3 ST ST HT 3TN fRAT ST §2

34|Which method is used to improve the Replacing the Heating the machine Cleaning the Blowing hot air in to Mmﬁ%lﬂmﬁm S 1 IR-TR Feol | FAI-THY IR 7 1 | A8 T F FFgeeR | WA o GRIeT e Insulation 53 -54
insulation resistance in DC generator? brushes frequently |by running periodically commutator the machine during |§=Tet & forw R T 39T fohar I AT TITHT T THTS AT H I gar resistance

segments regularly maintenance ST 82 ST

35|Which type of D.C Generator works in Shunt generator Series generator | Compound generator | Separately excited |3/@TRIse gaahcd & AT H hd THR HI 9T SfeAie Foft FeReX AP TR 37T ¥ 3ot ofelieX Seperately 53 -54

absence of residual magnetism? generator D.C SeReX &I il &2 excited
generator

36|Which type of D.C generator is used for arc Shunt generator Series generator Differential Cumulative 31T dfeadT & Tolv fohd YR & D.C 9T SFeAie Foft FeReX e AT ToReX | Tt TS ToRex Types 53 -54
welding? compound generator | compound generator [SIReX T 39T fohaT ST &2

37|What is the property of wave winding in D.C Low current low High current low Low current high High current high  [D.C SeRex & X1 ATST4T I [GAYAT T | i URT &l dlecal 3T YR kA dleda $H YR 3T dleda 3T YRT 3= dlecal Armature 53-54
generator? voltage voltage voltage voltage [ winding

38|What is the purpose of resistance wire used | Maintain constant Nullifying statically | Increasing statically | Smooth reversal of [D.C JIeReY H HFgec Tl A TgFd | [=14d dlees o W@ (YR WdF T A IRd | RfdF A 9Ra | o e &1 3mamn & Commutation 53 -54
in the commutator connection in D.C voltage induced emf induced emf current direction  |IfARIET AR T 32T FATE? SUATH STATE g7 qoTesT
generator?

\ W \
]
o

39|Why solid pole shoes are used in D.C To reduce the copper |  To increase the To decrease the To reduce the D.C SIeleY H 31 UTel &I 3TART FAT | dld & JHA A hA | 3GfAS Zg;aih?dﬁ HITASE Fehed 1 HH | JIhI TY & ReleFed Parts 53-54

generator? loss residual magnetism | residual magnetism reluctance of T ST g2 FA & forw doTel & forw Eh‘{g F fow P HH e P T
magnetic path

40[Which metal is used to make large capacity Cast iron Soft iron Aluminium Rolled Steel ST &TAAT % ST el AT dallel o [oTT ToTdT ollgT T olgT g ATA Jes Tl Parts 53-54
DC generator yoke? ore &g &1 3u1eT T STaT £

41|What is the function of split rings in a D.C Supplies output Makes output in the | Makes outputin the | Collects the output |2 #f FeRRex 7 Rcelc ReG F FA FRIE? | TINAR A3CYE T e A 33cye | Aulid Ram A 3m3eqe | geamad dsaex & Parts 53-54
generator? continuously uni direction opposite direction from alternate 3-11'{% FATATE FATE HT3TYT Uehd Xl &

conductors

42|Which type of voltage is induced Pulsating voltage Oscillating voltage | Alternating voltage | Direct current voltage |D.C SeRexX # foh&l YRR &l dlecat JeafedT alecal alcreTelier atecor JITad! dlees 8T HRT alecal Function 53 - 54

dynamically in a D.C generator? e ¥ & Rk grar g7




43|What is the purpose of slot marked as ‘X’? To fix the key way To make air For lubrication For easy removal  ['X' & &9 & RITE-d Taic 1 38T FATL? | Foll Il O1ch Il & | I IRARUT TAA & | To9ge] 3820 & [T | ATFC H 1T & &l Parts 53 - 54
circulation purpose from shaft fow T & fow
¥ g

44|What is the purpose of field coils in D.C To increase the flux To decrease the To magnetize the Toincrease the  |D.C STReX A Hles HIgl I 32T FATL? | TIR AT H FoIFd I | HIICISToNET e Pl oI T AT | YD TY & Rersged Parts 53-54

generator? in air gap magnetizing current | poles to produce coil reluctance of eI & forw FH F & fow et & forw @t &t HT Tel & forw
flux magnetic path grafehd ST

45|Which metal is used to make pole core of Soft iron Cast iron Cast steel Stainless steel  [a3 ST ST AMAT & il DR JTATel b T oNeT Tofar gl oTaT 3T9Td Tl T Tl Parts 53-54
large DC generator machines? T fore a7 &7 39T T 1Tt 872

46]Why the pole core stampings are laminated | Reduce the friction | Reduce the windage Reduce the Reduce the eddy [T 9Tl I TITUET ST STeleX # Uil | ENOT gTiel 1 o Y | TASST ol bl v X | TRECRE gTiet bl haf | 87aR &I B1ied 1 vl Parts 53 -54
in DC generator? loss loss hysteresis loss current loss A E? F Eay

47|Which type of DC generator is used for Shunt generator Series generator Differential Cumulative SolFCITATeIT UTshdT o [T [ohd TR 9T SfeAie Aoft AR Ta8iceh AMaTeh ofeReX | EeRl Tiaeh oTekeX Types 53 - 54
electroplating process? compound generator | compound generator |3t STAYEY T IYTET fhaAT SATAT &2

48|What is the purpose of compensating Minimizes rough Maintain constant Neutralizes the Decreases the  |3IET STelkex & T3l A5 (39T T FOR YA FH | T 3M3CYE dlecs] THT T | &1 FSell T Sccloted Armature 53 -54
winding in DC generator? commutation output voltage demagnetizing effect | excitation current of |322T T &7 FATE AT T I FGATE YRT T TETAT § reaction

field coils

49|What is the effect if the shunt field Output voltage is Output voltage is Generator failsto | Generator builds up [I7¢ 27e Hies UTaRIY shifae JTcRIY Al 2 dlecs IHT3TYC Alecol AHARY | SToRel dlecs dellel 7 | SlelRe AT &9 & Building up of 53 - 54
resistance is above critical resistance value pulsating above normal build up voltage voltage normally  |& F9X & A 4T JHTG 95dT D.C STeReX? g AFWE IheT T e Frecst F=TdT & voltage
in a D.C generator?

50|What is the effect of armature reaction in Output voltage Output voltage Output voltage is Output voltage will  [STHT FeReX H R TTATHAT HI THEG | 3M3cYC dleco d6dl § | 3M3CYC alees A B | HBCYE Alecol TAGd | HBCYT Aloest Yad ar Armature 53 - 54
DC generator? increases decreases pulsating become zero FATE? KGN REGES ST reaction

51|Calculate the emf generated in a 4 pole DC 178 V 243V 357V 428 V ToFIolery da a133 TR & a1 T 4 178 V 243V 357V 428V EMF equation 53-54
generator with simplex wave wound ref ST STeikex A 1020 e § 3R
armature has 1020 conductors and driven 1500 rpm & I & TaTford &, Forerd /
at a speed of 1500 rpm, the flux / pole is dier 0.007 e §; Scurferd STHAUE Y
0.007 webers? IOTAT FY?

52|How the effect of armature reaction can be | Using compensating | Providing additional Increasing brush Adding resistance |93 ST STelReX & AR T shaT & AT ATS TS T | ITTAREF $eX Ul Felel | 51T Teh TIoRT §Ga1 | dATS139T 3h [T Fieres Armature 53-54
neutralized in large DC generators? winding inter poles contact resistance wires with winding  |T87Tar T e S31ER ToRaT ST TeharT &7 YT AT HEAT GIREIRCIE reaction

53|What is the effect in D.C generator, if it is Field coil resistance | Armature resistance Increase the Looses its residual [D.C STeiRex # AT GG 81cTT £, 3R 38 | HIos Higel TIeRIT 56 | HER FIRT S6aT & | 3R Tl (shal SGall | a1 3TRISE gaehed Building up of 53-54
kept ideal for long time? increases increases armature reaction magnetism e THI o §¢ IQ@T ST? RGNS AT voltage




54|Calculate the induced emf of 4 pole 160V 320V 480V 640V 4 9ISl SRIHT & YR STHATD h 07T 160V 320V 480V 640V EMF equation | 53 - 54
dynamo having 1000 rpm lap wound and &Y, 1000 rpm T aT133 3R SHgeret
total number of conductors is 600, the flux / g‘dm 600 &, Feler / Ol 0.064 wh
pole is 0.064 wb? 2

55|What is the effect on induced emf if the Induced emf Induced emf No change in induced Induced emf g F T 817 1 YT SIAT SelReX H IRT EMF ST g IRASTATH ey | IRASTATH A FIg | IR STATH YA & Building up of 53-54
main field flux get distorted in DC increases decreases emf becomes zero fapd 8 ST, ar IRa SuATE o) FT e gl KGN voltage
generator? TS ISdT &7

56|What is the cause for heavy sparking in Short circuit in field Short circuit in MNA and GNA Too much spring ~ [ST STeReX o 52T & 8T T1ehaT b1 HROT | hies ASiZar A A | R ATSIST A AqC | THTAT 3R SNTAT | 521 & &9 & og o 31eh DC generator - 53 - 54
brushes of DC generator? winding armature winding position changed tension at brush  |[FaTg? e e Ul s 15 T JAT T Types




Name of the Trade - Electrician 3 Sem - NSQF - Module 2 - DC Motor

# Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans | Level |Topic of sylabus|Week No of
the Syllabus
1|Which instrument is used to measure armature Megger Multimeter Series type Ohm meter Kelvin bridge 3R et gfaRie &t A & fore g AR Hecrde Aol YR 3NeA Hiex Hicael fool D 1 Armature 57 - 58
winding resistance? 3YSHIUT T IGJT fohT SATAT &2 voltage drop
2|Which instrument is used to test armature Tong Tester Internal Growler External Growler Digital multimeter  [2If¢ 3R 31usT Tfehe & folv TR aTsi=aT T qeTh 3R IM3eR T A3eR Bfoed AR C 1 Armature 57 - 58
winding for short and open circuit? T ITETOT T o Tolv foher 3TRIOT &7 winding
3T foRaT STTaT 82
3|What is the name of the speed control method | Field diverter method | Field tapping method [Voltage control method| ~ Armature diverter |38} Hlex 1 T 0T AT ST FATAH | Hles S/ e $res e fafer deee gaoT A | 3R s [@™ | D 1 [DC shuntmotor| 57-58
of DC motor? method g2
i
4|Which winding wire is used for DC field coil? Super enameled Single silk covered Double silk covered | PVC covered copper |21 Hieg Sigel & [T v ASf39T AR 1 [GR Soides aid & dR | 199Tel (e $has | 59l [Aedh HAs PR PVC &ds HiTX A 1 [DC shuntmotor| 57-58
copper wire copper wire copper wire winding wire 39T fHaT AT &7 FIIT TR IR EfEr arr
5|Which formula is used to calculate the speed of E ® Bt AT I T ST IVTAT el o [olT E ® A 1 Speed 57 -58
DC motor? N = b N = N - Sb-® N = Db ® (e o R e &2 N = —DB N = = N-ob®| _Ebp-®
(0} b 120 60 ¢ b 120 60
6|How many parallel paths in duplex lap winding 2 4 6 8 4 9TeT D.C HIE &I HTHR H ol oI 2 4 6 8 A 1 Armature 57 - 58
in the armature of 4 pole D.C Motor? arEfEer 7 fohde TATATR g7 winding
7|which rule determines the direction of rotation Right hand grip rule | Right hand palm rule |Fleming’s left hand rule| Fleming's right hand |D.C #eX & 3T#HTR & §Hs1 T 16T diel AT | GTgeTT 8121 TS [«1IH | GTiasT 8120 3T g2cll &l | T[T h ST GIT T | Tl shallead &1 | C 1 DOR change 57 - 58
of armature in D.C motor? rule e AuRa axarg? IGRr) IGpr) 1 g
8|What is the name of D.C motor? D.C shunt motor D.C series motor D.C differential D.C cumulative D.C #IeX T FIT ATH g2 D.C 2T AleX D.C Aofy #Aex D.C 37aeholel AT | D.C Tl ATk Ale| A 1 Types 57 - 58
compound motor compound motor A
o .
Ey Az
v i
9|Which rule determines the direction of currentin | Right hand grip rule | Right hand palm rule [Fleming’s left hand rule| Fleming's right hand [} & AteX & e & feem v s @ SITeAT 8T Uehs [T | STy &1 Sl Aol &bl | Folf9T & a0 gII | FollAIT halled g1 | D 1 Principle 57 - 58
D.C motor? rule IR g &7 o iGee & @gH
10|What is the formula to calculate the current D.C 2/ A TR SaRT o aTg NI C 1 [DC shuntmotor| 57-58
taken by D.C shunt motor armature? v _Eb _V—Eb _V+E, Wﬁﬂﬁaﬂﬁﬂw%? | :L Eb _V—Eb _V+E,
ly=—r la= la= I, = a 3 | = ly= I, =
R, R, R. R, a a=R R, R.
a
11|{Which rule is applied to identify the direction of Cork’s screw rule Right hand grip rule  [Fleming’s left hand rule| Fleming’s right hand [S/ET AT & WeTard T {21 ST Igdlel el Hieh TF [IH SITE=IT g1 Iehs [oA3H | TrelfieT & 9TV gTI T | FallAT hallgd g1 | C 1 DOR change 57 -58
flux in DC motor? rule & fore sl ar ferger g forar Jrar g2 1 fFae




12|Name the type of DC motor. Shunt motor Series motor Long shunt compound [Short shunt compound [ErET #eX & YR I AT ¢ | e Al oft A oI 9fC FUT3S Al | QATC A< FHUT3S A Types 57 - 58
motor motor
1o 1. .
5
Az
.
o
i
o, g
< i
13|What is the formula to calculate back EMF in a DC A H EMF 3 3T0TeAT el T A AT Back emf 57 - 58
DC motor? g?
e _ NP L L ®ZNP 60 A @ e _ 2N L= NP ®ZNP 60 A @
® T 960 A Z¢60A b= 60 A PTZNP ® T 960 A Z@BOA b= 60 A T ZNP
14|What is the name of the equipment? Megger Earth resistance tester Internal growler External growler  [39ehI0T ol =113 4T 72 R EEIGREENEED 3RS IR B ABR Testing of 59 - 60
armature
COIL INSULATED FROM COfE. g
15|What is the name of winding, if coil pitch is less Full pitch winding Half pitch winding | Long chorded winding | Short chorded winding |afe Fatser o, oel o & & &, ot 01 T gSelet 38 = gsoat & 1S3 AT eTC HI3E ATsRaT Armature 59 - 60
than pole pitch? TIETEIT AT AT FAT §? winding - Terms
16|What is the purpose of series resistor connected | Limit the currentin  [Increase the current in [Increase the voltage in | Decrease the voltage |8 @ IR Gigc ¥ H gliesel hisd & I3 E’I‘%ﬂ%ﬁ;ﬁ FE | BesI Figel HPIE | HiSel I Gohsat A BITeSaT higel 7 DC motor 57 -58
with holding coil in a D.C four point starter? holding coil holding coil holding coil in holding coil Aol yfaRreres 1 37 FATR? Hr F CELWg dlecst dgIv diecst f d starter
17|Which speed control method of D.C series Field diverter method | Field tapping method | Armature diverter | Supply voltage control ] Hes A [are Hres cier fafer ITHR AR T | 3nqfd ateet faaor Speed control 59 - 60
motor is used for electric train? method method D.C #Hrst #ie &1 oy afy forr=ror fafer afar method
T 3UANT SolTFedh ool o [o1T fohdT ST
g2
18|Why shunt field coil is connected in series with Increase the holding | Decrease the holding | Protect the shunt field | Protect the motor in |21 tﬁﬁ PS5l T D.C o4 q‘lsERTéT A gifegdr IS PIC gifesa IS FRC C Hles ﬁﬁa‘{t’ ¥ | ac hres lgTsT gl T DC motor 57 - 58
holding coil in D.C three point starter? coil current coil current from over current | case of open in shunt |@feS3T Higel & AT @ 7 F4T ST CEL B3ray CoIy ey F AT &1 starter
field SIGH g™
g2
19|Why the direction of rotation is changed only by | Maintain rated speed Maintain motor Avoid armature Prevent motor from  [D.C TATAT HIex # =R &R &= & WS AMATACIY | HIeR [GATAN AT | IR TTIThaT To77a | FIeI 1 TG efeer DC compound | 57 -58
changing the armature current direction in a D.C characteristics reaction effect over loading FEoToRT el 0TS & T2 &t ager & AT TG aTd T h motor
compound motor? ST g7
20|Which speed control methods offers below Field control method |Voltage control method| ~ Armature control ~ |Ward Leonard system (I {7€ #ie & WA 3Tl H &A1 ahleT T & fag=or oy ool @01 (Y | MR Ao Rty | oifa Ao frars Speed control 59 - 60
normal speed in DC shunt motor? method of speed control  |arfet ferdr=roT faferAT YTt el =TS goTelr method
&2
21|Why starters are required to start D.C motors in Regulate the field | Reduce the armature | Control the armature | Smooth operation of [3eZ11 & D.C HIH I YT A & T &1 dleest I 3R Y 1 e Y| T TTATHATHT | HIERT T FaTE Alelad DC motor 57 - 58
industries? voltage current reaction motors TR T 3TaRTh §2 afagf@a sy [GRIEGETY starter - types
22|Which insulating material belongs to class ‘B’ Cotton Bamboo Fiber glass Leatheroid paper  [alsT € FiTereh ATl AT & & Fereeh FIrE T LOECTECIE] THS HT HIETS Windings 59 - 60
insulation? $rg? materials




23|What is the temperature value of class ‘F’ 90°C 105°C 120°C 155°C ofy P ngﬁ?m T ATIHTA HTeT FIT &2 90°C 105°C 120°C 155°C Windings 59 - 60
insulation? materials
24|Which type of D.C motor is used for constant DC series motor DC shunt motor Differential long shunt |Differential short shunt |f@%d¥ 31T 3189 & forw v R $r D.C BT Al Al BT el Al TSHRIRIFS ot elc | TSR Qe 2ie DC shunt motor| 57 - 58
speed drives? compound motor compound motor  |FeX ST YN fHAT ST &2 FHUI38 Al FHUT38 Al
25|Which type of DC motor is used in elevators? DC series motor DC shunt motor DC differential DC cumulative ToIFe 7 Tohd YRR T SIAT AT T 3937 BT Aol Al BT 2e Al AN BHIRTA | S T DT Hel DC compound | 59 - 60
compound motor compound motor | fRAT ST £7? IifAe Aex motor
26|Which method of speed control gives below the | Field diverter method | Tapped field method |Voltage control method| Armature diverter  [31fa T3==10T ST et AT AYepT 31T Aol Hes A A ¢z 817 Tafy deest g [JAfr | 3meR srad [/t Speed control 59 - 60
rated speed in DC series motor? method A # s 7fa & Ay arfay &ar &2 method
27|What is the effect, if a four point starter Motor stopped Runs at slow speed Runs at very high Runs at reverse [T 98174 §, 319K Tolel & SNl N g A TG oneet | A AT A TAAT & | g aciol I & doldl | 3oc G20 H doldl & DC motor 57 -58
resistance is cutoff during running? speed direction T 9Tae e 3e &2 g staters
28|Why carbon composition brush requires in the [ Increases the starting Protects from Protects armature | Reduces the spark in [D.C HICY &l HeTTeld el o TelT 3THT IR ST T JHR TfART @ | A ARTT & IR | FFYER TS H T Armature 57 -58
armature circuit to operate the D.C motor? torque armature reaction from over loading the commutator  |&TehE & SIdaT TSI ST T AT Jerarg ERIGIE HT T AT FHAISATE voltage drop
segment 7 gl
g2
29|Why series motor produce high torque and Absence of back emf | Load current flows | Armature current and | Series field winding  [TRIST #1ex T9aT 87K & R 320 S STATE Y Hrosasizars | RR Fe R Wes | #A dr & &y Aol DC series motor| 57 - 58
speed initially without load? through field winding | field current are same | wound with thick wire |sreTerot 3k a1 2t der ey squreafa ATETH H olls T I TAAGIT & &8 aERET ar
&2 EELCIE
30|Why the series field is short circuited at the time | To reduce the starting | To increase the speed |  To decrease the To maintain proper  [[SHRTRIIS HUT38 HIEX H Y& Flel o HHY | TRIIh TRTHI A | HICI I AT q611 | HICI b1 I I HA | AAeT T 3T ferem DC compound | 57 -58
of starting in differential compound motor? current of motor speed of motor direction of rotation Aot &1 &I T IRIT T fahar ST 872 FeT & faw Ciy FT & faT AT @A & forw motor
31|Which is the most effective method of balancing Static balancing Dynamic balancing | Attached with counter | Plugged with lead  [3T#=R st Hford &t 1 T TaTat e dge aTfrelier Hg el F3T Aol o6 A1 | AT R T oA F Balancing of 59 - 60
armature? balancing weight balancing  |a%Ier i @T §2 Heldal [Ty et R arar armature
32|Which material is used for starting resistance of Eureka Nichrome Manganin Constantine ST TETCH & YT T E & o folT JIH ATSShIA HeaTfalet FIECCIS DC motor 57 - 58
DC starters? ore AT ST 3UIeT foRaT STTar starter
g7
33|Which DC compound motor is operated at Differential long shunt | Cumulative long shunt | Differential short shunt [Cumulative short shunt |/ 1Tt FuT33s HeX FY 3TeE1-3769T 15 iR e 2 T o 2T Ta9iea oy ere el org A DC compound | 57 -58
constant speed under varying load? R Faa a1fa & genfea fFar &1 Genar 872 motor
34|How No volt coil is connected in a three point Directly connected to | Connected in series | Connected in parallel | Connected in series [SIET 27C HIE & Y el UISC T A A1 | TN AT & 31 311 | 3R & AT H@ell 3R & | e hies & &y Aol DC motor 57 - 58
starter with DC shunt motor? supply with armature with armature with shunt field  |dtec Figer Ha J3TET &7 HSTg 3Me HHTATR 7 37 318 A J3Tg 3TE starter




35|Which type of armature winding is illustrated? Duplex lap winding Triplex lap winding | Simplex lap winding Quadruplex lap  [foFa YR Y IR aEfBar s RAvT fopam | seoed duasfzer | Rucea aq asfser | Ricaed v agfser | Fargcead o9 agfsa Armature 59 - 60
winding T E? winding - Terms
Open coil test Grounded coil test Shorted coil test Shorted commutator [3T#TR & foIT el AT FM3eR TIGTOT T | Goll Fooll TUETIT | AT &l aR UUET0T | T Fool UNAT0T | o Iidd hegecy Testing of 59 - 60
test g7 qreTor armature

37|Which speed control method is applied to obtain | Field control method Armature control Tapped field speed | Ward Leonard speed |3/ #lex & AIAT & 3R 3R &A1 gt &1 fag=or g 3R fa2or fafer | 2o hes aifd f@zor | ars foians afa Speed control 59 - 60
both below normal and above normal speed in method control control AT T ITeed et o forw fona arfer IGEEL method
DC motor? forer=oT fafer &t ey forar arar 72

38|Why commutators are sparking heavily? Incorrect brush Incorrect field Incorrect direction of | Incorrect armature  [FFIER FAT ool THE 3ol X &l 62 A FT Ield ATT | ITeld Dies Foidlsd | GUI 3 ITeld [G2M | ITeld ITHTR dhetarlel Sparking - 57 - 58

position connection rotation connection commutator

39|What is the action of the induced emf in a Assists the applied | Opposes the applied Increases the Decreases the T T D.C AKX H IR STATE I [ohdT |l dlecot ol TETIdT | 9] alecal I [AUY | HTFAR T ol 9eldl §| ATHAR I &l gerdr Back emf 57 - 58
running D.C motor? voltage voltage armature current armature current [T &2 FIATE FIATE 3

40[Which motor has this characteristics curve? Series motor Shunt motor Cumulative compound | Differential compound |fa #eX & Ig fJAvdr g2 Aol Al e A T AP Ay | s A A DC compound 57 - 58

motor motor motor
i

41|What is the purpose of resistor connected with Limit currentin NVC | Protect the coil from [Protect the motor from | Protect the armature |4 T5ig T 7 glteseT Hisel d I3 T 3 URT AT | ATC Tlehe A Isel 1 | HIeI I Nalells T | ATE Fiehe A 3R DC motor 57 - 58
holding coil in 4 point starter? short circuit overload from short circuit  |JfATErH T 38T AT §? gaaw CEL 1 gIiaa @ starter

42|Why the D.C series motor field winding is wound | To regulate field To carry the load To keep maximum To reduce the D.C 4Tell HIeY T hies drgisa AT dr $Ies dlecsl l NS I BT of STl | ITTARAH IROT @A & | AR FTATshaT i DC series motor| 57 - 58
with thick wire? voltage current inductance armature reaction |3 TTY a138 &7 &2 CIERIGEESGE AT T fow FH P & fow

43|Which type of speed control of D.C series Field parallel method | Field diverter method | Field tapping method | Armature diverter  |D.C #@elT Al &1 1T fAIF0T [ e ThR 819 AR 13T Fres sack [t $res efer fafer 3R sra At Speed control 59 - 60
motor? method Frg? method

DG SUPPLY




44|wWhich type of D.C motor is suitable for shearing Shunt motor Series motor Cumulative compound | Differential compound [&cRet #efi=t & forT &leT T YR &t D.C 9Ic AlY Foft A TR A Alex | Rdtes A AR DC compound | 57 -58
machines? motor motor A 3ugFA8? motor
45|Where D.C compound motors are preferred? Constant load Constant speed High starting torque | Constant speed under |[&gl D.C TR FAIeT I UrATHHRAT &F ST FRITAR 1S [EECEICED] EEERECECIE 3TTIT-37el7T &5 DC compound 57 - 58
requirements requirements requirements varying load g2 RICESCSIY EICESEGIIY RICESCSIY 3TARIHRATT & motor
requirements 3gER e afa
46|What is the necessity of starter for D.C motor? | Limit the field current | Limit the field voltage | Control the motor Limit the armature  |D.C #1eX o foIT TICX 1 &741 3MaRTehcll | Hies URTH WA [Hies dleest o AT | HI P I | IR FRe l WA DC motor 57 - 58
speed current g7 Eay Eary IGRIEGET Cary starter
47|Which type of instrument is used to test the Megger Growler Multimeter Ohmmeter TR ATSTET T TAETUT A S ToIT v IR PIEETY AcCHAET 3EAAY Testing 59 - 60
armature winding? TR & 3YHIUT T TN FohdT STdT §2
48|Why the holding coil of a 3 point starter is To limit the load To run motor atlow | To hold the handle | To protect the motor |3 HTST TETEX & EIToSIT Higel I AC Wles | @IS e I AT | A dlocol W AT ToloR Y &Teh T 3T T I A DC motor 57 -58
connected in series with shunt field? current voltage plunger firmly from high speed (& TTY @I H FAT ST AT 572 T & faw EEICEACIY qehs & faw 8T & forw starter
49|What is the best method to change the DOR of Change armature Change shunt field Change series field | Change the current in |Teh&T JaTeh HIeX T TSI o Terell 3R URT feM el | o€ hies URTfeem | o7 thies aRT feem | 3R 3 e hies DC compound | 57 -58
a compound motor without change of its current direction current direction current direction armature and shunt  |§el, DOR Sl o folw ey 31T fafey el CLEc H I T T @Y motor
characteristics? field together FATE? geof
50|What is the purpose of NVC connected in series | To improve the torque |  Reduce the field To decrease the back |To prevent increase in |3 g ¥eIcX 3 817 & & 4@en # 3 JAGOI R GURAF | Dles L FHA I | 5o EMF &l & el |11 A J1g 1 Uohed DC motor 57 -58
with the field in 3 point starter? current emf speed TAARIT T 352 FAT 872 o & fow CIY starter
51|Which type of DC motor is used for sudden Shunt motor Series motor Differential compound |Cumulative compound [HRY #R & 3dTde AR #el & oI [hd eIC AlY ol AR e Aiereh Alch | aodl Al Al DC compound | 57 -58
application of heavy loads? motor motor TR FT ST AleX 1 IUIT Fhar ST &2 motor
52|Which speed control method is used in food Voltage control method| Field diverter control Armature diverter Series field tapping  [@re 0T Alcd & fond 91T =0T [afe | diee ga01 A | ties sk @aaur | 3R sacx AfY | s@er &1 e [ Speed control 59 - 60
mixture motors? method method method T 3TANT HaT ST &2 afr method
53|Which speed control system provides a smooth Field control Armature control Field diverter control |Ward-Leonard system (alsT &Y 31Tl fAT90T JoTTelt 2= & AT BESCEER 3R AT o8 SAC 0T | ars-forgiers fwes Speed control 59 - 60
variation of speed from zero to above normal? control I 31 g 91T T T T el IGRELS method
TETeT T &2
54|What is the purpose of tapes in winding? Insulate slots Bind the coils Wrap the conductor Insulate exposed  [aTS{3eT & S &1 332 FAT §? FAlCH &l 3ol A FIScT P aTe FEFCI IC ol T Y Armature 59 - 60
conductors B ST winding - Terms
55|Which type of DC armature winding the front Lap winding Wave winding Progressive winding | Retrogressive winding |F& JeR 1 31t 3mer she R (v,) S EEEISED 39 arsf3ar Maa agfEa R asfEar Armature 59 - 60
pitch (Yg) is greater than back pitch (Yg)? fr o (v,) O 3w g2 winding - Terms
56|What reduces the cross sectional area of core Dynamo sheet Low alloy sheet High alloy sheet Normal steel sheet [dIT IfEeT & ToIT IR TTHAT & HIE AT SITAT e FH (74 UTg T T | 3o AT UG A de | AT Tl e Transformer 45 - 47
material for VA rating? &Y T AT e T 87 winding




57|How to obtain opposite polarity in adjacent poles | Varying the number of Making series Making parallel Making current flow in |4 ¢ SIElt HIe & 3w ¢l T Il A GATH HY FIgeH hl AU FIgel & FHGAR R FATg T el DC shunt motor| 57 - 58
of a 4 pole DC motor? turns in coil connection of coils connection of coils different direction  |¢adT & yred HY{? TEIT T TGolaTT HATSTT ST TSI STl &= & ST
58|What is the operation in the rewinding process? Cleaning of slots Removing of winding | Removing of wedges | Cutting of winding wire [RaTsfZer ufehar & Ig foham F/ar &2 QT T TETS QSS9 felepreletl gotof I geTell qISTSIT dR FIceT Preparation of 59 - 60
armature
59|Which insulating material used in winding is a Empire cloth Triplex paper Millinex paper Leatheroid paper  [aTS3eT & 3T AT SATeT aTell il TT TFITRR FYaT feaeed T Afossg T THS HT HETS Winding 59 - 60
highly non -hygroscopic and possess good Tt T 3R IR- materials
electrical strength? mﬁ?ﬁ?ﬁ o ArEe arel) g 3R
3r<ed faegd uferd Tad §2
60[Which type of armature winding is illustrated? Triplex wave winding | Duplex wave winding Progressive lap Retrogressive lap  |fr8 JR &7 3R aTsiseT &l [A0T fohdT | fUclerd dq arsfsdl | sgJeldd g arsfser | WeIiaelial ofF asfser | Reaaa ofd asfser Armature 59 - 60
winding winding IATE? winding - Terms
!
61|Calculate the average pitch (Y,) for 4 6 8 14 Reraf@a ag asfEer & fow 3iaa R (Y,) 4 6 8 14 Armature 59 - 60
retrogressive wave winding, if No. of armature T ITOTAT B, I, IR e winding - Terms
conductor = 14 HEAT=14, Tolle H TEA=7, gai
No. of slots =7 Tq&g1=2
No. of poles = 2
62|Which type of test is illustrated for the armature Open coil test Shorted coil test Voltage drop test Grounded coil test  [JITQ8IT & ¢ 3TTHTT & [T [hd TR T Gl FSoll U810 | STgUTAd g5l IO&T0T | alecal 319 YU&T0T | T3S hisel TIEToT Testing of 59 - 60
after rewound? qdreTor RN fRar T g2 armature
§
63|Why the newly rewound armature must be Drive out the moisture | Help for quick drying Make easy to Maintain uniform — [aTfeiTRi9T & g el AT Ja138 AR HIIRA | SHA A T 6T | AlMeil oh caRel @A | 3HeT arferel G&HAl aTTaATRIaT & FHTT Balancing of 59 - 60
preheated before varnishing? from it of varnish penetrate varnish  |spreading of varnishing|&at fasar ST anfge? Geoc & foIv #eg 37T SeITT ORI §T0 3G armature
inside
64|How the direction of rotation of a DC compound By changing the By interchanging the By changing the By changing the [Tl ShUT38 Hex & E[UTeA ohT &R0 ) Sgoll | MFTeR GRT a1 &M | 3Mfcl cfotetell bl | & X TR Al | ST &1 ahT &RT hr DC compound | 57 -58
motor is changed? direction of armature supply terminals direction of both field |direction of series field |SITcT &7 ECISETS 3T H b r fe=Ir Igeret [ERUECCETS motor
current and armature current current
65|What is the effect in a D.C shunt motor, if its Runs in slow speed | Runs in high speed Runs in the same Runs in the reverse |31 &Y *ic AeX A 3T Y37Td I3 &, IS, NATMITTINE | AT FIR T TAdT & | T &) 0T H TAdT & | 300 [0l & Toicll & DC shunt motor| 57 - 58

supply terminals are interchanged?

direction

direction

ggeh! 3Tt efifeTell Y 3maw & e feam
1T 87




66|What is the speed, if field winding of a DC shunt Stop running Motor runs normally | Runs at slow speed Runs in very high  [Ifg SYET 9T HIe &I hres argfzar 3ideT TAA TG B AN | AR AAT TA T | SN AT T aeldi & | Tgd oot It & el DC shunt motor| 57 - 58
motor is in open circuit? speed affcF e, arafaFarg? Todr & g
67|What is the reason for reduction in speed of a Shunt field current Shunt field current | Armature voltage drop |Armature voltage drop [2[= IR & QU1 TR & 31 & 2/ Ae & I HIes FC TodT & | AT hies IC TedT § | AR dloesl 319 96 | AT alecsT 2T Hal DC shunt motor | 57 - 58
D.C shunt motor from no load to full load? increases decreases increases decreases T o Blat T FAT HROT &7 RIGIE RESIGIE
A
B:W\‘,\
f |
I
I
I
I
I
:
68|Which winding fault is determined by the test? Open coil fault Short coil fault Grounded coil fault | Grounded core fault |isT AT ATSTSIT &1Y 3H IVETOT GaRT AT ol g8l 31T EECIDCEECCE] AT333 FISA BieT U133 IR Blec Testing of 59 - 60
TR ST &7 armature

Lo




Name of the Trade - Electrician 3™ Sem - NSQF - Module 3 - AC. Three Phase Motor

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of
sylabus the Syllabus
1|What is the formula to calculate the slip Ne N 3 Tl TEFAXl dhol YIRUT AT T [&eld ITTer N N A 1 Construction 61-62
' i - _ N — s —Nr Ng -N ' ZN. - =N - s ~Nr Ns -N

fspeed‘(NS,,p) of 3 phase squirrel cage NSIip =Ng - Ny Ngjip =N, ~Nq Ngji = NG - s —Nr (Ngjp) Y ITOTEAT et ST A T &2 Ngjip =Ns Ny NSIlp N, N, sio = oo - s —Nr

induction motor? p Ny ip Ng p Ny Ng
2|What is the type of control circuit? Inching control ON remote control OFF remote control Forward & reverse  |/@190T Afehe ol YRR &7 &2 gfeger faaor RaAk Fga | A Fge 9 3T AR Rad A 1 Control circuit 61-62

control IGREW of starter
oo o
3

3|Which formula is used to calculate the Total electrical degree = | Total electrical degree = | Total electrical degree = | Total electrical degree = |A.C ﬂﬁaaﬂ—‘éﬂ?ﬁr@ % GIERIED Total electrical Total electrical Total electrical Total electrical D 1 Winding - 65

total electrical degree in stator of an A.C 180° / No. of slots 180° x No. of slots 180° / No. of poles 180° x No. of poles  [3T0THAT et o folw fordr FA I 39T RAT | degree = 180°/ No. | degree =180°x | degree =180°/ | degree = 180° x Terms

motor? ST 87 of slots No. of slots No. of poles No. of poles
4|What is the name of the A.C motor DOL starter Auto transformer starter | Semi automatic star Fully automatic star  |A.C I T T T8 FIT g2 DOL X 3TeT SRR TICX | 378 Taaifeld ¥eR | U1 Fadifold &€k | B 1 Auto 61-62

starter? delta starter delta starter 3ocT T el T transformer

starter
-
i

5/What is the formula to find synchronous T HY 3 el W07 AT T Jegehiiolen I A 1 Sychronous 61-62

speed of a A.C 3 phase induction motor? 120F 120P 120 PF HTHEIT{?TEHQ{ETEFJT g7 120F 120P 120 PF speed - slip

Synchronous speed = ? Synchronous speed = T Synchronous speed = —— Synchronous speed = E Synchronous speed = T Synchronous speed = T Synchronous speed=—— Synchronous speed = ﬁ
PF

6|What is the fuse rate to run a 10 HP three 10A 15A 25A 30A U] 13 IR 10 TG cfieT Shell SROT AT 10A 15A 25A 30A C 1 Insulation test 61 - 62

phase induction motor at full load? Tl & T T T eX FaT §?
7|What is the name of the contact marked Star contact Delta contact Auxiliary contact Over load relay contact |[Tdeh & 116 FT ¢ ol X' & & H T TR T9% 3ocT TIH TETS TUF | MR s Rer@usw | C 1 DOL starter 61-62

as 'X'? I

82
L £

8|What is the type of A.C motor stator Single layer basket Double layer basket Involute coil winding Diamond coil winding [A.C ATeX T¢eX aTS3eT T YR FAT &2 THTeT oIRT SRhe S9Cl SRR TTEhe | ST Foof atsiseT | ERTgs arsfsar | A 1 3 phase 65

winding? winding winding arsfaar arsfaar winding -

single layer
i

9|Which formula is used to calculate THT 3 Fell SFAA AT T FTeTd TTelT A 1 Slip 61 - 62

percentage slip of an AC 3 phase Ng —Ny Ny —N Ns Ny Nr —N T IUTAT Tl o TolT fohd A T ST Ns-Nr 100 Nr=Ns 100 Ns-Nr 100 Nr-Ns 100

induction motor? s x 100 —T—S x100 N x 100 — S x100 T ST 82 Ns s r r

S

r




10|Which operation the control circuit is Remote control Inching Sequential control Forward and reverse [f@a=or @fthe fovg Tamelat & 3UteT fohaT RAE giel glegar 3T HIH AIT0T 3T IR DS DOL starter 61-62
used? STarg?
! 1 STOP
11{What is the phase displacement between 90° 120° 180° 360° 3 Tell AR H ATSTSIT o T hell [ATATTT 90 ° 120 ° 180 ° 360 ° Stater winding | 61 - 62
windings in 3 phase motor? FATE?
12|What is the name of the part marked as Shaft Brushes Bearings Slip rings X' RTEAT #1191 T =713 FAT 82 AqMFT ERl} akea Terq Rt Sliping 61- 62
o induction motor
g
13|What is the name of AC coil winding? Half coil winding Whole coil winding Single layer winding Double layer winding [AC &igeT araf3aT &1 &7 ATH §2 EB E=cEISED PR IE AS3dT | TS IR 15397 | Gl R argisel Winding - 65
Terms
14|What is the name of the coil winding? Concentric coil winding | Distributed coil winding Mesh shaped coil Diamond mesh shaped |SelT aTs3aT &1 1A &1 22 Ffe Pigel AT | [AART Foor TS [Sier IR F Fsor | R B el & Winding - 65
winding coil winding 3R T Pt Fundamentals
arsfgar terms
i
15|Which speed is called as synchronous No load speed Full load speed Rotating magnetic field | Relative speed between |3 &ell 90T Al H fohd 1Tl &l [ AR AT Gl oIS T3 a1 877 i 9T | T IR A & Slipping 61-62
speed in 3 phase induction motor? speed stator and rotor Jogehioren Tt &gl ST 87 FYATAGT e |rveT T induction motor
16|What is the name of the starter symbol? D.O.L starter Auto transformer starter | Automatic star/delta Semi automatic TETCX Tciieh Sl 1T FAT 82 D.O.L T&X 37TeY TIHER el | Tdaifad Ter /| 378 Tgaifad TR Auto 61 -62
starter star/delta starter Erzagzarey | 3oeT TR transformer
starter
L O
17|Name the part marked as ‘X’ of the Mandrel Wire feed Wire guides Spool carrier qTET3eT 72 o $719T X' BT AT hY? TG T 4T dR I TRT GICKIES] I GEEd Small 45 - 47
winding machine? transformer

winding




18(What is the electrical degree of 6 pole 360° 720° 1080° 1440° 6 9ieT TeeX Al I ﬁajga St B2 360 ° 720 ° 1080 ° 1440 ° Speed and 61 - 62
stator of motor? frequency
19|Calculate the number of coils per phase 1 2 3 4 2 ¢4d, 24 T, 12 FSell dTel 3 FHell H & 1 2 3 4 Winding 65
per pair of poles of 3 phase motor having g?»ﬁ 1 s gfd thet gfdY el T SitsT fundamental
2 pole, 24 slots,12 coils? IOTAT Y2 terms
20|What is the name of the starter symbol? Star delta starter Rheostatic starter Direct on-line starter Autotransformer starter |TeTEI Iciieh T T8 F3T &2 TR Seel T T eeh T UcTET 31T ollSsT | HTCICIHhIFR TR Star delta 61 - 62
starter
21|What is the formula to calculate pitch T R T I0TAT et &l A FIAT 572 Winding - 65
factor? Pole pitch Winding pitch : Number of slots : _ Number of Poles ) Pole pitch Winding pitch}_. Number of slots _ Number of Poles terms
. . PitchF. - - T PitchFactor = —————— Pitch Factor = —————— 9 _ PitchF: -~ """ | PitchFactor=—————
Pitch Factor = Winding pitch Pitch Factor = Pole pitch fehFactor Number of poles Number of Slots tehFactr Winding pitch Pich Factor Pole pitch tehFactor Number of poles Number of Slots
22|How pole pitch is measured in terms of Yot ATSTIT ol THY ATST3IT 7 Tellc & TGaT Winding - 65
slots in AC winding? Total electrical degree Number of slots No. of slots in the stator No. of poles F HY AT ST &2 Total electrical degree Number of slots No. of slots in the stator No. of poles terms
Number of slots Total electrical degree No. of poles No. of slots in the stator Number of slots Total electrical degree No. of poles No. of slots in the stator
23|What is the formula to calculate the mean Higel 1 e TRTE T ITAT e T FA Winding - 65
X ! ) )
circumference of the coil? | _Lout -Lip o ) Lin +Lout o Ly = om L = ———am FATE? ) =|_0ut Ly o ) Lin +Lout o Ly 2 om Ly - 2 em terms
m~ 2 m 2 out Lin N “out m 2 m- 2 out ™ Lin I‘in + Lout
24|What is the synchronous speed of a A.C 3 800 rpm 1000 rpm 1200 rpm 1440 rpm 50 g¢of ol 37Tgicd TR 6 9 arel A.C 3 800 rpm 1000 rpm 1200 rpm 1440 rpm Induction 61-62
phase induction motor having 6 poles at el SO AT T I Iy FATE? motors
a frequency of 50 Hertz?
25|Calculate the percentage slip in a 3 phase 2% 3% 4% 5% 3 el 3SR H1eX H FlcAere [erd 2% 3% 4% 5% Induction 61-62
induction motor having 6 poles with a ot Y, FSIE 50 &t 1 3MTafeat & ary motors
frequency of 50 Hertz rotating with actual 6 ¢ B €, Sif 960 3TRUITH T arectideh
speed of 960 rpm? T & AT FAT?
26|What is the rotor frequency of a 3 phase Equal to supply 3 times less than supply 3 times more than V3times lessthan |3 al &l EFael shol URUT AT HI ASX | 3T T AGfed & | YA 3Mgfed ¥ 3 | 3 3mgfead & 3 | 3mqfd & 3mgfea Induction 61-62
squirrel cage induction motor at the time frequency frequency supply frequency supply frequency  |3mgfea FaT 82 CAERS TAHAE AT IR AFS VI TATHFA & motors
of starting?
27|How the voltage is received in the rotor of | Direct connection from Due to back emf Direct connection to By the transformer  [33RIeT ATeX & U A AlecsT hdl UTed R AWM HATY | T A ScTlied oo | AT AT A1 | T 3R A &1 Construction 61-62
induction motor? stator produced in stator rotor from supply action of stator and rotor |gaT &2 SUHATE F HROT drerm geey mmaﬁm
28|Which method is applied to control the Cascade operation  |Changing applied voltage| ~ Changing applied Changing the number of {379} JeX J&T & 3 Fell [EeFaTel shof 9XOT FEHs GATe | AT dlecol dadl | RO Agfcd 7 | @7 & g Speed control 63 - 64
speed of 3 phase squirrel cage induction frequency poles AR &1 a1fT 1 FIRHT = & v e wWE gRadeT CLCIE method
motor from its rotor side? oY JIf 3mifa framar g2
29|Which loss of 3 phase induction motor is Copper loss Friction loss Hysteresis loss Eddy current loss  |31a%g Ve TI&TOT GaRT 3 &hell YT A PIIR T FHAT YT gTiey RecRda g1l #aX ERT gifay Looses 63 - 64
determined by blocked rotor test? T HleT AT FhaTe AR T Sar &2
30|Why pre heating is necessary for motors To dry the varnish To easy flow of varnish To increase the To drive out the moisture [RaETSTSIT TfshaT A ATfATRIT & Tgel Al & | TSI A ATl T | ATSTSI A ATMeIT b | FG AU FToRTe |ATSET Ol & ey Varnishing 65
before varnishing in rewinding process? quickly in winding in the winding insulation resistance in between winding  |forw oY §ifeaT &/t 3maRTe §72 Sedrague & fov | 3y & fov | geasee e | S araw process
value layers ATt & fow




31|Which type of test is conducted using Ground test Polarity test Continuity test Short circuit test T AT A3 & AR A3eR AT 33 ¢TT T &F TR I8ToT eife ofhe exe Testing of 65
internal growler in AC motor winding? YT e g TR T geToT fRar winding
ST §7?
32|Which device is used to test stator Tong Tester Internal Growler External Growler Digital multimeter ~ [TeTex aTSf3aT e 3R 3N Brec HT TIRT IRAeTh 3RS AR TN ASoR Sface HAeclAeX Testing of 65
winding short and open fault? TIETOT et o TolU fohdT 3URIOT &1 39T winding
e e &2
33|What is the purpose of using thermal Protect from heavy load | Protect against high Allow for continuous Protect against dead  |A.C #HTex Tfehe & TS o JTeTTdT Tl AU AR AT | §15 dlecol A gard SR e | #je AlC Aishe & Maintenance - | 63 - 64
cutout in addition to fuse in A.C motor voltage over loading short circuit FTIHTIT T FUART I T 38T FAT §2 H i & 3rgAfA S Coily motors
circuit?
34|Which type of motor is used to provide Universal motor Permanent capacitor 3 Phase slip ring 3 Phase single squirrel |IR@fdd 31T IR 30 IRTHAS ST 01 YaTd FiAadd Al TR AaTRT Al | 3 Tl Fold RaT 3 el Tehel Characteristics| 61 - 62
high starting torque at variable speed? motor induction motor cage induction motor  |&et 3 ToIT fohd YR T Al T 3UATIT IROT Al TeeFavel shot OROT
e ST 82 AT
35|What is the relation between torque and Slip increases torque Slip increases torque Slip decreases torque | Slip decreases torque [A.C 351 HIe & TATEUIR Ford o e sgat & Tl dga1 & o gea & o gca & Slip 61-62
slip in an A.C induction motor? decreases increases increases decreases T T GEer g2 aﬂTEj'\Uﬁ'EIEHT%' EW‘ELUﬁWT% Wﬂm%‘ aﬂTE[\Uﬁ'EIEHT%
36|What is effect of A.C induction motor if Vibration of shaft Motor will not start Runs in slow speed Over heating of motor  [Jfe; el e AV IR A AC QAT T YT AT Y& At gran | et o1 A Tercr g A & e Rotor 61-62
rotor bar is in open circuit? ST AN T FAT AT 8T 872 RGESEY
37|Which type of wire is used for rewinding of | Super enamelled copper | PVC covered copper Single cotton covered | Double cotton covered [A.C 3 %ol HICIT & RATSTSIT o [olT hd YN TAHeS HIN G FR A | T FAH FAR | S HUH A Winding - 63 - 64
A.C 3 phase motors? wire winding wire copper wire copper wire YR o dR T SUAT foRaT ST &2 IR EET AR HTR AR BICEZGIES terms
38|Which material is used as wedges in Empire Cotton Bamboo Terylene QISTSIT UThaT A doiol o T A [hd AT TFIRR i Eic el Winding - 63 - 64
winding process? T 39T foRar SITar &2 terms
39|Which test in winding is essential before Ground test Polarity test Open circuit test Short circuit test QT &1 T UG ATSIST A ahied AT ITETT 38 TTT qaRel & 39T Afhe T | QATC TTohe e&T winding - 63 - 64
giving supply? 3TTTH §? terms
40[Why the rotor bars are mounted in a Generate maximum flux | Reduce the stray losses | Maintain the rotor speed | Produce more uniform [3eX =Telehl T 3 &ell HeX A TS felkoT It ol e e FAR | A a1 A R | 3178 Faref A Squirrel cage 61-62
slightly skewed position in 3 phase motor? constant rotor field and torque  |TEufa # &t T@T JATAT £2 3o AT I &1 31 Fere et rotor
3cUTE H
41[Which loss is determined by no load test Iron loss Copper loss Friction loss Windage loss 3 el S5FLUA HAeX & Al oIS ST T il i g1l am# g1l YT gTfeY arg gt Maintenance - 63-64
of 3 phase induction motor? oy gIfey TR gy 72 motors
42|which method of speed control two By rotor rheostat control | By changing applied | By changing the applied |By changing the number |3 Sell HIex # 1T &I THATIT A T el | WeX RIEEE @I | IR 3mafe | RIS dleesT HI | T gl hr aedn Speed control 63 - 64
variable speeds only obtained in 3 phase frequency voltage of stator poles o7 fafy 7 et ar @) w1fay e g &7 garT CLEETS EEEERY FI TR method
motor?
43[Why slip ring induction motor is fitted with To reduce the slip To control the speed To reduce the losses | To get high starting and [F&eTa RaT §5e1eT Al T AT38 UeX T FAT AT FH BT | 31T ol TTATAT el | BTTeT bl vl el o | 30 Teliedl AR Sliping 61-62
wound rotor? running torque e forar STaT 87 & fow IGIY induction motor

fofar oot
fo




44|What is the function of timer in automatic Trip at over load Switch ON at pre set time[Change from star to delta| Switch OFF at pre set [F@aTiold TER Soel TR H T HI H1Y | MR ois Wed | qd Vel T#7 R | FeR & 3oel & deed | I iR T Auto 61 -62
star delta starter? time FATE? BICET TR aw 311w A transformer
starter
45|Which instrument is used to measure Megger Multimeter Shunt type ohmmeter | Series type ohmmeter |3 &l SOT AT & g I2lel T AR HAcclAe 2T TI8Y JEHHI Foft g Insulation test | 61 - 62
insulation resistance of a 3 phase HI9T & TIT T 39T &1 39ATeT fhar MEAAT
induction motor? ST §?
46|Which test in winding is illustrated? Polarity test Ground test Continuity test Short circuit test QISTSIT A HieT AT INETOT T 82 adT SFT I35 FC =T araTor eITe Afhe ST Testing of 65
winding
47|What is the starting current of an A.C 3 1to 2 times of full load | 2 to 3 times of full load | 4 to 5 times of full load | 5 to 6 times of full load [A.C 3 %ol 33T HICX I TR TH® FHIC 1 to 2 times of full 2 to 3 times of full |4 to 5 times of full |5 to 6 times of full Induction 61 -62
phase induction motor? current current current current FATE? load current load current load current load current motors
48|Which method is used to control the By cascade operation | By rotor rheostat control | By injecting emf in rotor | By changing the applied |€¢2X HIgs & 3 Fell SSIT HICT I AT | FHEhs HIURLeA eaRT Ve N3 FA01 | - AeT Aiche A IRIA 3gfcd Induction 63 - 64
speed of 3 phase induction motor from circuit frequency 1 T = & fov fra it ar anT STHTS ST Flh CErend motors
stator side? 39T T AT 87
49|What is the speed control method of 3 Cascade operation Rotor rheostat control Changing applied Injecting emf in rotor |3 &eT YROT HX o I1Tel TAGA0T [T AT | Shehs Felloled [aT8 (e RINEEE 70T | AR dlecst | e Aiehe e & Speed control 63 - 64
phase induction motor? method method voltage method circuit method g7 afer el fafer SUHTH ol method
g
50|What are the two functional circuits Open circuit and short | Closed circuit and open | Short circuit and closed [Control circuit and power |dieT &ell HIeX FTeX & AT QATH &1 39T Afhe 3R Qe | Felior @fthe 3R e afhe 3R | F=or afde 3k Startor 61-62
incorporated with a three phase motor circuit circuit circuit circuit FrAcH Afhe FAT8? afée 39T afdhe Feltor Afhe qra] afehe
starter?
51|Which is the main property of leatheroid Non moisturized material | Highly non-hygroscopic Very good for class F Better ageing and F}E'ﬂsg i rd L GLGED HTI U FTaT R HASERTSoS T, s IR- Soft TR ﬂﬁ?lﬂ a'e'-?r{ ufoieT 3R Winding - 63 - 64
paper insulation? insulation dielectric strength  [§? TEaEREs  |FAragaicors| wWdegdued terms
52|Which type of insulating material is Cotton sleeves Empire sleeves Terylene thread Fibre glass tape ? 3R 3SR §97 s o T o JehR N Felleq TFIRR TollcH eIelleT 4TaT PSSR I T Winding - 63 - 64
selected for binding the coils and over sgafeeramal & aae fhar SITdT 82 terms
hangs?
53|Which insulation is used for cuffing in AC Fibre glass tape Leatheroid paper Empire fiber glass tape | Fabric based adhesive |8 aTgfse 3 Hithdl & [T [ s HIZER I T THS & AT TFIRIR BISeR FI3 T IR Winding - 63-64
winding? tape T 3T TR STar &2 TATH T Tgehal aTell &9 terms
54|What refers coil in AC winding? Number of turns Number of turns Number of turns under | Number of turns under |TEY aTSTST & FISeT I FAT Fad 872 Wﬁrg% HATE! T Wﬁg? a‘rmagaﬁ: a’rmga’ras Winding - 63 - 64
connected in series connected in parallel two similar poles two dissimilar poles pareul) YHTAT T qE&dqT Jcie gATar A | AN gATE Y terms
qear qear




55|Which type of AC winding the number of Involute coil winding Diamond coil winding Flat loop over lapped Flat loop non-over  [f&hd YR & T aTsfaT A fafde=t ot 3R g Asfse | @1 8l arsisdl AT AN W | Fele o aAleT-37aT Winding - 63 - 64
coil/pole/phase is more than one at winding lapped winding 9T Sl / GTeT / el 31 H&AT Tk F 3110 Fole T oicg arsfEar terms
different pitches? 2
56|Calculate the number of coils /phase/ pole 3 coils /phase/ pole 6 coils / phase/pole 9 coils / phase/pole 12 coils/ phase/ pole |36 TllcH, 36 HIsed 3R 4 tﬂa?ﬂﬁxﬁa 3 coils /phase/ pole | 6 coils / phase/pole 9 coils / 12 coils/ phase/ Winding - 63 - 64
for a 3 phase double layer distributed & TOIT 3 el seel Wl faaR argfeer & phase/pole pole terms
winding for a motor having 36 slots, 36 TOIT ahigel T HEAT / SHell / Grel T IO
coils and 4 poles. H?
57|What is the type of rewinding process? Hand winding Skein winding Former winding Machine winding Raref3T ufehar T YR FT &7 BERGEECT ThIEsT arsfaer HIAR dTST3IT AN arsfEar 3 phase 65
winding -
single layer
58|Which type of starter is used to start and Direct on-line starter Rotor rheostat starter | Auto transformer starter | Manual star-delta starter |3 thol [€eTd T 35l Al I YT et Tch8T Aol ol | U RAECE TWIK | AT BN | A3l TeR-3ecl Sliping 61-62
run the 3 phase slip ring induction motor? WW%WWW%H‘%TH TR TR TR induction motor
ST T SITaT 872
59|What is the function of collar? Provides insulation Provides insulation for [Helps tightening material | Provides insulation for [&TclR 3T I T &2 819 & IRI 3R gl AT folT |l gUiFeIR & | 5ol @ A Winding of 59 - 60
around field coil tapping for flange heat transfer from coil GG AT YeleT Il & | SrgoleleT VTl el | fov amafr sl | eureaioRor & fore field coils
A H Heg Bl | GG oIIeT Tl
g FATE
i
60|Which type of winding wire is used to wind PVC covered type Terylene thread type Super enamelled type | Double cotton covered |f&& FehR & ATSST AR FT FeAGET 9T AT A TR T IS YFPR | R TAHes <89 | 5cl il Hal ThR 3 phase motor 65
submersible pump motors? type HIeH I ASTET e o Torw 3TAT T winding
ST 82
61|What is the reason of long chord winding Low efficiency Low starting torque More winding wire Less heat dissipation [T AT & olall IS ATSTSIT o e T A GaTdT A YT STV | HTF ABBT aR | A 1T 39cad 3 phase motor 65
is avoided in AC motors? required FIT HROT §? I TaeISRAT winding
62|Which type of winding has more space for | Between overhanging | Between overhanging | Between overhanging | Between overhanging [Nl & forw fohd U &Y arsfzar & NPT FISA & | 3TARQI319T HIScT 3R | MNARG R DSl | AR 9191 isel 3 phase motor 65
cooling? coils coil and rotor coils and yoke coil and wedge 3 SR 2 CIE) e & & IRTFF & IRFFF = winding
63|Where the panel boards are used? Industrial motor drives | Domestic wiring circuits | 3 phase domestic wiring | Load distribution for AC [Jael ST &gl 39T R ST &2 AT Al 315 | TR AIRIT Alehe | 3 Trell ERGAIIRET | THT 3R 3T Maintenance - | 63 - 64
& DC supply mgfd & faw o motors
faazor
64|Determine the torque in newton metres 21.63 Nm 24.4 Nm 33.05 Nm 36.6 Nm 1440 rpm WqUﬁHWI? 7.5 HP TeFatar 21.63 Nm 24.4 Nm 33.05 Nm 36.6 Nm Squirrel cage 61 -62
produced by a 7.5 HP squirrel cage motor ol HIeX aRT A Felre ol =g ea #iex rotor
rotating at 1440 rpm? H AT 2




65|Which type of handle design of rotary Knob Lever Coin slot Key operation eI T o Thd ThR o 33T a1 g&ar Scdicl e & Tllc ol HTelsT Rotory switch - | 61 - 62
switch is illustrated? T gofe e aram g2 Types
i
66|What is the purpose of using rotor Reduce rotor voltage Reduce rotor current Increase the torque Reduce the power loss |3 &l [Ee RaT S5 AT YEIRA & | X Alocsl T Y | AT I T A Y | TATEL0 T 1T | FISTel T hell b Slipring 61-62
resistance starter to start 3 phase slip ring forT e UfaRIeT TETER T 3UATT I T FHH A induction motor
induction motor? 3T FATR?
67|Which method of speed control is only Cascade operation Rotor rheostat speed Changing the applied | Changing the number of [3Tfel =0T T leT & TATET shefel 3 Froll 1 | hEehs FelTolel TdT8 | UeX RINELT I | 3R 3MMglea | T 4 farear Speed control 63 - 64
applicable for 3 phase slipring induction method control frequency method stator poles method  |erT RaT g5arere AR & fow 3T IGEEL A FrageT | T A FET method
motor? 2
68|What is the name of the winding? Skew winding Skein winding Involute coil winding Diamond coil winding  [aT8Zer &1 =T F7 §2 TR arsfEar ThIgT aigisel | Sffcel g8l AIsi3e | g g8dl argfaal Winding 65
fundamental
terms
E H
i
69|What is the name of 3 phase motor Full pitch winding Whole coil winding Long chorded winding | Short chorded winding |3 el #1ex dTSTSaT T =11 &1 €, ATe; qof O argfser QR IBT ATS139T | el IS ATgiseT | RATC PSS dTgisaT Winding 65
winding, if the coil pitch is less than pole el fOa ol T & A g2 fundamental
pitch? terms
70|Which is the demerit of 3 phase More space is required A stepped former is More difficult to shape Itis not easy to make |3 el Gehlad ATSTSIT & [ U1 Hisl AT 2 31f8re SreTg Y Th TACE BIFR T | FHiged I HHllel | 37T dhalerled Tallell Winding 65
concentric winding? required the coils uniformly the end connection TALTFAT & 3TaRTHAT & Y PR &1 F 3T el & fundamental
forw 3t e terms
HiseT
71|What is the name of the diagram used for Ring diagram Development diagram | Coil connection diagram | End connection diagram [3phase H1eX a153T & fot ygad 3@ HaS & ARG OFE 3T [F8el Felaeled NG| 3d Falal 3R 3 phase 65
3phase motor winding? T AT FAT &7 winding -
single layer
R P T R
P P Y
ormae ol teomf el foo]
72|Calculate the phase displacement in 3 slots 4 slots 6 slots 3 slots 3 e, 36 Telle, 12 Figel, 4 ‘Zﬂﬂ e 3 Tdllc 4 TATC 6 Tllc 8 Tdllc Winding - 65
terms of slots for a 3 phase, 36 slots, 12 ST & AT TATe F Tl & Far terms
coils, 4 pole stator winding? TaEUTIeT ST IT0TAT Y2
73|Which type of AC motor winding having Basket winding Concentric winding Distributed winding Concentrated winding  {FIgel / Gtel / el &l TEAT dTel T AleY REREIEED Hehlgd arsisal FaRd arsfsar ThET A13isaT Winding - 65
the number of coil/pole/phase is more arsfEar g 9o & 3refaT-31ereT Falle & terms
than one arranged in different slots? IR g1 §?
74|Which type of testing of winding is Polarity test Resistance test Short circuit test Voltage drop test  [aTST39T & R 9ehR & UT&TOT o FRI=OT YT e gfaRTer TveToT UTC Afthe ST | alecsl 31T UI&ToT Testing of 65
illustrated? T T 7 winding
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75|Why external resistance is included in the To get high running To get high starting To reduce the load To get increased speed [TeTTEaT 3 e Hlehe A STEN TR T 3 3o IeteT JATEO] | 3T URTHG JeMgu] | NS P A | YEIA A 30 Slipring 61 -62
rotor circuit at starting through 3 phase torque torque current at starting ot TEeTaaT Sserret HIeY T o ATETH e & forw qTed el & fow Erokariy r arfer e induction motor
slipring induction motor starter? T 4T nfAer fomam s 2 Crokcariy

76(What is the effect of motor, if the rotor Will not run Runs at slow speed | Runs at very high speed | Runs but not able to pull [gfe; [&era Rer gsereret #tex e arsfear EREET A A aadi s | SgaaAMad aa?ﬁ%aﬁrrraﬁg Slipring 61-62
windings in slipring induction motor is load o ARy # Ferféer fham STer §, AT T & draar 7 gete g1 induction motor
open circuited at starting? TSI FIAT BT &7 3

77|What happens to a 3 phase induction Motor runs normally Motor stop Motor runs slowly, finally | Motor runs with irregular [If& Te &l el & QR QB gl ol & | A AFACT TTE | AR T IG A | A IR-UR Foidhl | A Af=afad Maintenance - | 63 - 64
motor if one phase fails during running? instantaneously it burns speed dl 3 eIl OROT AeT T FIAT BT 872 T & &, MR STt M AT motors

STy

78|What is the effect on 3 phase induction Motor stops at once Motor will run normally Motor runs with Motor will run slow  [el'S & | Telel & GRTeT Teh shell he-3h | AR TH IR ATH | AR AAT TAH | Al e i & | #Ae &l arfa @ Maintenance - 63 - 64
motor if one phase is cut-off during humming noise with slow |speed but winding will be |glef X 3 el 82U Al I FIAT THIT ST g el Y FPAAIR & | =l eifehat AT motors
running with load? speed burnt out shortly qsarg? A TAd g SR ATEETIT

79|What is the defect, if starter with single Improper phase Fluctuations in line Loose contact in supply Wrong terminal Tehol Folleg 199X o HIY TCICT TIe 76T | eI holl hHd | WSl dlecsl A 3aR- | Tfd TSt & Al R ITeld Single phase 61-62
phasing preventer does not switch ‘ON'? sequence voltage lines connections at motor  |gleY TR AT &I §? GrC) e Tt FECCRpIcD) prevents

80|What is the defect in AC 3 phase Wrong motor connection |Wrong starter connection| Open circuit in rotor Partially shorted stator [1S glel TR T 3 thof g3 HICT A h#l | ITelc] HICT adahlel | ol TR Pelehlet |IeT SIS A oIl | TR ATsisar A 3 phase 61-62
induction motor runs at low speed if winding winding A IR Tl H ST FIT §? afhe 3RS T & induction motor
loaded? gt

81|Which fault condition thermal overload Short circuit Open circuit Over current Under voltage FieT AT AT AT 7 237er 31TIHR Rl A.C Qe Afhe eIl aRTT EIGER FH dlecst Starter relays | 61 -62
relay protects A.C induction motor? UROT AT T T AT &2

82|What happens to the rotor of a 3 phase Rotor speed reduces | Rotor speed increases | Rotor speed remains | Rotor bars get damaged [af& 3 el 32aF2r=T AR I AeX AT T AT HHA T [T T 1T 56 STl | AR Y T FATA | Ve IR &ffcdared Squirrel cage 61-62
induction motor if its speed attains to same Jegeferen 1T &l 9Ted & ofdll &, df e ST & 3 wEareg REIGE induction
synchronous speed? T FAT BIT &7

83|What is the effect of open circuit in rotor Motor does not start Over heating in motor | Excess vibration of shaft | Motor runs with very low [$8&21e HIcX & UeX A Gl Alhe &l &1 AT YEACT Gl © | HICI # 3N I | AP T HTARFA | FHIeX g o e Il Motor induction| 61 - 62
of an induction motor? speed T BT &7 FHUT AT E

84|What is the reason for frequent blowing of Improper earthing Over loading of motor  |Heavy voltage fluctuation [Poor insulation in winding| #IeX & $& THY Tolal & &G T & g 3rTereT AR T 3R AMS9T | AR Alecsl 3dR- | ABTET H &S Maintenance - | 63 - 64
fuse after motor running some time? STIMTAR 351 T FAT HRUT &2 G g alerT starters

85|What happens to a 3 phase induction Motor runs and stop Motor runs in slow Motor runs and draws | Motor continues to run |3 &elT YRUT HIeX T &1 8IclT 8, 3P Tk | FIEY Feolcl & R gTd | A eRMdR &l | #eX goicl § 3R | sifaafad afa @ Maintenance - | 63 - 64
motor, if one phase fails during starting? immediately speed continuously more current with irregular speed  [FelT YE N & ARTeT Aot g1 SITdT 872 T AT & AMAH T g | 31TF 9RT Fiwrcr §| A Fardl wWar g motors

86|Which is the cause for the 3 phase motor Incorrect fuse ratings | Unbalanced line voltage |Incorrect settings of OLR Improper phase 3 thof AT TCTCX T [HITeT ol TIdeX & el TSl T A @S |OLR &Y areld Afar| 33 fd sl A Single phase 61-62
starter with single phase preventer trips sequence AT IR-IR f¢T T HROT HieT AT E? drecst preventor
frequently?

87|What indication denotes the shorted coil Hacksaw blade gets Rapid vibration of Hacksaw blade repels | Attracted by the winding |3 Fell #HleX FeX ATSTS & TR AR | Hacksaw solS I 81 | Gehdl sol I doll § | Ghdl sols Tolled | Folle 9T argiEar Testing of 65
defect in 3 phase motor stator winding over heated hacksaw blade against the slots turns on the slot TRETOT F GHY ol sols TGhT ST g FYeT & f@e® repels | gAGH ST winding
while testing with internal growler by TGIRIT FEE GIT AT Y& R Xl &7

keeping hacksaw blade?




Name of the Trade - Electrician 3 Sem - NSQF - Module 4 - AC Single Phase Motor

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level Topic of Week No of
sylabus the Syllabus
1{What is the working principle of single Lenz's law Joule’s law Faraday's laws of Faraday’s laws of  |Uehel TRUT URUT A T HI UG F T 72 oot ol fgH e & [FaH s & faggd s & faggd A 1 Principle 66 - 67
phase induction motor? electrolysis electromagnetic ques & e |[gradig ot A
induction
2|What is the name of single phase motor? | Permanent capacitor Induction start Capacitor start Capacitor start TeTeT Shot HICX T T ATH §7 TR FUTRA AlCX | S3FNT TTTC hathe FUAR Tere FAAT TCIC 33T | A 1 | Capacitortype | 66 -67
motor capacitor run motor capacitor run motor induction run motor I Al FUFR & AX T A motors
i
3|What is the working principle of split Lenz's law Joule’s law Faraday's laws of Faraday'’s laws of  [TdTelic TROT AleX ol Y [AGIT FAT 5?2 oot &l [T H @ & AaH s & faggd s & faggd A 1 Principle 66 - 67
phase motor? electrolysis electromagnetic Jue & e |[gradhig o e
induction
4|which type of single phase motor is Universal motor Permanent capacitor Capacitor start Capacitor start TUdhol IROT AT [hd YRR T G121 62 EGERGEITA TR TUTRA AlY | FARA TCIC S5FUT AR T D 1 | Capacitortype | 66 -67
illustrated? motor induction run motor capacitor run motor T Al FAFIR T AeX motors
. =1
T N
3 Y S8 0 uramv =
§§
U z
Ni
5|Which type of A.C single phase motor is Stepper motor Repulsion motor Shaded pole motor | Permanent capacitor [T & f&aTel %ol Al [ohd TR I HFJLEX TR AR EIGER Mk ITey BT Al AY | TR AURF AR | B 2 Repulsion 66 - 67
classified under commutator motor type? motor HAITT IR & ded Jeiiepd T STdT 872 motor
6|Which method is adopted to start the Split phase method | Varying supply voltage |  Reversal of input Reversal of running  |TaTel Shof S5a21eT ATCY Y& YA o [oIT dieT TN | Sl (TSI T (AT | IRAAT ATl Aecal | ST 3T ciaeTell | 19T el Faladeld | A 2 Split phase 66 - 67
single phase induction motor? method supply terminals coil connection Afer 3r9aATS STl &7 fafer I 3ol T 3ol LT motor
7|What is the type of A.C single phase Permanent capacitor Capacitor start Induction start Capacitor start A.C TH3Ter thof AT T TP FAT 72 TR @EaiRT AR FAR T SEFLUT TTIC S5FLUT | hUTACR T 5521 | D 2 | Capacitor type 66 - 67
motor? motor capacitor run motor induction run motor induction run motor FFEX T AR T Al T A motors
d
8|What is the purpose of the capacitor (C) in | Maintain constant Improve the power | Protect from the over | Reduce the sparks on ||TdilTae HIex & 3Tehel e I a0 RA A ST W | araT e A GUR | 3T AT & q=1C [Hush! R ¥ A7 HY| D 2 |Universal motor| 66 - 67
centrifugal switch speed control method speed factor loading the contacts afer & gl (C) #1 3T FAT B2
of universal motor?
H
9|Which type of winding wire is used for PVC covered copper Super enamelled Single cotton covered [Double cotton covered [Ha@fisel Ui i JATSS e & [T (o FehR | AT el ol oh AR | G TellHes HIT Tl icd ha | STA PUT ha i | A 2 Single phase 66 - 67
rewinding submersible pumps? wire copper wire copper wire copper wire & ABET AR BT 3YART fohaT ST 872 arR P AR FdR motor




10[{Which type of AC single phase motor Induction start Capacitor start Capacitor start Resistance start | YehR & THY RA9Tel thel AlC & Ha TSI | 3590 TTIC 559U | huTHex TTle S5l FA{R T JTeRIY TTIC S3HAA Split phase 66 - 67
having low starting torque? induction run motor induction run motor capacitor run motor induction run motor [T g §72 T Al T Al FAFR & AeX T A motor

11|{What is the function of centrifugal switch Maintain constant Break the starting Break the running | Protect the motor from |TeheT TROT HICH H 3ehe 1Eae T 1 FAT§? | ToleR TTcl S0 W | RIS arsfear b AT AT AT | FHIEX Y 3R effSaT Centrifugal 66 - 67
in single phase motors? speed winding winding over loading aEafera s FEafera s LRIy switch

12|Which is the application of universal Jet pump Food mixer Teleprinter Compressor HIAHHE AT HT AT TN HieT AT 52 Sl 99 ST TR Telliex FUAET Universal motor| 66 - 67
motor?

13|{Which single phase motor is fitted with Repulsion motor Shaded pole motor | Permanent capacitor Capacitor start Q133 A o TTY HlsT TT Tehel dholl AR e &2 gfaehyoT Al T Iiel Al | TURN TUIRT Aley | TUTRT IR FETRA Repulsion 66 - 67
wound rotor? motor capacitor run motor = Ay motor

14|What is the relation between running Both resistances will Running winding is Running winding is Running winding is [T & HeeT H Tehol TRUT SSAA HICI b1 [@TeAl FTcIRTET SRTSR 19| (397 ATSISIT A §, | Ifeler ATSTar iteer | Ifedor arsisar e, Single phase 66 - 67
winding and starting winding of a single be equal less, starting winding | more, starting winding | less, starting winding (37 ar$fEar 3R Terféar argfEar & e ST 3w &, TeIféar asfEer 7 | Terféer asfEer 3 motor - winding
phase induction motor with respect to more less infinity T §?
resistance?

15[What is the function of the part marked as | Increase the efficiency | Maintain constant Initiate the rotor Strengthen the TR Ol A | 'X' & §Y F TaTgsTd H19T G&TclT 91T RAR AT FAC T | AR GATA YT R | b1 &1 T Folelcl Shaded pole 66 - 67
‘X" in shaded pole motor? speed movement magnetic field T I FATL? Gy motor

§
H

16|How the direction of rotation of a capacitor By changing the By changing the By interchanging main | By interchanging both [$9ffeX TeTC g8 e HIeT o AU T femm | MYl Aetel 1 | FUTRT hederiell 1 | AT ATSTSIT hoetell (aledl HTd AR Tgrah Capacitor type 66 - 67

start induction run motor is reversed? supply terminals capacitor connections |  winding terminals main and auxiliary | 3ele ST 82 CEGETS TGl I 3T H S6of Flh 59T efeTell motors
winding terminals TS Ph

17|Which single phase motor tapped field Universal motor Shaded pole motor Capacitor start Capacitor start 7T Tahel Shell sl AlCY A ¢T hles TUIS shelel EGELECEIT MBI Aol Al | HUTAR T S5F2UT PRI T Universal motor| 66 - 67
speed control method is employed? induction run motor capacitor run motor  |fafr SRR &2 T AKX FITFET T AR

18{Which type of single phase induction Universal motor Repulsion motor Shaded pole motor | Permanent capacitor |@Ted fHeaR 7 [ TR &l Tahel 0T 90T EGEECEIT EIGEa BEITes JToTied el AleX | TARIY TR Al Universal motor| 66 - 67
motor is used in food mixer? motor FYET T YN fRAT AT &2

19|What is the angular displacement between | 45 electrical degree 60 electrical degree | 90 electrical degree | 120 electrical degree |Tehel TRUT URUT HIeX T FeTfeaT 3R Ifear 45 Zolfagehdl 13T | 60 Selldgehel 1331 | 90 Soliagdhdl 13T | 120 Solidgehd 34T Single phase 66 - 67
starting and running winding of a single e & S FroNy Ty Far §? motor - winding
phase induction motor?

20|Why the hysteresis motor is suitable for Small in size High efficiency Noiseless operation | Less error operation |€afel ReITSIT STIUT & TeTT R HIex 3SR H BT 3T GaTT HGEEIGC] FHH S gl Special type 66 - 67
sound recording instruments? UG FaT §? motors

21{Which motor is preferred for domestic Universal Motor Repulsion motor Shaded pole motor | Capacitor start motor |[ERe[ 9Tsil TUT o ToIT shiel T ACX THG T STl Ffraad AleT gfaeyoT AleX JoTied Ol AleX | TUTRT IR Al Capacitor type | 66 - 67
water pumps? g7 motors




22[Which type of motor has relatively small Universal motor Capacitor start Capacitor start Resistance start | Fd YehR T AT H 398THd Ha ieh a1l 672 I feraiel Aex FAf{X Tere FOTACY FCIC 35U | T Q[T 520 Split phase 66 - 67
starting torque? capacitor run motor induction run motor induction run motor FRPR T AR T AlY el AIY motor
23[What is the function of centrifugal switch Protects from over Maintains constant | Protect the motor from | Make and break the [Telle shell HIeX & 3Tdehal (o &l 4 #4182 | A AT A TAATE | TR 11 S0 | AT 1 3aR AT | MYl F LI Centrifugal 66 - 67
in split phase motor? current speed over loading starting winding from @arg { §aTe ST §=TT AR S switch
supply
24[How to produce starting torque in a Using rings on poles | Using capacitor on Interchanging cage | Interchanging the field [T 3TesTied dlel T@T #H1eX A T CTeh h ¢d W ool HI YHAGER Hithe W | Ead gaRT ol AeX | e gary wies Shaded pole 66 - 67
shaded pole fan motor? winding circuits rotor windings by | coil windings by switch |3cdTeet & HT? 39T AT FEnRT T 3IAET qTsfesaT &l Seeer FIgel ATSTSaT motor
switch HLAT SIS AT
25|What is the reason to use a permanent Speed regulation Lower power Splitting of phase for | Controlling electrical [T A Tfehe & Teh TAT TUTRT HT 3TJT T T TH T ToTell T A @I | T & AT Sell T ' ATAHIOT T Capacitor type 66 - 67
capacitor in fan motor circuit? consumption torque interference T T HROT FIT §? CEISCE T T motors
26|Which motor is having half coil winding? Mixer Grinder Ceiling fan Washing machine  [alsT € #leX 7 3N F8oT AT5139R glchl £7 ey DIEES S T 9E@T grrIaT FeMat Single phase 66 - 67
motor - winding
27|Why running winding is placed in the To get low resistance | To get low inductance | To get high resistance | To get high inductance [IfieT aTETE9T R & el ARTH FA W ST | FAIRYT ITA F | A ROTIA F 1T | ITd ISRG Iod | 3d 90T 9o kel Single phase 66 - 67
bottom of the core? [ ICIY FA & faw & fow motor - winding
28|Calculate the slot distance for a ceiling fan 90° 120° 180° 240° 311?3‘1@? crvo-iq»gl?-rﬁ 28 ¥ellcy, 14 ¢4d, 14 90 ° 120 ° 180 ° 240 ° Single phase 66 - 67
having 28 slots, 14 poles, 14 coils in half Fisel arel Hifeiar that & fT Falle 1 gf motor - winding
coil connection? IOTEAT Y?
29|What is the application of shaded pole Hair dryer Ceiling fan Wet grinder Washing machine  |3eoTied e A T 35191 3T £2 B I q@r afrerr IS arraT #LMA Shaded pole 66 - 67
motor? motor
30|Which type of single phase motor is used Stepper motor Repulsion motor Hysteresis motor Reluctance motor  |gT5 T3 3159 & foIT 1ol JhR T 19Tl ol TR A EIGER Mk iTey BRI A Reeea Al Special type 66 - 67
for hard disk drives? AT T 3TN AT ST &2 motors
31|What is the function of centrifugal switch  [Disconnect the running |Disconnect the starting [Disconnect the starting [Disconnect the starting [FUffiex FeT¢, HUTHER T ST HIeX H 75% W 80% T AT | 75% T 80% I ITfA | 75% | 80% T aTfd | 75% & 80% &l Ty Capacitor type | 66 - 67
used in capacitor start, capacitor run winding after reached | winding after reached capacitor after and running winding  |SEATS! g1t aTel HETTFITel FEarer T T 1 B2 | Teh Ug Uoleh T dTe | deh Ug dolah aIg, T Ug TeAch g | oIoh Ug Teleh oG YT motors
induction motor? 75% to 80% speed 75% to 80% speed | reached 75% to 80% | after reached 75% to argfear &l fSehaicre | YBIMATASEIT AN | BT TUIRT I | R =T AT
speed 80% speed F fETheiae A fETheiae A TEThaiae Y
32|Which type of single phase motor is Universal motor Reluctance motor Repulsion start Capacitor start T3 TR hT TAaTel thot HIEX o fehell 31w EGEREE It Reerea Al TfaehYUT TR 9RUT [T TIC IROT IA Universal motor| 66 - 67
having very high starting torque than any induction run motor induction run motor  |Y&R & fHaTeT that AleX FHr el §g 3778+ T Al A
other type of single phase motor? Ferféar efh g2
33|Where the capacitor is connected in a In series with starting | In series with running [ In parallel with starting |In parallel with running [FEITR= &I Tehel Fell TUTA HUTRT HICX H gl |TCTCIT TSI 6 TTY | 49T ATSST 6 T |TLTET ATS29T 6 TNy | FHATGACR A Ifekar Capacitor type | 66 - 67
single phase permanent capacitor motor? winding winding winding winding ST AT &2 g H e 7 FAATR ST & AT motors
34|Which motor is used in table fan? Universal motor Shaded pole motor Eddy current motor | Permanent capacitor [¢ael 9% # fohd AT T 3TN ThdT SITdT 82 EGERGEITA MBI el A AR URT Al T TR Al Capacitor type | 66 - 67
motor motors




35|What is the effect, if coil group connection Motor runs slowly Motor will not run  [Motor runs in very high | Motor runs and takes [T Tehdl dhell Hlex RATSI3IT & F3el THE AX NI TAANE | A AT gedl | Al Igdd M A | AT Foldhl ¢ 3R Single phase 66 - 67
is wrongly connected in a single phase speed more current at no load |F=erereT ITeld aieh & S[STE 37Te, ol T T EEGikd ICGIRET IRIEASEY motor - winding
motor rewinding? [ 3OS aRT AT &

36(What is the effect in a repulsion motor, if Direction of rotation Direction of rotation |Motor speed increases Motor speed will iy A A T 991 Bl ¢, O gaha | U T QM IGel | AC2T 3 (G20 FATA | AN & 31T 388 N | AT T 1Tl 183 et Repulsion 66 - 67
the magnetic axis shifted to another side? will change remains same from rated speed reduce from rated 3ra1 E@f G TR &7 ST 82 SlTed wTAE FIG A T &3 8T STTafT motors

speed
i

37|What is the effect if the centrifugal switch | Motor will run normally Motor will stop Starting winding will Motor will run very  |HTeR T 81t & STe; 3TTeha! el ohi f3Eehatere AR VAT TT T [FAIC JId 96 &1 SNTeNT| TCITCT argisal ofel | Al ag o UrAT arfey Centrifugal 66 - 67
is not disconnected after the motor starts? immediately burn out slow speed ST T ST &t T W IS ar &7 TolafT SIE  Teldly switch

38|How the direction of rotation of repulsion By shifting the brush- | By interchanging the | By changing the main By changing the  [9faensoT Aled o U T T T HF 3ot SLU-378T Sl ErGREEeeika T YATEER FEGACIT qTSfaT Repulsion 66 - 67
motors is to be reversed? axis supply terminals winding terminals | compensating winding |&R=T §? FATATART Fh 39H H deol Fh E‘igﬂ?’r Fracar | A BT Tgah motor

terminals

39|Why a capacitor is connected across To maintain constant | To protect from over | To improve the power | To reduce the sparks [l Teh HUTRE el [&a aTfd @207 f[afer  |{eReR a1l S0 @ | 37aX ofSIT @ ol | OTa) thefed &l Sk | HUehi 3 TdTeh hat Universal motor| 66 - 67
centrifugal switch in the centrifugal switch speed loading factor in contacts H 3rehgr T & 31 3187 & fow & T T & forw el & forw
speed control method?

40|What is the effect, if some slots in a split Works normally Reduction in speed Reduction in torque [ Runs with very high |ve1Ta &1 81T €, ATE Tehferd ATSISeT & QU Gl | HIHY &9 U A T H HAT TF H AT g o ot 311l A atsdl Winding 66 - 67
phase motor left out without winding after speed & a1e; FeeeTe ot Hiet & o Talle fam agfar FATE g
completion of concentric winding? F DI AT E?

41|How the radio interference can be By connecting By connecting By adding By connecting an  [ETaisfffeh #H1eX & a1l 0T o el Eae | 3ehel] Ea & alell | 3TTehal (80 & AT |HETA1eIT ATSISITHT | el [Ead & &Y Universal motor| 66 - 67
suppressed in centrifugal switch method of |  capacitor across  |capacitor in series with | compensating winding | inductor in series with [fafer # Y32 cafdeor 1 et gamar ST dehar IRTURT N | oA FaRT AR | 3R & 17 Sga | Aoft 7 v Sgae AT
speed control of universal motor? centrifugal switch centrifugal switch with armature centrifugal switch ~ [§? CICETY CICETY




Name of the Trade - Electrician 3 Sem - NSQF - Module 5 - Alternator

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level Topic of Week No of
sylabus the Syllabus
Which formula is used to calculate EMF/phase T E=222,FT E=4.44,FT Teh 3G oclalex § EMF / %ot &l 30T E=222¢FT E=444¢FT D 1 |EMF equation| 70-71
in a ideal alternator? _eFt .9 FT F & e v g swer s | o _ @ FT E - ¢ FT
2.22 4.44 2.22 4.44
2|Which rule is used to find the direction of Cork screw rule | Right hand palm rule | Fleming's left hand | Fleming’s right hand [3Tee3eiex & IRd STHUK i 62T Wislel Pieh TF 1TH SITe T T el T | FATHIT H ST T HT | FARIT h e &1d | D 1 Principle 70-71
induced emf in an alternator? rule rule T forg [T 1 39T o ST &7 ICpe G FT IH
What is the name of the part of alternator? Stator Exciter Salient pole rotor Smooth cylindrical [3TeeIaeX & HIIT & ATH FAT &2 T 3cdolsh AL YT I TIheT SollThR A | C 1 Construction 70-71
rotor
§
d
What is the formula to calculate emf equation of | E = 4.44 Ky K. T & | E = 2.22 Ky Ko Fby | E = 4.44 Kg Ko FT 0 | E = 111 Ky K, F &y |370CTeTER  STATT QAT AT A0 &4 | E=4.44 KK, T Oy | E=2.22 Ky Ko Fd |E=4.44 Ky K FT & | E= 111K K. F 0, | C 1 |EMF equation| 70-71
an alternator? ST A FAT
g2
How alternators are rated? KVA KW MW KV HECTATT &I hd ICS T STTdT 572 KVA KW MW KV A 1 Alternator 70-71
capacity
6|Which formula is used to calculate the 3Tecioie H YT dlecol 1T aHsT sl B 1 Voltage 70-71
percentage voltage regulation in alternator? VvV -V B _ IOTAT et o foIT fordr G T 3UreT fvam Vv - (Y _ vV -V regulation
VFL T x 100 - R %100 M x 100 —R___N %100 EHFIT%? —R N x100 % x 100 MX 100 —H——" x 100
VFL VFL VN,_ NL VFL FL VNL NL
7|What is the supply frequency of an alternator 25Hz 40 Hz 50 Hz 60 Hz 1000 HRUITH T 6 %g?ﬂ el Toh 3eeialex 25 Hz 40 Hz 50 Hz 60 Hz C 1 Speed and 70-71
having 6 poles runs at 1000 rpm? T 3T 3mafea AT 62 frequency
Calculate the speed of an alternator having 2 1500 rpm 2500 rpm 3000 rpm 6000 rpm 50 §Cof 31 3Tgicd W 2 ¢@T aTel Th 1500 rpm 2500 rpm 3000 rpm 6000 rpm C 2 Speed and 70-71
poles at a frequency of 50 Hz. 3feeedex &I ITT &Y I0TAT frequency
F?
What condition the lamps become dark in dark Terminal voltages Voltage and Voltage and power | Frequency are same &I 37eei=1el s HHATATCR FaTolel & 3Th o | ZTHelel dlocol sRIeR & | dlecol 3R 3MMdfea | alecst 3R AR I | Gl 3ociae & B 2 Parallel 70-71
lamp method of parallel operation of two are equal frequency are equal rating are equal in both alternator  |fafer 7 o v Reafa F ggrama €2 TR & TR E JTgfcd TH giell & operation
alternators?
How to compensate de-magnetizing effect due | Reducing the speed Reducing field Increasing field Increasing the speed [3Teexaex A JTHTR TcITshaT oh HROT 31 oA HI AT A | Bles Scaoladl URT T | Bles el GRTH | 3foclele Sl Id C 2 Armature 70-71
to armature reaction in an alternator? of alternator excitation current excitation current of alternator ﬂ?ﬁasﬁw JHTT I Sﬂtﬂ'é FI F? hH HIAT hH HIAT qﬁg’ EEGIE reaction
1|What is the use of synchroscope? Adjust the output Adjust the phase Adjust the supply | Indicate the correct |FEShIEaRIT T IUTTIT T &2 3M3CYCT Aot ol IeIhd HATATSIA EEGEES] AT & T TET D 2 Parallel 70-71
voltage sequence frequency instant for paralleling FATATAT Gy AT A EGEICT Ky operation




12[What is the name of the equipment that Exciter Inverter Converter Synchroniser 3o oh X AT D.C Tt et arel Scaolh Seacy FeTac [BESEIEE Construction 70-71
provides D.C to the rotor of alternator? YO T ATH FIAT &2
13|What is the purpose of damper winding in Reduces the copper | Reduces windage | Reduces the hunting |Improves the voltage [3ecticX # SF R AIS[3eT 1 32T FATL? | IS & AT & HH | a1 BT1ed T HHA HIAT | G1eIT & THIT I HA | dreco [AIHT 7 Hunting effect 70-71
alternator? loss losses effect regulation FLATE & FATE IR FAT§
14|Which condition is to be satisfied before parallel |Rating must be same | Phase sequence Rotor impedance Stator impedance  |37eeI=eY o HATACR Felloled & Ugel [ohdl | XTI FHT Glell TG T |hol ITIohel HHT Glell | I TTIaTe] FA | T SFASH THA Parallel 70-71
operation of alternators? must be same must be same must be same |t T T se R ST §2 By gl arfew g Trfee operation
15|What is the speed of an alternator connected 1000 rpm 1500 rpm 3000 rpm 4500 rpm 4 9Tl gTel 38 dleeal WX 50 §eot T 3 fd 1000 rpm 1500 rpm 3000 rpm 4500 rpm Speed and 70-71
with a supply frequency of 50 Hz at rated Jgfed & AL 3 Ueh 3eeieied i i F#41 frequency
voltage having 4 poles? g7
16|What condition the two lamps become bright Terminal voltages Voltages and Voltages and phase | Both the alternators [&T 37eeXwIex] & HHI=R &Il h GRTel & o | STHeTel dlocol sRISR & | dlecol 3R Theradi dleest 3R el 2l 3eetaie] T Parallel 70-71
and one lamp dark during paralleling of two are equal frequencies are equal| sequence are equal receive same oRa greld & STold § 3Rt o CEISIGH &2 TR § MWW% 3mgfea red EGES operation
alternators? frequency
17|What causes the terminal voltage of an Field resistance Armature reaction | Inductive reactance | Armature resistance |Ife IR 9&dT g, af 3Teclae I ciiedel EEEIGLC] 3RR gfafear IR gidtshar SRR gieRTeT Armature 70-71
alternator reduces, if the load increases? drecsl S &Y ST &2 reaction
18|What is the purpose of using damper winding in Prevents heating | Reduces copper loss | Reduces windage | Prevents the hunting [AC STaRex & 3F0R ATSfS9T &7 YT et QR F UhcdT s | TS & JHETd Bl & | JHATA B A IXAT S| G1edl & TG &l Hunting effect]  70-71
AC generator? loss effect FT 32T FATE? FIATE AT &
19(What is the type of alternator? Brushless alternator Three phase Single phase Salient pole type  [37ceReTeX I YR &7 &2 U IR etk feT thot 3ecieley Tohel thaf Heelelel JfeT gd TR Brushless 70-71
alternator alternator alternator oA alternator
=1F
xomen  E wAn e
ARMATURE g
EXCITER FIELD §
MAIN ARMATURE g
20|Calculate the speed in r.p.s of the 2 pole, 50Hz 50 rps 100 rps 1500 rps 3000 rps 2 9Tef, 50Hz 37eeTAeR & r.p.s H I T 50 rps 100 rps 1500 rps 3000 rps Speed and 70-71
alternator? IOTAT HY? frequency
21|What is the advantage of using rotating field Easy to locate the | Easy to connect the |Easy to dissipate the | Two slip rings only [g0Te &5 TR 3Teceiex T 3T e T ATH AT R IAT | oA F AT AS | Alsal b Rl I Y &l [&erg Rt &hr Construction 70-71
type alternator? faults in the field load with alternator | heat during running | required irrespective |aT HIIET &7 AT AT & |3l Sholdre el AT ATAT 3T 3T gIcll §, T
of No. of phases g T T TEaT fhder
ey
22|What is the effect in increasing the field Prevents Over voltage Dead short circuit Alternator will be  [3Tecetex H Hhies Scdolell 4RI 3T dld T Taaelel I AshdT g | T8 dleedr & TETUT| FHd AC Tlhe TETUT | Heei=iex NaX disg Characteristic 70-71
excitation current in alternator? demagnetizing protection protection over loaded FIT JHTT IS 82 g s
23[Calculate the pitch factor (Kp) for a winding 0.942 0.965 0.978 0.985 3TeeTAeT A 30° 0T () & ATYT 36 TX 0.942 0.965 0.978 0.985 EMF equation| 70-71
having 36 stator slots 4 pole with angle (a) is TeAlE 4 Grel aTel GATGER o foT forer therex
30° in alternator. (Kp) &Y IT0TT Y2
24|What is the cause for hunting effect in Due to over load | Running without load Running with Due to continuous | 3eci=iex H §fedT & THIT Sl HROUT FAT 52 INFARF RO | FATASF TA@IE | MA F 3dR-TG@H | g H ok 3dR- Hunting effect|  70-71
alternators? fluctuation of speed fluctuation in load T TA W@ TSI & HIROT
25|Calculate the voltage regulation in percentage if 27.2% 32.5% 37.5% 38.5% IfE Tk oA A AS gl RAT AT &, ot 27.2% 32.5% 37.5% 38.5% Voltage 70-71
the load is removed from an alternator, the diecst 480V ¥ 660V deh ¢ ST &, alecol regulation

voltage rises from 480V to 660V.

s ufaera # sromer Hifed?




Name of the Trade - Electrician 3™ Sem - NSQF - Module 6 - Synchronous Motor and MG Set

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level | Topic of sylabus |Week No of
the Syllabus
1|What is the name of the converter? Metal rectifier Rotary converter Mercury arc rectifier Silicon controlled  [eacx T =T FT 8?2 &g sy e TheAdex AIHT 3T eSepy | ATl aiaa D 1 | Silicon controlled 72-73
— rectifier [EATEaE rectifier
) £
3
2|What is the name of the converter? Metal rectifier Rotary converter Mercury arc rectifier | Motor-Generator set [shedc T #ATH FT &2 &g sy e heAdex FAHT 3T CSTHRT | ATX-STelkeX AT B 1 Rotary converter | 72-73
g
3
stmmnGs &1,
|
3|why D.C supply is necessary for Reduce the losses | Start the motor initially | Run the motor with Run the motor at | T¥shIeTd Al HATIR2UA & forT D.C 3Mqfd &t gITeTal bl A X | YT H Al TIC FY | HIE I R A1 & | #He %Fqiﬁm D 2 Synchronous 72-73
synchronous motor operation? over load synchronous speed |31Ta3e g2 1Y FelTT T F TATT motor
4|Which acts as both inverter and converter? Metal rectifier Mercury arc rectifier | Semi conductor diode |Synchronous converter [ 8=ac 3R @elac Gl & &9 H HIT AT 7 feseahy FIHY 37T SGSChRT | TEATeleh 318 gegaiiels deiael | D 2 Synchronous 72-73
22 motor
5|What is the function of inverter? Convert A.CtoD.C Convert D.Cto A.C |Smoothening A.C sine | Convert pulsating DC |3=a¢x & &I &7 &7 A.C &1 D.C # §&efell| D.C &I A.C H seeiall| A.C 1Sl Tl [Pulsating DC#1 g | B 2 Inverter 72-73
wave into pure D.C FHYHET D.C # Jgel
6|Which converting device can be over Rectifier unit Rotary converter Motor generator set | Mercury arc rectifier |ale AT TRacieh 3YHIOT AT NS [haT T feseary gfee e heAdex AeT SR AT | AP 37T oSy | A 2 Comparison 72-73
loaded? Hehdl
g2
7|Why exciter is essential to run a Carry more load in Improve the power | Reduce the losses in Run the motor at  |FshII AT I TelTo o [o1T Sccioleh AT HIeT H e AR | GTaR thereX H GUR | HIeI A gl arel ﬂmaﬁ‘rgw D 2 Synchronous 72-73
synchronous motor? motor factor motor synchronous speed  |3TaeTe §? STe ST HETT H HH L fT & Felw motor
8|Which application requires only DC? Electroplating Stepping up of voltage | Operating induction Operating repulsion |TF& TiCerohelsT Y haot ST T HTILTHRT &7 faegd ogeT qrecol Sl SSFUT ACT TATeleT | TTIehyOT Al A 2 DC application 72-73
motor motor STl
9|Why the LED’s are avoided as converters in | Heavily doped device | Very low power device | Designed for light Very sensitive to  [fGSeehRT STATS # TelSsl &1 dhwd el & &9 H 378 Stes g | ag e el G Tehel | TRl Scdioiel & [oIU | T9#Te & Ticl sga | B 2 Solid state 72-73
rectifier diodes? emitting temperature FIT Tl SATAT &2 TART AT E HaceTefeT converter
10|Which is the main application of Elevators Paper rolling mills AC to DC converter Power factor I AlCH 1 HTI I el A1 67 fooe FIITST AToreT el | THT Q ST hefdeX | UTaR theFe gl | D 2 Synchronous 72-73
synchronous motor? correction device Zarsa motor




11|{What is the advantage of motor generator Noiseless High efficiency Low maintenance DC output voltage can |[AeX STkeX AT &l ofTH T &2 MREIT 3T q&Tdl FH IEIEG T E5sl [ a_?.\_:rg M.G. set 72-73
set? required be easily controlled 3TMARIHAT & FI AR § AT
2T 1T TehaT &
12|What is the function of the part marked as Converts AC to DC | Reduces voltage drop Helps to deliver Collects the delivered [ITe3T AT F T X' T FIT HIY §72 T A S H dlocot ST Al A | 19T AR o 3M3eqe | fadRd Feaet arr Rotary converter | 72-73
‘X’ of the rotary converter? without noise direct current gRafdag arg FATE ST H A AT g THT FATE
i
S
£
2 -
B [T I B
i
13|What is the purpose of damper winding in a | Produce high voltage | Produce high current | Produces torque and Produce a high %_[Eﬂ@g@ﬂ%ﬂmﬁémaﬁ%ﬂw A YEHTA & |HIE I GHA & [T | STeh Jel Al ¢ R | Teh (12 3Tl §ol1T Synchronous 72-73
synchronous motor at starting? to initiate the rotation |to start rotate the motor runs near in magnetic-field to  |383F FATE? foIT 3T eI T | 329 URT T 3cUle | Jedshliah Ifd & |38 & forw veh 3= motor
synchronous speed | maintain a constant 3cqTe Y ET 1E AT & ECRIREERD]
speed IGEI T
14|Why the synchronous motor fails to run at Insufficient excitation | Defective pony motor Open in damper Short in damper  |[&shleTa AleX RshIeTd I1fd & F4T AT 3IATCT St YOI Ot Al | Goll SFR AlsiseT | S arsisel H QMc Synchronous 72-73
synchronous speed? winding winding TeIcir? motor
15|How the synchronous motor is used as a Varying the motor load | Varying the rotor Varying stator voltage | Varying stator current |F&shleTel #H1eT &l THshleTd $HSeTal o & H hel | HAI oS Hacelid | Uk Sccolell & | AT A T dleco | A H T ORI H Synchronous 72-73
synchronous condenser? excitation in motor in motor 39T R ST §7 Seora Hagaa Seora motor
16|What is the function of damper windings in | Maintain power factor |Excite the field winding| Maintain constant | Start the synchronous %mﬁ%mﬁmaﬁﬁiﬂﬂwm GiaR HheFeX ST W | Blos AfSaT | foAgd a1 a0 W | Rishierd Alex Y& Synchronous 72-73
synchronous motor? speed motor 7 EGIE LT motor
17|Which converter is having high efficiency? SCR converter Rotary converter Motor generator set | Mercury arc rectifier [l & ®aAde< & 3¢d Galdl 87 SCR &elaex A deAde AT TR AT | A 37Tk feSehrY Solid state 72-73
converter
18|How synchronous motor works as a power |Varying the line voltage|  Varying the field Increasing the speed | Decreasing the speed [& Jeaehiicieh HICT UTaR thereX LR o &9 TS dlecol H B8 3cadolelT H | HICX I 31T 96Tl | FHIe I I Gel=lr Synchronous 72-73
factor corrector? excitation of motor of motor #H FIH HIAT dcelld deelld motor - application

[




Name of the Trade - Electrician 4" Sem - NSQF - Module 1 - Electronic Practice

representation of measured or tested
quantities?

oscilloscope

generator

T 37 wfafafeca e axarg?

generator - CRO

# Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans | Level | Topic of sylabus [ Week No of
the Syllabus

1|Which resistor is used to measure light VDR NTC PTC LDR TRIRT T TG Y ATYA o [oT Tohd 3TARTETR VDR NTC PTC LDR D 1 CB - Soldering 79-81
intensity? ST 3T FohAT SATAT 872 resistor

2|Which code indicates silicon semi OA 79 BY 126 IN 4007 2N 3055 TaTcIeniel T ShsareX SIS Tohd IS I ST OA 79 BY 126 IN 4007 2N 3055 B 1 Semi conductor 79-81
conductor diode? FIAT &7 diode

3|What is the input ripple frequency (F;,) of Fn =%F Fin =Fin Fin =2 Fin Frn = \2 Fp Bl a9 YFCHRN Hl 3192 Rl Theradl (Fiy) Fin =%F Fin =Fin Fin =2 Fin Fin =V2 Fpy ¢ 1 Rectifiers 79-81
full wave rectifier? FATE?

4|{Which is a active component? Inductor Resistor Capacitor Transistor TS AfhT TTh PleT ATL? IR SiAaTel heAdTel FaRT T D 1 |Active and passive | 79-81

component

5|Which letter indicates the compound A ‘B’ ‘c ‘R’ a1 AT 37ER N1k GGTY HSTHIH Tohiss P A ‘B’ ‘C’ R’ D 1 Semi conductor 79-81
material cadmium sulphide? ST wear g2 diodes

6/What is the name of the symbol? Two input OR gate | Two input AND gate | Two input NOR gate | Two input NAND gate [Srciieh ol =137 2T 2 a1 392 OR 3T A SAYCAND AT | @ ZAGSNOR AT | A SAYSNAND A | D 1 Logic gates 82 -85

Aoi
B Y=AB g
7|Which is a passive component? Diac Diode Transistor Capacitor Th [ATSHY Teh i a1 872 EPED 33 Al FaRT D 1 |Active and passive | 79-81
component
8|What is the name of the device symbol? SCR IGBT DIAC TRIAC TSarsa el & =16 FAT 8?2 THHIR FIEEIE I EPED [apED [® 1 SCR, DIAC, 82 -85
TRIAC, IGBT

9|How many characters are in hexadecimal 6 8 12 16 SFaTS A TEAT JoTel H fhclet qoT 872 6 8 12 16 D 1 Logic gates 82 -85

number system?
10|Which electronic circuit generates A.C Filter circuit Rectifier circuit Amplifier circuit Oscillator circuit  |@leT AT Selarglieteh Alehe T9e1T 3792 & A.C e Afehe eseahrT Afche gatieh giehc alelel giehe D 1 Function 82-85
signal without input? RIS 3cTod AT 52 generator - CRO
11|Which instrument provides a visual Voltage stabilizer Function generator Cathode ray Radio frequency  |@lel HT 39a0T AT § TAT YA&TTOT HTAT dlecol TSR Thelel STelch F3 Y 3R |IZAT thigddt SelkeX| C 1 Function 82 -85




12|What is the name of amplifier? Common emitter Class B push pull Common collector Class AB push pull  [TFIelThIIR ol =13 T 82 FIHA TH FoIrd o I ol FIHT dholdFe Follg Tall 21 Tl Voltage regulator - | 79 - 81
amplifier amplifier amplifier amplifier TFTATHRR TFTATHRR TFTATHRR TFTATHRR Amplifier
i

13|What is the formula to calculate the 1 c 1 E 1 E 1 Teh Glele] Aiehe H e +11G 3Tafcd i 0T 1 1 E 1 1 Oscillators - 82 -85
resonance frequency in an oscillator = P T e O e re oo |FRA S IFTE? F. = F = r =T — Fr=——= Multivibrator
circuit? ' o2ncC 2m.C 2zyLC LCv2z " 2zLC r 27LC 2rNLC " LCY2r

14|What is the minimum voltage required in 02V-0.3V 04V-05V 06V-07V 0.8V-0.9V Aol gifoieex & Farele & fov 98 Ui 02V-0.3V 04V-05V 06V-0.7V 0.8V-0.9V Transistors 79-81
the base emitter junction to conduct a SIFT H G AdH Alecl Sl HTTLTRdT FIT 572
silicon transistor?

15(What is the minimum and maximum value 23750Q - 26250Q |24700Q - 27300Q 25650Q) - 28350Q 224000 - 33600Q  [sheARr: IR 3T 83, AT, §9T=, aAR3N 3R &l & | 23750Q - 26250Q [24700Q - 27300Q 25650Q - 28350Q | 22400Q - 33600Q CB - Soldering 79-81
of resistor with four colour bands, red, 1Y TR &1 =g 3R A AT a1 resistor
violet, orange and gold respectively? g7

16|What is the reason for barrier voltage is Lower atomic number | Resistance is very low | Doping percentage is | Valance electrons are |F&feiehiet @raall & AferehT alecol T hRUTFAT | ol WA HCAT | TCRIT SgaHA G | ST o2 e | ToIT Solergial sherel Semiconductor 79 -81
more in silicon material? more two only g7 g arg diodes

17|What is the reason for widened barrier in a |Minority carriers in two | Electron in N material | Holes in P material | Electrons and holes |Ra¥ STIEs 3118 & <iaT STET T SHRUT T §7 GEEIPEIE T FARTT & o A A g golargiel 3R grel Semiconductor 79-81
reverse biased diode? materials are is drifted to positive | attracted to negative | are attracted towards HeqaETS dIgeh ST Ao & | FAhRIcHS Chatetel o | el efélerel T diodes

neutralised terminal terminal supply terminals 3T 8T geegeffiaa d | v meNaFar | R msRaaa
TAT ST

18|What is the output voltage in the full wave No output Rated output Half the rated output Double the rated g‘«( Ja YT wfdhe A 3m3eye diec F#a1 [EECER] s fAea ACS 3cTeT &I 34T | Y23 IT3eYT Rectifiers 79-81

rectifier circuit? output ? CEIGIETY
D, g

19|Which filter circuit is capable of removing LC filter RC filter Capacitor input filter | Series inductor filter [T AT ftheet Hithe FCHRT Aiche A dloest LC e IR e FUTRA 3e1qc et | AU SRehed hoe Rectifiers 79-81
voltage spikes in the rectifier circuit? TUTSFT 1 geTel H TETH &7

20|Which is the advanced version of power FET uJT SCR IGBT 3159 A 3M3CYT TOT H 3G fhT ST aTel FET uJT SCR IGBT SCR, DIAC, 82 -85
electronic component used in the output TR Solagifeleh T¢ah o Soold TEHIUT it AT TRIAC, IGBT
stage in drives? g7

21[How the decimal number can be converted | Divide decimal by 4 |Multiplying decimal by | Dividing decimal by 2 | Multiplying decimal 2 |e=TeTd HEET 1 STge{l e A hdl Soll ol | GAHId T 4 T AT | SAATT HT A G0N | AT P2 H | GAFHold 1 2 F [0 Logic gates 82 -85
into binary number? 4 TehaT §? g FHTAT ICEISG AT

22|What is the purpose of using binary coded | Storing the data inputs| Control the binary Interface to binary | Segregating the input |STcel Hfhe 3 STsa{T I3 GeHwd (A18)) | ST 3aIqc TIgd Sl A A | STSeRT NEeH H SoYc ATICS! T Logic gates 82-85
decimal (BCD) system in digital circuits? system system parameters JUTTRT ST 3TTNIT et T 32T FAT &2 AT IGEIEGEETY G 37T AT




23|Which logic gate refers the truth table? OR gate NOT gate AND gate NOR gate T AT 1ohE cAlToteh 31C T T 3 OR 3T NOT 3 AND 31T NOR 31T Logic gates 82-85
&2
A B Y=AB
0 0 0
1 0 0
0 1 0
1 1 1 :
i
24|Which quantity can be measured by CRO? Frequency Inductance Resistance Power factor IR GaRT Fhd ATAT & AT ST Tl &2 3rgfed URehcd gfeRrer RIESEICIES Function 82-85
generator - CRO
25|Which is the main application of SCR? Amplifier Oscillators Multi vibrators Speed control of  [SCR &1 & A1 il AT 52 EEBEd BGED Hedl aBsex AT T T T =0T SCR, DIAC, 82-85
motors TRIAC, IGBT
26|What is the function of R, variable resistor? | Controls the current in Protects from Protects the RFI filter | Controls the pulse [T ITaRTET R, T &1 &7 &2 R, & 4RI I AT | 3aRcls T g T | N2 d RFl | g Y IR ahkel SCR, DIAC, 82-85
R, overload to TRIAC from overloading | rate for triggering the FATE W RATE ﬁwﬂ?@rgﬂmm & foT oo ex &r TRIAC, IGBT
TRIAC IGRIEGEZGIES
. -
Fha S I
I W e
~ @ R T
C1T & §
27|What is the purpose of connecting L, Provides DC supply |Provides positive feed | Provides negative Provides transistor  |gIToTeeX a9 & C, o HATETH L, T SISt il T YA UG | TFRIcHS BIS 9 | dPRIcHS BIS 9 | glioleex e Oscillators - 82-85
through C; to the transistor base? back feedback biasing voltage  |32eT FT¥? FATE EHEETGINS EHEETGINS aTecsT UGl dl & Multivibrator
i
28|What is the criteria to decide a material as Atomic bonding Existence of valance | Atomic weight of the | Atomic number of the [hSeFex, Wl FeX IR Gl & §I H Th AT Y AT SRATY] H dold TN & SRATC HT | AT & GRATI] Semiconductor 79-81
conductor, semi conductor and insulator? structure of atom electrons in atom atom of the material atom of the material |[AT dT T & forw ATICE FAT &2 e GIAT SoFCIa ol 3fedca OIAT] A GIAT] &1 diodes
29|Which doping material is used to make P- Boron Arsenic Antimony Phosphorous “OY-TTET THT hadeX STl o [oIU [ STl IRTeT EIEsicEd TEAAT IR Semiconductor 79-81
type semi conductor? AT HT YT fRAT FTAT §2 diodes
30|Which type of biasing is required to a NPN | Base ground, emitter |Base negative, emitter | Base positive, emitter | Base positive, emitter |Ja€ieT & TolT NPN EIToTEeR o oIl 1ohd TehR | o9 U138, TIHeX AR | 9 [=Hled, UiHel | a& ulieiied, Ui | o uitelied, Uiael Transistors 79-81
transistor for amplification? and collector positive | positive and collector |negative and collector |negative and collector |&T 3IfRATT HT 3TTLIRAT I 72 FeolareX ifoifed | Ariaifed 3R Foldex | feifea 3R wearex | fA9ifea 3R Fererex
negative positive negative ANfea uifaifea e
31|What is the type of function in the Switching Oscillation Modulation Amplification TITSIEeX Tlhe H THerlel ol JhR T &2 afer arelel HATZY 12l EEGCH Transistors 79-81

transistor circuit?

L & L
L 1

nszrina




32|Why negative feedback is required in To reduce the To increase the To increase the output [To increase the output [TFTIHIRR Alehe A AhRTcah hiseh TP A w5 1 |Iated SR HT GG | 3CYC dlocot Fele | HBCYE ERT oI 7 Voltage regulator - [ 79 - 81
amplifier circuits? distortion amplification factor voltage gain current gain 3MARTHT F4T 872 & forw & fow & fow fg e & forw Amplifier
33|What is the purpose of DIAC in power As rectifier For triggering As an oscillator For amplification  [qTaR &hgiel Afehe & DIAC T 38T FIT &2 TFIFRRFTIH | RIRIWA P 0T |TH INMAAR F I H|  Jd9T & [T SCR, DIAC, 82-85
control circuits? TRIAC, IGBT
34(Which type of control device is used in FET uaT DIAC TRIAC Solecioleh agT T foz=oT dishe A foha FET uJT DIAC TRIAC SCR, DIAC, 82 -85
electronic fan regulator control circuits? TR o fIT0T IYHIOT T 3TN FohdT ST TRIAC, IGBT
&2
35|Which quadrant operation of SCR delivers First quadrant Third quadrant Fourth quadrant Second quadrant  [SCR T shlel {1 T AR TalTelel Rad STAAaT Tgell g el e g e =T T TRl SHU T AT SCR, DIAC, 82-85
heavy current in reverse biasing? H AT e ST g? TRIAC, IGBT
36|Which logic gate refers the truth table? AND NOT NOR NAND T ATl [l ellToTeh 1T ol TG ieTd il AND NOT NOR NAND Logic gates 82 -85
&2
A B A+B
o o 1
0 1 0
1 [+] [+]
1 1 [+]
37|What is the use of time-base control switch | Select sweep speed | Select input voltage Select input signal | Select intensity of the |TT3TR3N H CIBA-S shelel ad T o1ie I T TS FT T | SAYE Alecol Iof T | FeAYE RaaTel dlocst | a1 Y clrerdm &1 Function 82-85
or knob in the CRO? range voltage beam 3T T 82 ET TIA Y FT TYA I I Y generator - CRO
38|Why a snubber circuit is used in the TRIAC To avoid false To increase the life of | To increase the motor |To maintain the motor &I AeX o= Alehe & Teh ToAaR Hiehe 1 | ITeld IR W Feial oh | G I Sael SGTal | HICI JollE[OI T |FHIET i 3Tl I LR SCR, DIAC, 82 -85
motor control circuit? triggering TRIAC torque speed constant |3 FAT fRAT SITAT 72 forw & foT el & forw AT TE@A o forw TRIAC, IGBT
39(What is the output DC voltage in half wave 24 Volt 12 Volt 9.6 Volt 10.8 Volt &% dd I[FehRR | T 31T dlec ol FaT 24 Volt 12 Volt 9.6 Volt 10.8 Volt Rectifiers 79-81
rectifier, if the input AC voltage is 24 volt? g, IfE sIge Tt atees 24 dree §7?
40|Why most of semi conductor devices are High barrier voltage | High resistance range High thermal High current carrying aﬁﬁméﬁrgmﬁmm\ NIRRT 3T T dlec ol STT YR IS | 359 M9 dTeehdT | 3Td 9RT of Silel &1 Semiconductor 79-81
made by silicon compared to germanium? conductivity capacity 37 ATeAP 3YHOT FAT TATT ST &2 &THAT diodes
41|What is the output voltage if the centre tap Zero voltage Full rated output  [Half of the rated output| One fourth of rated  [TTg ZRIHIFR T AU T O 3T IFCHIRAT e dlecat qoi¥es foreld RsaaFamr | RsEaa s Rectifiers 79-81
of transformer is open circuited in a full output e 7 T g 31e, dF T3y Aeco FT 572 s
wave rectifier circuit?
42|Which oscillator provides high accurate Hartley oscillator Colpitts oscillator Quartz crystal R.C phase shift  [&le &T gl 3T T €2R 3Tgfed et gcal 3ol Floey Y | FaCo hece 3R St TRIFe Oscillators - 82-85
stable frequency? oscillator oscillator FIATE? IR IR Multivibrator
43|What is the characteristic property of base Lightly doped and Heavily doped and Lightly doped and Heavily doped and  [Ueh gIToleey 3 3TUR GTHIT &1 AW JOIFAT | §eh T 319 (AT g 3 | AN IR Jgd Idell |gedh A 39 parg3n | 0 AR agaasT 79 -81
material in a transistor? very thin very thin very larger very larger g2 Wa@’am ﬁTaEHEET




44|What is the type of amplifier? Push Pull Amplifier Common Base Emitter Follower Common Emitter  [TFTeNHIRIR &1 ThRR FT 872 g1 § TFIelThIRY FIHAT 9T TTHER B3R FIHA TH Transistors 79-81
Amplifier Amplifier Amplifier TFTATHRR TFIATHIRIR TFTATHRR

45|Which resistor determines the voltage gain R: R, R, Re lel AT JTRTE Teh HHT TIHAT TETABRT R, R, R, Re Transistors 79-81

in a common emitter amplifier? # dreest oreT & iR aar &7
i

46|Which multi vibrator produces a repetitive | Astable multi vibrator | Bistable multi vibrator |One shot multi vibrator| Monostable multi  [&lsT AT Hedl aISsel T RUfeled Tod ad 3T Fodl ATSel | dISEeddl Hodl | dof Qe Hodl diBacy | Alecsd Hoal Oscillators - 82-85
pulse wave form output? vibrator I ITICYT 3o HIAT 67 CIEC[ES CIEC[ES Multivibrator

47|Why a feedback network is used in the To cancel noise To phase shift the To phase shift the To cancel second  [Gleleh & Teh thiSaeh sicdeh &l 3UTTIT FT [haT | QMR [A®TOT i I5 60° I et ¥ TeeTer 1 180° §  |GEX @A Taleh [a&TUT Oscillators - 82 -85
oscillator? distortion signal by 60° signal by 180° harmonic distortion |STeT &2 Fl & forw Fl & forw %ot fAIFe et & o] &1 3g e & T Multivibrator

Vh{

48|What is the main application of a Field Voltage control device | Current control device | Positive feedback | Low input impedance |[$ies thare gifaleey (FET) &I & 39311 drecsl [Agaor URT 20T 3158 | GFRIcAS BIsed | So1qc Tiaamen PCB - UJT and 82 -85
Effect Transistor (FET)? device device FATE? EEIE:] EEIE:] 3qEOT FET

49|What is the main function of Uni Junction Relaxation oscillator | Broadcast transmitter [Loud speaker amplifier| Microphone input  [J&t SferereT giforeex (UJT) &1 A& I T 67| Roaaee A¥eiel | SER0T gAY 138 TR HISHIBIA SAYC PCB - UJT and 82 -85
Transistor (UJT)? device TFTRITHRIT ECIE:] FET

50[How the gate terminal of N channel JFET Gates are reverse Gates are forward Gates are forward Gates are reverse  |N Jalef JFET &I A€ efHaTel ol ATRAA 67 N IT ATAAT & | AT ’AAT & | IC 3T h SEED] Necq TG ary PCB - UJT and 82-85
biased? biased biased biased with drain biased with source FAATE T AfRAT & FET

51|What is the total turn-on time (t,,) while ton=t; - ts ton=t; - tg ton=tg + 1 ton= t+ ta+ t ST V, AV, A IRAc ad TAT Fel el ton=t; - ts ton= tr - tq ton=tg + 1, ton= tF tg+ t Transistors 79-81

transistor makes a transition from V, to V;?

081gy

0ilgg

f=—torr —|

s

3T T (tn) FAT E?




52|Which device is made up of using the Inductor Resistor Capacitor Transistor g @, Taehiard, TSwgsTal 3R s e TRehed gfaRrers TETRT [AIcEaery Transistors 79-81
methods of point contact, grown, diffusion STFRTAT o LT T 3TTIT Heh ha 3YHIUT
and alloy junctions? T fHTOT foRaT SITaT 72

53|Why the collector region is physically made | It has to dissipate Output taken from | Base collector region Collector region  |Teh ETSIEeR & sholere &77 Hifcieh &9 & Y AR IHAT A | FolFc cAAT T |9 holde 819 Rad | Folaed 81T gl Transistors 79-81
larger than emitter region in a transistor? more heat collector terminal is reverse biased always operate with  |3cToieh &35 & F3T FAT TATIT ST &7 YR AT 95T § foram arar et TIES § 3T dlecsl & AT

high voltage FIH FIATE

54|What is the function of a transistor if Acts as an amplifier | Acts as an oscillator [Acts as an open circuit| ~ Acts as a closed  |Teh ZITSIEeX T I FT &, Ffe; TH F 5F T GYBRR & | Uk aleish & &I H | Toh ol Hiche & &9 | Teh §c; [oad & &9 & Transistors 79-81
emitter to base and collector to base are switch 3R FelaeX ¥ 9 dF 3T AT §2 & H FT wAT§ FT FATE HPT T FT FATE
forward biased?

55|What is the main advantage of a class A Minimum distortion | Maximum current gain | Maximum voltage gain | Minimum signal to  |FeTE T T&IolThRI & A& o1 F31 £7 FeAqH A id TR dH URT T | 31T A dlecst oTeT| M7 39T 8Tt & Voltage regulator - 79-81
amplifier? noise ratio losses T sgAdH [aester Amplifier

56|Which electronic circuit produces signal Detector Amplifier Oscillator Modulator il | S ToTeh TThe 1911 SAYC o 1aaaTel f3eaeX TFICITHIRI Beed ASGeleX Oscillators - 82-85
waves or pulses without an input? TR IT ToTH HT 3G AT §72 Multivibrator

57|Which circuit is essential to maintain Rectifier with filter Voltage multiplier Negative feed back Positive feed back [aTcleh Tfehe & grolell IT 3N ol =TT W@ & el & a1 dreca I[UTH FARRIHS HISsdh | THRICHS hISdh Oscillators - 82-85
oscillations or waves in an oscillator circuit? e i a1 afde smaas §2 [EATCaE Multivibrator

58|What is the main application of uni junction Rectification Amplification Regulator circuits Triggering circuits ~ [FFoTarerel TIoIe T H &I HT T FT 52 TeseaoT e el Gihe ROR Afehe PCB - UJT and 82-85
transistor? FET

59|Which device has very high input NPN transistor PNP transistor Field effect transistor | Uni junction transistor |T&& 3UehioT & &g d 3111 SeTqe STaTe, i | TeTdIua giioieex oAl CIfoTeey | $ies Sthare gIfoel | JetloTereld giioieey PCB - UJT and 82 -85
impedance, low noise output, good 9 e, 3T 3R & 3R soFes FET
linearity and low inter electrode capacity? &TAAT &7

60[What is the difference in current control of Insulating layer Using N material Using P material Using N material gate [JFETs T efell § MOSFET & URT =0T & | Sierere o asig O AHIN & T | Tl ATHIM h ST | OY ATHIAT oh Foll T PCB - UJT and 79 -81
MOSFET compared to JFETs? instead of junction | instead of P material | instead of N material | instead of P material | 37cR §? g elc Rl e AT HT 39T | o Freaft &7 3uer | Ut ArAeT e @ FET

61|What is the type of amplifier circuit? Common base Common emitter Class B push pull Common collector  [TFIeNhIAR The T ThR FAT 52 HIAA o7 IITH FIHAA TTA Folrd o JA ol PIH Sheldel Transistors 82-85

amplifier amplifier amplifier amplifier TFIGITHIRIT TFTATHRR

62|What is the peak voltage of 220V rms AC 310.02V 311.17V 312.25V 315.20 vV 220V rms AC dleeot T Uleh dlecsl T g2 310.02V 311.17V 312.25V 315.20 V Function 82-85
voltage? generator - CRO

63[How the input impedance of CRO can be | By adding resistance | By adding resistance By increasing By increasing volts/cm [HY3R3T & ST FTaTET &l & FrT Sl MBI AT A [ afthe 7 ITeRIY | 9977 / 88 TeegUel |dlec / AT Teaguex Function 82-85
increased? to CRO probe to trigger level circuit | time/base attenuator attenuator switch | TehdT §2 TfaRTer Sgeht CICETY Rag feafa ar Raa Rafaar generator - CRO

switch position position EEEXY EEEXY




64|What is the frequency of the displayed 1.0 KHz 10.0 KHz 100.0 KHz 1000.0 KHz 0.2 HATSeH Ahs & cI5H 94 AT F AT 5 1.0 KHz 10.0 KHz 100.0 KHz 1000.0 KHz Function 82-85
signal on CRO screen covered by 5 maﬁmm%@m CRO &l generator - CRO
division with a time base setting of 0.2 g&fRa faester &1 3mqfcead #1872
micro seconds?

65|What defect will occur in the radio, if the Improper tuning No response Humming sound  [Works with low volume [XT33T # T TRTS 3T, 3R ToARr= Hi g fad egfea HIS TR oTar AT TS | A HTAA & a1 Rectifiers 79-81
pulsations are not removed from the input AFCHRR & $Tqc A FAET gerAT ST 82 FIH AT &
of the rectifier?

66|How does the depletion region behave? As resistor As insulator As conductor As semi conductor | ReFdTRUT 83T & IIER FIAT 67 JTaRIY & &9 & FrdTeleh & &9 7 gTelsh & & H 37 Mol & &T & Semi conductor - 79-81

Diodes

67|What is the power gain of CE amplifier with 15 166 0.66 6600 66 & aieesT o1y 3R Tiforeet & 100 g (Beta) 15 166 0.66 6600 Transistors 79-81
a voltage gain of 66 and B (Beta) of the ¥ 1Y CE UFreiIhIaR 6T Qi ooy 4T &7
transistor is 100?

68|What is the effect, if SCR is latched into SCR gets cutoff | Current through SCR | Output voltage will be | Gate looses control [sFT J#Td €, 39k SCR &1 =Telel # ofel fhdl | THRNIAIR e 3TH gl | THABR A o | 3M3CYE dlees! A | AT dlefel T (o207 SCR, DIAC, 82-85
conduction and gate current is removed in OFF reduced over conduction  [SITaT & 3R DC & 31T e geT fear Sirar &2 KIGIN HTETH I GRT RESILE @rearg TRIAC, IGBT
DC?

69|What is the effect of pinch-off voltage in No depletion region Drain current Reverse bias voltage | Width of channel has [JFET & T 31t aecst &7 T U379 &7 I ReFclehor &1 |37 e YA 8l oficll | Radl ad dlecol | eTol T dSTS &l PCB - UJT and 82 -85
JFET? exists becomes zero becomes zero maximum value Alg i E LI BI SAAT Y A AT & FET




Name of the Trade - Electrician 4™ Sem - NSQF - Module 2 - Control Panel Wiring

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level Topic of Week No of
sylabus the Syllabus
1|Which supply indicates by the colour of Supply DC 3 wire Single phase AC Supply AC system 3 | Apparatus AC system 33, 5o 3R sofeh R #hsere U 1T hseFel 3 dR 3t 3 Tehel thof THT YU | 3 e T 39 3 %l Tl A A 1 Control 86 - 89
conductor exhibited on Red, Blue and system system phase 3 phase T A Hi A g sfag sdr g JuTTeir JuTTeir 30T elements and
Black? accessories
2|Which cable ties are used to bunch the Silk ties P.V.C ties Nylon ties Cotton ties AR T <O He & (1T hlel A halel Sell T R Y EETIES] Arete §E S GIEE] C 1 Control 86 - 89
wires? 3TN T AT 87 elements and
accessories
3|Which device is avoided in the panel Sensors Indicating lamp Isolating switch Push button switch  [Jael a3 31Tl & e 3UHIOT & T STl qW Hhd GI9eh oId Raa g1 Je fead A 1 Control 86 - 89
board assembly? ? elements and
accessories
4|What is the name of the device marked as Stop button Start button Main contact Auxiliary contact "X’ GaRT [RITEsTd TSaT5H &I ATH FT 2 T dea T geol T TIH HETIS T95 D 1 Power and 86 - 89
X? control circuits -
D.O.L starter
:
o
5|What is the name of the wiring accessory DIN rails G channel Grommets Race ways eTel YoTol ATARAT H aTIRT TFAERT Sl T BT 3T i AeTel dMACH asr A 1 Control 86 - 89
used in control panel wiring? AT E? elements and
accessories
6|What is the name of the device marked as Contactor No volt coil Stop button Over load relay trip  [aRGY & "X’ 3ifhd 2aT2d & ATH FAT§? IR A Al Hige I gl N s Rer feg D 1 Power and 86 - 89
‘X" in the circuit? control circuits -
D.O.L starter
x e i ps
88 *
D M o~N « -+
s U a8 &
7|What is the name of the accessory used in Wire ferrules Wire sleeves Nylon cable ties Cable binding strap [agTel 3eTel aTARET 7 Y Fd T T 4T R &l dR 3TEATT ATTelleT chalel §T ErEEISCETRCEN D 1 Control 86 - 89
control panel wiring? AT E? elements and
accessories

ELvonn




8|What is the name of the accessory used in Lugs Thimble Grommet Terminal connector  [Fgiel YeTel QAT 3 TG INOT T AT ATH SEna TyFerer qAT TORT TIeTh Control 86 - 89
control panel wiring? g7 elements and
accessories
%
9|Which device protects from overload and Isolating switch Time delay relay | Thermal overload relay|  Miniature circuit  [3<TeT 913 & ahleT &7 f3aT24H 3NARAS AR ATC 3Mgdtelie ad AT & Rt U IR R | ATk afe s Control 86 - 89
short circuit in a panel board? breaker afhe & AT 87 elements and
accessories
10|Which switch with an actuator is operated Limit switch Toggle switch Isolating switch Push button switch nag & WY et AT e H2MeT hr arfe e ag ehaTel f&ag HTEAYATIT [ad g1 Je [ead Control 86 - 89
by the motion of a machine or part of an ar aEg & mmmﬁr—r GRS elements and
object? accessories
11|Which switch is operated at OFF load Limit switch Isolating switch Two way switch Push button switch |31 &z [eTa & a1 a1 [T TaTfad &7 e Bag AT [ad T3 Rag g1 Je fead Control 86 - 89
condition? elements and
accessories
12|What is the reason for providing two Panel board is made | Control the stray field | Reduce the voltage |Ensure one earthing in |SeTel STS & &1 3TelaT-37e1T 3147 Jelel aial VAT NS UG H THT | YA AT QT A | UeTol SIS & dlocol 319 | 3 TAhelcl & A Instruments 86 - 89
separate Earthing in panel board? in metal box in the panel drop in panel board | case of other failure |oT &I FHROT &2 AT IATE IGRIEGE:TY FI FHH HL # o 7 gAfeaa and sensors
Exy
13|Which circuit, the limit switches are used? Lift circuits Street lighting Motor control circuits Domestic power  |Tohd AThe  ToIAC [&€ad ol 39T haT foree afehe TS JehTel AR fAT=70T Afehe ] [Setell Afehe Control 86 - 89
circuits ST 87 elements and
accessories
14{How the control circuit voltage and power | As per rated current | As per supply voltage | As per no volt coil As per the type of [Tk TSI H @1FUT AThe alecsl AR T & 3] AN S et & 3 R| o1 dlec diga T & | 3MYTd & THR & Power and 86 - 89
in a contactor are to be selected? rating supply TSSTelY T a1 Y fohdT SATAT 72 AR AR control circuits -
D.O.L starter
15|What is the criteria to select the contactor? Type of supply Type of load connected| Supply voltage and Place of usethe  [TTSIoh T TTT HeT & AT HATAGS FT &7 EeGEIEETN J3G TS I JhR & | AT dlecat IR S | HIATSTh 1 3T Power and 86 - 89
load contactor FeT T TUTT control circuits -
D.O.L starter
16|Which accessory is used to mount DIN Rail G. channel Grommets PVC channel U T 3TN TRT 9T Iefe a1 & Ty, BT Yol SiY defel IMATH Y defol Control 86 - 89
MCB,OLR in the panel board without 3NTAINR HY ATZE A o [T oy AT 7 elements and
using screws? 3TN T AT 87 accessories
17|Which type of device protects motors from Rectifier Limit switch Thermal relay Electro mechanical |fhd SR sl 30T HICH i Teh eTel a1S ey fofae Rag >3l Rl Soldel HohieAchel Rot Semi 86 - 89
over heating and over loading in a panel relay # T 3T 3aT N1 & FaTar g automatic star
board? delta
18|What is the use of ‘G’ channels in control For fixing relays For fixing contactors | For fixing instruments |  For fixing terminal |07 &7 &' G "eTeil ST 3YANIT F4T el STeh el & ToTT| TATSTehT T OTh Blel | YN ol OTch el | TR TATSThT T Sleh Control 86 - 89
panel? connectors [ F fow F fow FA & forw elements and
accessories
19|What is the function of limit switch in Controls machine from [Controls machine from |[Controls machine from |  Controls distance  |Fhciel UeTel arIRaT A [ AT [&a< T F4T 3iferen et A ARMeT | FefeT A 3R TS A | FeMeA bl 3T enfsar | el o welieT bl g Sequential 86 - 89
control panel wiring? over heat over speed over loading movement of any  |[HIT §? IGRIEGETGIND IERIEGETGIE afafRamarg |l s AaEasare control of motor

machine




20[Which is the standard duty cycle code of AC, AC, AC, AC, T FfeRTer 3R UReh $IR T Y& led 3T AC, AC, AC; AC, Automatic star -| 86 - 89
the contactor for starting and stopping the Ahet F TIT TURSAT T ATAS Hicd Th delta starter
AC resistive and inductive load? IS HieT AT §?
21|Which is the correct sequence operation | Main—Star—Delta—>Ti Star— Main—sTimer—Delta— Star—Timer— Tl TER 3ol TR & Haleld & [ | Main—>Star—Delta— Star— Main— Timer—Delta Star—Timer— Automatic star -| 86 - 89
of contactors for operating automatic star mer Main—Timer—Delta Star Main—Delta HVSTRT & TEY 3T shH T F>ToleT hisT AT &2 Timer Main—Timer—Delta —Star Main—Delta delta starter
delta starter?
22|Why control panels are provided with To maintain rated To operate the To maintain rated To supply reduced  |{eI=I=0T SHWIER & AT [T Ue &1 JeTel | oIS FaA & [T ¢S | FeTIh Hiche Haliald | I3 T MYl qTaR Afehe ol el Power and 86 - 89
control transformer? voltage to load auxiliary circuits main supply voltage |voltage to power circuit |fFT ST 2 el TATT IWA & FA & ToIT FIecS AT @A & | Alecet T MY Ff ket control circuits
fow forw & T
23|What happens, if time delay relay of a Starts and stop Runs normally Runs in star only Runs in delta only  [FaT 8T g, mwaﬁrm%amﬁ% YFEATL AR FH | AATTA A ToIATe | TR AL deldl & ST A doddT & Automatic star -| 86 - 89
auto star delta starter still in closed ggf’lﬁ & §1g T ersA 3ot Rel &g grad & KIGIN delta starter
condition after starting? g7
24|What is the use of PVC channel in a Mounting MCB Mounting relays Path way for electrical |Mounting double deck [te agier detel araReT & GIdTEY deTol sl MCB &3TT=T el e TSSTell & aRT 3R | 39 3 R Tl Control 86 - 89
control panel wiring? wiring and protection terminal contactor ~ [3UYeT T §? ﬁT&ﬂTa?ﬁ'UWT ol elements and
accessories
25|What is the purpose of thermal over load | Switching ON/OFF the |Protect the circuit from | Control the circuit | Protect the motor from |TS=I0T U & U&el 3G 18 Rl ol 35T fhe wr AT/ de | AT Q1 A Fiche h1 | THG T ¢l & YR | FHIeI I IR girear Semi 86 - 89
relay in control panel? circuit earth fault based on time delay over heatingand  [FaT&? AT /A A W gfe H fFafya | R enfES & s automatic star
loading F delta
26|Why sequential control of motors is To share more loads To reduce power To minimise the To increase the e TN H ACH & Jghiatn 31T R A1 et | TSsTol Y @O Y el | IRTToleT oITeTd T el | TR T TThal Sequential 86 - 89
required in an industrial application? consumption operating cost accuracy of operation |fIF0T T 3MTRTRAT F4T &2 & faw F & faw FT & faT el & forw operate
27|Which material is used to make open Silver Brass Copper Bronze 1o WY AT 3UNIT Gel Sha o efaencara BIc dder GICH ST Power control 86 - 89
frame bimetallic adjustable thermostat TAMIST YATEEE TSI Y Folet & forw circuits - DOL
contacts? Far STarg? starter
28|What is the purpose of DIN-rail used in It provides a path way Install the high Mounting the double | Mounting the control  [shgTel daTel ATARET 3 DIN- Yol T 3TN FAT | AE faegc dRI & ToIT | 3 2T dTel Hiche | 3el 3 Y TAIofeh | Tk o 19T forg=or Control 86 - 89
control panel wiring? for electrical wiring powered circuit deck terminal accessories without  [g? Teh T Yol Y & | Al T ST Fdel A F [T 9T A elements and
accessories connectors screws ) accessories
29|Which device controls the operations in Timer Relays Contactor Control transformer  [aleT & TSATSH 3fefshiateh fd=10T JoTIoIaT TBAR et ot o7 TR Sequential 86 - 89
sequential control systems? TATeTeT & TG el 87 control of motor
30|Which DC load is represented by the DC, |Resistive loads except | Starting and stopping | Starting and stopping | Starting and stopping [elsT a1 ST '3, TURHAIN & DC, HTAH HICY olls &l BIga | AT A & YT | ATT AT HT YFAE | R iR afFa & Automatic star -| 86 - 89
standard duty cycle of contactors? motor loads of shunt motor of series motor with inching and e T @R &RifT a1 &7 g IR 3R e 3R e Y YEHE R delta starter
braking Ahel
31|What is the purpose of control transformer | To maintain constant |To supply the power to | To control the supply | To protect the control [shglel deTel ATIRFT A 3UATT T STt ATel d eI dleest HETIS ATehe HT TSt & 3 0T dcat & 31t Control 86 - 89
used in control panel wiring? terminal voltage the auxiliary circuits |voltage to the contactor| elements from over |[AZ=0T SFAWIER HT 32T FAT §? FaT @A & o | RSt R amgfdaa | deeawm gl | ST v a g & elements and
voltage fault & fow FT & faT o accessories
32[How the contacts in a contactor can be By manual operation |By mechanical settings By operating By using bimetallic |/l F2ToTeh & T 1A el o [T Sl A 37 JHTURAA @R | T3 AW eary | AT i seeret afa M I & Power and 86 - 89
engaged for working? electromagnet to strip to change the  [d9R fohT ST Tt £2 foe fegagasma | v efaurfcas g2 control circuits -
change the position position HATeleT h 39T FHh D.O.L starter




33|Which device prevents flare out of stripped Sleeves Wire ferrules Lugs and thimbles | Cable binding straps [Fl=1 &1 f3aTsH deTel &S & dfzal AR AAGT 3T R el og IR Arsew | Fao gus aizar iR Semi 86 - 89
and stranded cables in the panel board? and button ST T THF A F AshelT §2 Lol automatic star
delta
34[How to protect the cable from insects and By using sleeve By using Grommets |By using cable binding | By providing nylon  [3=el 1 13T 3R TgT & Shefol 3T T&TT ohill 2 | 3TECHST T SYINIT ek | hIACH HT 3TN Fch| helol ST G2 AT BT |ATT e Shalel T TeTal Semi 86 - 89
rats into the panel? straps cable ties YT eh X automatic star
delta
35|What essential feature to be considered Proper type of Inside area and Suitable method of | Outside dimensions [=IF0T 9€ & <I3M3c &l 398 i THA 3T TR T GR&T | 3ieX b &1 AR AHA | A7 IR ool | hiele exarst & a1ex Power control 86 - 89
while designing a layout of control panel? protection and number of indicating | labelling and cable and swing area of  |foFET 3TTaeTs AT W AR fovar e &2 AR AT Joelr | YoTer UM HY ST | g N IUPFA | werS-wiisrg AR RFew circuits - DOL
measuring system lights in front panel harnessing cabinet door e I FE&AT fafer a7 starter
36|Why power and control wirings run in To reduce heat To reduce the radio To increase the Toincrease the  [dTaR 3iR shetel ATRIH 3TelaT-37eT X Aol A | I1HT 1 ol ot b | STV GECABTT 0l A |FoG oI TR SGTe | IR g &TACT bl Power control 86 - 89
separate race ways? interference insulation resistance current carrying FAY TeTd §7 fow Crokariy F fow dorel & forw circuits - DOL
capacity starter
37|wWhy the motor is not changing the No volt coil is not Fault in forward Due to interlock in No voltage existin  [#TeX &I #21 w161 Sered TQT §, PR Ra# oI | 1 dloc HIgel Siotd | PRAS HICFeT A Bioc | Rad dlecded H Ry hieerex 7 g Instruments 86 - 89
direction, if reverse push button is pressed energized contactor reverse contactor reverse contactor  |seT I BRas IR Rad shglel TR Seer TR geTelleh & HROT et Aol 8T & and sensors
in forward and reverse control star delta FCTE F GHAT AT 82

starter?




Name of the Trade - Electrician 4" Sem - NSQF - Module 3 - AC / DC Motor Drives

Question OPT A OPTB OPT C OPT D Question OPT A OPTB OPTC OPTD Ans | Level |Topic of sylabus | Week No of
the Syllabus
1|Which control system consumes very low Field control Drives control Voltage control Armature control  [THT 3R ST Aied & aTicl foAg =07 o foIw BRESGEEL EECAGEER] Jiecot [IF0T 3R AT B 1 |AC/DCdrives-| 90-91
power for motion control in AC and DC ahieT €Y AT YTl §g That fasTell Classification
motors? Qud HT &2
2|Which drive is classified according to mode Group drive Manual drive Individual drive Continuous duty drive |32 & AIS & 3HJER &d 313 I B GEEE] A 35T ITFAITT 313d TR 3gdgI3a D 1 |AC/DCdrives-| 90-91
of operation? gaffepa foram aram &7 Classification
3[What is the name of the characteristic curve Speed Vs torque  |Torque Vs field current | Speed Vs armature Field current Vs D.C 3159 A QST dgh &7 T8 FT &2 1T ST SOl | SeTeU] SeT1H 877 9T 3T ST H AR 9RT | $Ies TaHATT Folid A 1 Working 90-91
in D.C drive? characteristic characteristic current characteristic armature current ICHLGI ICHAGI ICHAG 3T g fFdwar principle of DC
characteristic drive
D =
P S g
4|What is the name of the component marked Rectifier D.C bus Inverter A.C motor THT 37159 & sollh NG H X' F & H feseahrY BRIk EEETay A.C AlX B 1 |Componentsof | 90-91
as ‘X’ in the block diagram of AC drive? RIS geeh &1 AT FAT§? AC drive
O—trH  HA®
5|What is electric drive? Adevice used as | A device converts A.C | An electro mechanical | A machine converts |soliFed 315 F4T 8?2 SPRET AT TSH | Teh STAUTACHI | A I 3A1Ad el | Teh &M TiT3eh ol | C 1 |AC/DCdrives-| 90-91
prime mover for to D.C supply device for controlling | mechanical energy HRHTAH 3TN |D.C YA A gRafcda | v v fdega | i fdega#d aRafda Classification
generator motor into electrical o3 ST aTelT 3UhIoT FIATE Jifeh 3YHIOT FIATE
6|What is the full form of B.O.P in D.C drive?  |Bridge Operation Panel| Basic Operational Basic Operation Bridge Operator D.C 318d H B.O.P &l tLU‘IW FATE? Bridge Operation Basic Operational Basic Operation Bridge Operator B 1 Parts of DC 90-91
Panel Programme Programme Panel Panel Programme Programme drive
7|Which is the classification of drive according | Short time duty drive | Intermittent duty drive [Automatic control drive|  Variable position  [SRIATHE 3R TITOUCH & AHJAR IS 1 | Al TSHA SJLIZBT | HIRASGEIZSd | T@alold [«1g401 3159 | TR 18ATd D 2 |AC/DCdrives-| 90-91
to dynamics and transients? control drive gaffereor it AT E? IGREMEIES Classification
8|What is the function of power controller in It sounds an alarm in It detects the It reduce motor current | It maintain the torque [313d Tfhe & UTaR HcToR HT FAT HI 82 A oS o (el AH g AT N IE &110Teh TATell & | TE o dloco B 2 Parts of DC 90-91
drive circuits? no load conditions | overloading condition during transient at low voltage 37TH T & RS RUfa &1 | eRAF AT e wr | ufa 7 Jemgorar drive
of motor operation conditions T ST & FAFATE FATT T@AT &
9|Why it is necessary to keep V/F ratio Keep the stator flux Maintain the rotor | Maintain the speed of | Maintain the rated  |fEY 313 H V / F 31T sl TEIT T@=AT 1 T FeAFd A AR 4RT Al &1 a7 foad @t ol R LS D 2 |AC/DCdrives-| 90-91
constant in a drive? maximum current minimum motor constant torque at all speeds |3TTa2Te §? 3fhas W FATT I FATT I FATOT FATT I Classification




10|Which power modulator used in the electric Cyclo converters Frequency multiplier Phase sequence Servo controlled  [gelTdeeh 3T5d FAECH H fhE ITaT Al ASFA Foded 3mgfed I[uTe O HIFAGA® | Fal A3 Aeca AC/DCdrives-| 90-91
drive system? indicator voltage stabilizer  |&T 39T R ST £ TETABR Classification
11{Which type of sensing unit employed in drive Opto coupler Speed sensing Photo voltaic cell Resistance 315d RATCH A [T YR T TdcT 3HhIS 3fTeel ek I et Blelalecss 9l |ITcRTY dT9aTe [Sedex AC/DCdrives-| 90-91
system? temperature detector |HTER §? Classification
12|Which type of machine in industries is Rolling machine Air Compressor Shearing machine Heavy duty electric 3G9 & [d Jer hl F7LMeT Aeer AlCY A drell 7LfT TIR FFRR AR AR A R Sollarcen AC/DCdrives-| 90-91
provided with multi motor electric drive? drilling machine  |zaifdge 315d & ATY YeTeT T AT &2 Sfoier mefier Classification
13|Which control system is used for Eddy Slip controller Rectifier controller | AC voltage controller | DC chopper controller [T33T &ic 318d o TolU [ohd [AIF0T JUTTel T T Shelelk ITFTHAT Shelek T dlecol [@d9h 3T AR T TR AC/DCdrives-| 90-91
current drives? 3TN T AT 87 Classification
14|What is the purpose of JOG key in control Stop the motor Restart the motor Inching operation Reverse the direction [D.C 31%d & [T=0T 9€ & JOG Foft &1 3837 HIcX 9¢ A HITT I FRHA B SoTIeT TIRAA HIeX H1 fgam 3elc ¢ Components of | 90 -91
panel of D.C drive? of motor FATE? AC drive
15|What is the purpose of LCD on basic Indicate the fault Display the speed | Monitor the parameter | Display availability of [D.C 315a & 3% 3TReX JeTel G LCD T a1 &Y ST A FERId AL W1 B FAIRIA Y| Tl hT STeTra Parts of AC 90-91
operator panel in D.C drive? supply 3T FATE? TR &Y drive
16|What is the reason of using shielded cable Easy for connection Good appearance Protects from Eliminates the BT 315a A A TR & Q3T Alhe T | chelahlel oh ToTT AT 3T lR@rae IiEF Al A qadT 5 | [Aegd gedard &l Parts of DC 90 - 91
for connecting low level signal circuits in DC mechanical injuries | electrical interference [SigeY & forw TRRTEIT halel ST ITATT I g HATC FAT & drive
drives? T FT ShROT
&2
17|Which device controls the speed of A.C Field supply unit (FSU)| COMMS technology Speed feedback | Microprocessor based [A.C 315d # A.C HIeX I 3Tfcl 1 hieT AT Hies doells i | COMMS Siganiieht TiIs hrsdes HATSHIIIA TR Charging the 90-91
motor in A.C drive? box technology box electronic device  |39aRT fATTET T (FSU) Elca: gl stea SolargifeTeh SUSTOT speed and
2 direction of
rotation
18|What is the main use of A.C drive? High starting torque Group drive motors Control stepless Interlocking system in [A.C 315d T H &I 39T FAT 572 TS TTIfedr efh THE ST AlCH | A & [IA0T I8 | 3TN & SeettehaT Charging the 90 -91
speed in motors industries afa YuTTell speed and
D.O.R
19|What is the function of IGBT in AC drive? Smoothening Controls the power Stabilize the output Converts incoming  |TET 3139 & IGBT T &1 &7 &2 37T aTell A.C ATqfd | AIeX &1 &l 15 At | AFehrRR 4 3-113%3 39T A.C T &t AC/DCdrives-| 90-91
incoming A.C supply | delivered to the motor |  voltage from the A.C power into P T HIAT F IRT aRarg drecst A W D.C fFa fAda # Components
rectifier D.C power output gfkafdd #ar
g
20|Why the A.C drives are better suited for high | High starting torque | Robust in construction | Having lighter gauge No brushes and |15 TS 3T & [T A.C 3159 SgX F4T TS TTIfedr efdh AT A FSTGA | GoohT Aol ATSIT g1aT | IS 57T 3R Frg e AC drive 90 -91
speed operation? winding commutation g7 B components
21|What is the advantage of AC drive Requires less space Installation and Fast response and Power circuitand |31 315d T Jolell # THT 315 & 4T BIIel FH STITE AT TUTAT AR T 1 | cfrer TR iR | o1eR @fehe AR shetol Changing 90-91
compared to DC drive? running cost is less wide speed range of control circuits are  |g? AR HA & forz=oT Y ST afay Afhe TR & speed and
control simple T D.O.R
22|Which is the application of single quadrant Hoists Elevators Conveyors Centrifugal pumps  [318d & Ygdl FaTgc A 19T FATSC o8 BT RES Tellae FerddT 37TheT 9FT AC drive VIF 90-91

loads operating in first quadrant in drives?

ratio operate




23[What is the function of Field Supply Unit Produces required Provides variable Provides a constant | Provides a constant |3RY 313 & We3 Acells feic (FSU) T T | BIRIRET ﬂﬁa??? e | #Alex & 17 argfser 1 | Alex & hres asfEer (AT #H 3R A TH Working 90-91
(FSU) in DC drive? firing current to the voltage to the field voltage to the field voltage to the FIE? 3TITR HIRIRIT T [TR Aot YTl T §| l Tah [Ad drecs T dree st YereT principle of DC
firing circuit winding of motor winding of motor | armature of the motor T 3cUTG AT & eIl AT & A& drive
24|What is the disadvantage of DC drive? Not suitable for high | More complex with a | More expensive than Installation of DC |31 515d &1 &l & &7 3T I FdTeled & | Uehel ATF TATAROT & | ITd &THT hl FHIeI o | SIE 3159 Y TATTAT Working 90-91
speed operation single power AC drive for high drives is more fou 3ugFa AL & Ty ek sifeer  |fore vl grga & s = Sfea principle of DC
conversion capacity motor complicated AGIME drive
25|What is the purpose of LCD in Basic Indicate the status of |Monitor the parameter | Indicate the display | Indicate the incorrect |TEY 3189 & Sffieh 3iTReX UaAel (BOP) & gsa h RAfdH | T gisa & REAIX | G A GedT IE | BOP & dreld Hareial Parts of DC 90-91
Operator Panel (BOP) in AC drive? drive of AC drive error in reading operation of BOP  |UoIIET &T 3227 T &2 Hhd & Fr AR T EEGETY EAREEA drive
26|Which is the correct sequence operation of Press ON - REV — [ Press OFF - REV — | Press ON - OFF —» | Press ON —» REV —» ﬂ%&m#r &2 Seolt o folw AC 51333? Press ON - REV — | Press OFF - REV | Press ON —» OFF —» |Press ON —» REV — Components of 90-91
key button in BOP of AC drive to change the ON ON REV — ON OFF — ON BOP H il e &1 HET 3] sha IR0 ON — ON REV — ON OFF - ON AC drive
direction of rotation? FiTATE?
27|What is the purpose of PROG / DATA button To change the To store the entered | To display the data To display the data | AC 379 & BOP & PROG / DATASCT &l | URI#HIC ATedT ol gl fhuau ser 3R | ®Ras/ REV e | 3mgfed 3R &RT 1 Charging speed | 90 - 91
in BOP of AC drive? parameter setting data and factory direction of rotation status of frequency  [323F FAT§? S&olel & forw therd] TIETTT SeT T | Ser feenm yefdia  (Ser Reuf vefdid aer and D.O.R
stored data forward / REV and current TIETT I & folu Erokariy & fow
28|Which is proportional to the torque in D.C Back e.m.f Field current Terminal voltage Armature current  |D.C FC A FoTe0 & AT I dieT AT 52 3% $.UA.TE. hres arT ORI T drecor IR e Working 90-91
motor? principle of DC
drive
29|What is IGBT in VF drive? Inverter switching D.C bus switching Rectifier switching | Field supply switching [VF 318a & IGBT FaT§? racX [eataer Bared|  D.C 99 [eafaar YFerrR RaRer | ties Teams RafRer Components of | 90-91
device device device device fSaga fSarsa fSarsa AC drive
30|What is the function of VSI drives? Converts A.Cto D.C | Converts A.Cto A.C | Converts D.Cto A.C | Converts D.Cto D.C [VSI S15d ol &I T &2 ACHD.CH T T H D.CHACH D.CH D.CH Components of | 90 -91
aRafda aary aRafda axary gRafda aary gRafda a=ary AC drive
31|Why the A.C drives are mostly used in Easy to operate Robust in construction | Very high starting | Maintenance free long |[&aT A.C 318d SATGIAR Thdl TJF H 39ATT TeTel H 3T AT 7 Ao ErGEICED %[53-11?—?[ TE@TE HeF ofall Components of | 90 -91
process plant? torque life ToRaT ST 872 SelTef Sfrast AC drive
32|How the base speed of D.C shunt motor can | By reducing the field | By increasing the field By increasing the By reducing the D.C 315d &l 3919 dieh D.C AT AT T | hIes T Dl el hich|  Ples T q6ThT GRS ED 3R dleeol T el Working 90 -91
be increased by using D.C drive? current current supply voltage armature voltage |3 Tfer 3 IGTS ST Tehall &2 CEETY FH principle of DC
drive
33[How the constant torque can be obtained By reducing the field | By increasing the field By reducing the By controllingthe  [3#R 3R Hies AaRd sa A AT i | hies Fc ol vl aXeh|  hles IC FgIaT 3T e T HA 3R deest # Working 90 - 91
from armature and field controlled drives? current current armature current armature voltage |3 9TCd ToRaT ST TeheT §72 Fh GRIEGERCY principle of DC

drive




Name of the Trade - Electrician 4" Sem - NSQF - Module 4 - Inverter and UPS

# Question OPT A OPTB OPT C OPT D Question OPT A OPTB OPTC OPT D Ans | Level | Topic of sylabus |Week No of
the
Syllabus
1|What is the minimum permissible single 233V 228V 216 V 211V Ife IMEUAHTS & HJAR BN dlecsl 233V 228V 216 V 211V B 1 |Voltage stabilizer- | 92 -94
phase working voltage, if the declared voltage 240V g ar FYATH HJHA Tehel TXOT Types
is 240V as per ISI? FTIeM atecsT AT 82
2|Which term refers that the mass of a Electrolysis Electro plating Electro copying Electro chemical  |7r& 2reg & dIcad § 1o R deTey 1 faegd raees [EceGERD EREMECT [EERGREGIRICE] D 1 Battery charger - | 92-94
substance liberated from an electrolyte by one equivalent ScTAT Solaciose O Wwﬁ?ﬁga FEicH Inverter
coulomb of electricity? CART FABIAT 82
3|What is the full form of UPS? Uniform Power Supply Universal Power Unregulated Power Uninterrupted Power [af&Icd A& UPS wqﬁmw%‘? Uniform Power Universal Power | Unregulated Power Uninterrupted D 1 OFF line and ON 92-94
Supply Supply Supply Supply Supply Supply Power Supply line UPS
4|Which is frequency converter? Rectifiers D.C choppers Cyclo converters | D.C to A.C converters |3Tgfcd dhelac isT AT §2 YFewd D.C 91} AEFA Feded D.CAACHFaH | C 1 | OFFlineandON | 92-94
line UPS
5(What is the full form of PWM? Pulse Wide Modulation Pulse Width Phase Wide Phase Width PWM T qU1 &9 &1 27 Pulse Wide Pulse Width Phase Wide Phase Width B 1 OFF line and ON 92-94
Modulation Modulation Modulation Modulation Modulation Modulation Modulation line UPS
6|What is the advantage of on-line UPS over Supplies constant It gives constant Works on single Free from change  |3fthelTsel TUTH T 37T gt UTHH | [SoTell ScdTeet | e foRcRk 3M3eYe | Teshel TROTAT el | TRacle 3R Fshafor | D 2 |OFFlineand ON | 92-94
offline UPS? power output output frequency | phase or three phase | over and transition  |&FaT TIger &2 I aar e hrFadr ST g TOT IR FH | T FATATIN T qFd line UPS
supply problems AT E
7|Which electronic circuit is used in a automatic Rectifier circuit Amplifier circuit Oscillator circuit Feedback circuit  |/@Re 3M3CYE Aleesl T ScdTeet Hia FerrRR afhe TFTThIIR Ahe areled Tlhe frsss dfhe D 2 |Voltage stabilizer - | 92 - 94
voltage stabilizer to produce constant output TIT Ush TadIfeld dlecst TCaosoR & fohel Types
voltage? SolFelfeleh Oithe T YA fRT SATAT &2
8|Which feedback network is used for Current divider network|Voltage divider network| Tapped transformer Resistance T dlecol TeaalSol & [oIT [hd YRT f3aTSsY sicas |dlecl [3dTSST Acdeh| ¢4 SIAhER aicds | JIaRIe argamT B 2 |Vvoltage stabilizer- | 92 - 94
automatic voltage stabilizer? network temperature detector |HISS® sicash T 3T fHIAT STAT &2 3¢l Aecas Types
network
9|Which electrical device is actuating the Autostat Output transformer Over voltage relay Under voltage relay |eRUTeg alecl TeaelooR A disl AT [dadd e HI3TYE TEHIR 3R ool Rel 37X dlecol Rel A 2 |Vvoltage stabilizer- | 92 - 94
voltages in a stepped voltage stabilizer? 3YHIT atec st Y Al FHT /T 87 Types
10|{What is the effect in internal resistance of a Increase Decrease Becomes zero Remain same T TSTATST el & AR TTaRTe & FT 3T HH AL REIGIES THAA BT & A 2 Battery charger - 92-94
discharged cell? TS BIT §2 Inverter
11|Calculate the voltage and ampere/hour, if four 6 V and 24 AH 3V and 16 AH 45V and 8 AH 1.5Vand 32 AH [aleest 3R THdRR / g T 3707 3, afe 6V and 24 AH 3Vand 16 AH 4.5V and 8 AH 1.5V and 32 AH D 2 Battery charger - 92-94

cells rated as 1.5 V and 8 A.H are in parallel?

AR A IR AT L5 VIHR8AHT
T ATCH IS E?

Inverter




12|Which is the application of automatic stepped Geyser Grinder Television Pump motor TIATTI TCT8 dlecal TCTATSIR &l R BIEET colifaetet 97 Al Voltage stabilizer- | 92 -94
voltage stabilizer? HITARTHIT AT 8?2 Types
13[Which is the function of an inverter? Converts A.C voltage | Converts D.C voltage | Converts D.C voltage | Converts A.C voltage |3=dc ol I shieT T &2 ACdleCSTHID.C | D.CaAleCT HA.C | D.Cdleesl I 3zd | A.C dlecsl i 3e4 Battery charger - | 92-94
into D.C voltage into A.C voltage |into higher D.C voltage | into higher A.C voltage drecst A uRafda | diecst & gRafad D.C dlecaT & A.C dleeaT & Inverter
FATE FATE Rafda aard aRafda aard
14|What is the purpose of output transformer in Step up input AC Step down input AC Step up AC from Step down AC from  [SeTacX # 33CYCT SR 1 382F FAT5?| TAYC THL P &Y | FAGCTH HIEY | TFINBRT 4 Tl | TFaelheR & TH Battery charger - | 92-94
inverters? amplifier amplifier 3T 3131 T AT A T 13T Y Inverter
15{Which type of output transformer is used in Auto transformer Static transformer Ring core type Ferrite core type  |EaTield dlecsl TeTeSoR H fohdl TR & 3HTeT TRAHER T+ TR RAPRGHRFT | BRIST PR THR H Voltage stabilizer - | 92 - 94
automatic voltage stabilizer? transformer transformer HB?EE;‘I’HW T 3T fRaT 7T §2 TAHEAT TR Types
16[Which principle the constant voltage Self induction principle Fall in potential Ferro-resonant Mutual induction | Ateest arawR fFa Rgid «) 1o g o1 RAgrd o ad Reld | FI-3gA1ed Rield | 3= 9R0T g Voltage stabilizer - | 92 - 94
transformer works? principle principle principle HAT §? Types
17|Which transformer is used in servo voltage Step up transformer [ Step down transformer Torodial Constant voltage  |&dl dlceol Feaal3oR H [hd CFAWEFR T | ¥ 9 AR | TET 313 AR FUEER [CECEIC] Voltage stabilizer- | 92 -94
stabilizer? autotransformer transformer 3TN TR ST 82 SRR THBER Types
18[What is the type of A.C voltage stabilizer? Servo voltage stabilizer| Automatic voltage Manual stepped Constant voltage  |A.C ATecol TSR &l JhR FT 72 Fat drecat FTiold dlocsl | He]37el F¢T5 dlocst [EECEIE] Voltage stabilizer- | 92 -94
stabilizer voltage stabilizer transformer stabilize TSR TSR BTSN TEBRER &R Types
L
]
19|Which instrument is used to check short circuit Ammeter Voltmeter Ohmmeter Multimeter dlecol TGO H Selaclieleh Hlehe 3 THIRX drecHeT 3eAARY AcerHET Voltage stabilizer - | 92 -94
faults in electronic circuit in voltage stabilizer? eitE afde QW fr st et F fow fovg Types
SUROT ST 3TN fohaT ST 62
20|What are the important stages in a simple Oscillator and rectifier Oscillator and Amplifier and Oscillator, amplifier |Ua TTURUT 8=ac A Agcaq Ul TRUT FIT &2 | aleleh AR GSCHIR gleleh 3K TETSTRIRR 3R aleleh, TFTehrak Battery charger - | 92-94
inverter? stages amplifier stages transformer output and transformer TIOT TFTRIhIIT TROT | iR fetd @Rt (31 S awnR 3carest Inverter
stages output stages TROT
21|Where square wave inverters are used? Computers TV receiver DVD players General lighting |37 G3T SAAER ST 3UTIT gl [T ST &2 FYX &rar REaR EEIERCET AT Fehtal Battery charger - 92-94
SYaEAT Inverter
22|How the backup time of UPS can be Increase the VA rating Increase the AH Decrease the AH Maintain battery  [JHTTH &1 31T THT A FGAT off Tehell | FUITH T VAT | el &1 Tod &7 | el 1 AH &THaT | e Thatele dloest OFF line and ON 92-94
increased? of UPS capacity of battery capacity of battery terminal voltage g7 EMy Eraiy gerw I gHAT QO%‘Qﬁ?T line UPS
always 90% of rating FeATT T
23|How the hard sulphation defect in secondary |Provide trickle charging| Provide freshening Provide constant Provide constant  |gIaciigeh Ul H oK Hewhe a1Y &l sl Teeher 1ol Terel Y | herfaiaT rel Jeiel | Terdre &IRT =Tfoiar faard fasra fafer Battery charger - 92-94
cell can be prevented? charge current charging potential method [T STT HehelT §72 et Y ITSTaT TeTeT Y Inverter

charging




24|Which part in UPS supplies continuous output Battery unit Inverter unit Rectifier unit Controller unit T # iel AT GEAT SAYC dlecod hl Sl e e ghele JFeHERR gfele [EPEEEET ] OFF lineand ON | 92 -94

voltage in case of input voltage failure? Tawerdr & AT H AR 3m3eqe alecs line UPS
#r i aar g2

25|What is the effect during loading of the cell, Buckling Polarization Local action Amalgamation Tl Ol oI5 e & SRTeT FIT ToId IS &, ShToldl Beieay] TUTART fohaT 3HAITH Battery charger - | 92-94
the current strength falls and become zero? T L I AT ¢ 3R A &7 Sedt 87 Inverter

26|What is the reason for having low back up Fault in inverter circuit Battery is short Mains earthing is not | Ampere hour (A.H) |J9TE & hél 9o 319 glel BT PRUTFATE? | Srac AT H AT | S agurdds  |Hed 19T 1 A8l [Se ST TR 3aT OFF lineand ON | 92 - 94
time in UPS? circuited proper capacity of battery is g (A.H) & g line UPS

not sufficient aTE

27|Which is the cause for the fault if the output Battery get short Defective feedback | Input voltage is very Relay points are  [37g ZHITH &I HT3CYT dlecol TAT & | ST THITAA BIch § | AITY01 BISdsh Hiche | FAqcaleesI agd | Rel disc Toh AU I3 OFF lineand ON | 92 - 94
voltage of UPS is higher than normal? circuited circuit high joined together | 3178 &, AT GIW ST SHIRUT T &2 IRFE SaE line UPS

28|What is the reason for tripping the UPS with Main supply failure Incorrect over load | Battery charger input | Loose connection in  [HTTH 1 Q1S & AT 0T el 1 HROT | & AT TaheldT | ITed Haells Acad| S dlok 3e7qc | Sl el # orell OFF lineand ON | 92-94
full load? settings fuse blown out battery terminal FTE? ST 33 1T Felereel line UPS




Name of the Trade - Electrician 4" Sem - NSQF - Module 5 - Power Generation and Substation

generation

# Question OPT A OPTB OPT C OPT D Question OPT A OPTB OPT C OPT D Ans Level Topic of sylabus [ Week No of
the Syllabus
1|Which fuel is available in plenty in India for Coal Diesel Gas oil Gasoline TorsTelt 3cuTeat o folT 1R & hieT &1 58 HIger BroTel e Sy A 1 Source of energy 95 - 96
power generation? G AT H 3TcTeH §7? thermal power
generation
2|Which is the conventional power generation? Wind power Tidal power Solar power Thermal power [dRIR TSeTell 3cdTce il AT &2 qa ATFd 3cUTeeT | ar efFd 3cUTesT| TR AP 3cdleed | 3SAT UfFd 3cdieaA| D 1 Source of energy 95 - 96
generation generation generation generation thermal power
generation
3|Which material is used in solar cell? Silicon Copper Antimony Phosphorus AR Tl F he T T 3TN AT ST 872 [BIGEIC GIEY TEHAT HREGRT A 1 Solar power plant 95 - 96
4|What is the name of the atomic material used Silicon Thorium Antimony Cadmium TATY] Fall T H AT [GE S & [T [GIGEIGH NRIA TAHAT FsAae B 1 Source of energy 95 - 96
for nuclear fission in nuclear power station? EQWWWWW%’? thermal power
generation
5/What is the name of the material used for Silicon Arsenic Antimony Germanium qrerarefees Gel dellel & folT T aFd ATHI [GIGEICH EisicE TAHAT SH T A 1 Solar power plant 95 - 96
making photovoltaic cell? FT ATH &7
6|Which is the non conventional energy source? wind Water Steam Diesel I IRAR Fa1T A HleT TATE? gar Eich) o BEC A 1 Non conventional 95 -96
power generation
7|which is the natural source of energy? Sun Heat Coal Biogas 3T T IThTcish T hiel TT 872 Td A Eape AT A 1 Source of energy 95 - 96
thermal power
generation
8|Name the constituent marked as ‘X’ of the Penstock Surge tank Valve house Power house  [BTS3T Selfefeeh Celic i AloTellag cga<l JelEeish ot ook ared gI3d ToISTell TR B 1 | Hydro power station | 95 - 96
schematic arrangement of hydro electric plant. g H X R AH G|
:
9|Which is a non-conventional energy source? Lignite Sun rays Stored water Pulverized coal |Ueh IR-GRIR Foll A il AT &7 IGIGIES IS T RO Farfgd qreit ot Hrger B 1 Non conventional 95 - 96
power generation
10|What is the main disadvantage of Poor efficiency No constant Can use only light | Heavy load cannot [TR-9RIR [aaTell 3cUIGT 91 A& JHAT ELEGGI 31TRR 3caTgeT Shaol A AR F1 | RY R FeTfold | A 2 Non conventional 95 - 96
non-conventional power generation? generation loads be operated FATE? 39T F Tqhd & TRIT ST TehlT & power generation
11|Which power generation requires heavy water Hydel power Diesel power Thermal power Nuclear power  [@lsT & QITed 3cUIG 7 HARY ofed & TE AT | GTSSe [Sofell 3cUIGST | STofel TaTell 3cUIGsT | el ATFd 3cdlGel | ILATY] o 3cdGel | D 2 Source of energy 95-96
treatment plant? generation generation generation generation T ITTRIHAT gIcir §72 thermal power




12|Which device senses the wind speed in a wind Exciter unit Turbine controller | Chopper controller | Line controller unit [TasT Foll 3c4TesT & ShisT AT (SaTSH 84T 3t 3ccioleh SHIS TaTST hetelk AT TRk ST [T 518 Wind power 95 - 96
power generation? T T AGHH P 872 generation
13|Which turbine is used for high heads in hydro Kaplan turbine Impulse turbine Francis turbine Reaction turbine |3 &8 aTel 81331 Selldeeh UTaR Tollc H fohd FYIA cIASA 37A9T TageT I eXaTSel gfafRar carsa Hydro power station | 95 - 96
electric power plant? AT T YT R ST 872
14|What is the function of penstocks in hydro Carries water to dam | Carries water to | Carries water away | Discharges surplus [JefersTell TUel & UeTEcieh 1 I FATE? | STET cfoh UIell Ug Tl | Calgal cieh Tell | TSoTell eR A gY Iell | STemery & 3iaray Hydro power station | 95 - 96
power stations? turbines from power house | water from reservoir EIEEI'IHT% AT UTeY T fAdgeT Hdr
g
15|Which is the purpose of boiler in a steam power | Super heats the Heats feed water |Converts water in to | Liberates the heat [TEH UTaR TS & STTeR ol 38T FIT &2 $TT T 378 3187 | 1T AT 3R gar T il T $1TT H ST g USHS @ AT Source of energy 95 - 96
station? steam and air steam from burnt fuel FIATE g gRafda axarg HT AFTFLAT & thermal power
generation
16({Which type of power plant is more efficient? Diesel plant Steam power Hydro electric Nuclear power |/F& 9hR T fstell @37 316 HAA g2 EECEEE T e quT fastelt QAT HiEG] Hydro power station 95-96
17|Which material is used as control rod in a Thorium Graphite Cadmium Tungsten TAT] RUFeX 7 70T B3 & &9 H 4 Biter AFIST Fefaga TIESA Source of energy 95 - 96
nuclear reactor? T T 3YANT fHIAT AT §2 thermal power
generation
18|Which is the non conventional power Diesel power Nuclear power Wind mill power Hydro-electric  [3R 9RUIRe TSsTell 3cUTeeT il IT &2 BioTet ATTad 3cUTGsT | IXATY] QT 3Gl | IdeT Tarehl [Sofell | ofel [96gd Qe Non conventional 95 - 96
generation? generation generation generation power generation 3cdresT JcdrgeT power generation
19|Which is the residue of bio-mass? Slurry Bio fuel Manure Bio gas ST GSTHATT BT A i AT 5?2 BTl (TR ECESC g EIoiE e Non conventional 95 - 96
power generation
20|Which is the main constituent of biogas? Oxygen Methane Hydrogen Carbon dioxide |STITEIA T J & e el T 572 RIESIET] e gSgtotd FIee SEATFATZS Non conventional 95 - 96
power generation
21|How electricity produced in solar panel? While sunlight strikes |~ While sunlight While sunlight While sunlight  [&R SeTeT & TorSTell ol 3cdTee ha [T ST STe YU T W TS TS AT IRMEA | ST T T IRMEA | STieh It T IR0 Solar power plant 95 - 96
glass strikes nickel plate | strikes manganese strikes on 27 TR B el cle O Hi T W e & | wieaifees a0 W
photovoltaic cell THAAT & TR B
22|What is the function of air pre heater in a steam | Heats feed water | Supplies hotairto | Supplies hot air to | Extracts heat from [€E1# ifefd €37 & TR W G 1 I FAT 52| ATYA Sl I ITH | SHIAIATGI hl a1 | GUREICT b1 IA gal | ol 1T & a1 Source of energy 95 - 96
power station? economiser super heater flue gases and AT gar &1 3mgf & amgfd feRTerar g 3R 3mmera thermal power
heats input air g I IH FAT & generation
23|What is the main disadvantage of nuclear plant? | Disposal of waste [Running cost is more| Plant requires large | Installed away from |GRATO] €I T FEI JFHHT T 2 FaR & foTderd AN TT SAET g | TIF HY 93 TUTA T AR AY Source of energy 95 - 96
space load centre 3TaLTHAT BT & Faifa forar s thermal power
generation
24|What is the function of economiser in steam Converts water into | Heats the air by the Heats the feed Purifies the feed [¥CT ITaR Tollc H ShIATATSOR I hI FATg? | TN A AT H | Fo] 311 GaRT &aT BT | Tof 34T GdRT IS T ToTeh 3UAR Source of energy 95 - 96
power plant? steam flue gases water by the flue | water by chemical gRafdd aarg A AT E 9Tl T I AT & | GaRT faw g TaTedT & thermal power

gases

treatment

YEIAT &

generation




25|What is the advantage of non conventional More reliable More efficient Low initial cost Reduce pollution |3 qRUR TSrsTell 3cUTeT T FIT HIIeT 872 378 R, 31T gat FHHA IRTHAD AT JENUT HeTell Non conventional 95 - 96
power generation? power generation
26|What is the function of charge controller in Controls the over | Disconnects turbine | Prevents the over | Controls the over |31 JTUTRE HTSshT BTSSe UTaR SRRl & e dteest i O T cTEBA BT | I T 3N ATordl | eXareeT &l 3N Non conventional 95 - 96
battery based micro hydel power generation? voltage from the battery | charging of battery |speed of the turbine |TTeT SeleR T F3T FHI §2 IGEIEGETGIN Rt AT g F AhcT & Tz &t g power generation
AT
27|What is the purpose of barrage in tidal power Controls the tidal Releases water | Tap the water at the | Converts potential [SaRIT ATFd TCUAT F SRTST T 3237 FIT 2 AR TR’ TG A AR U | TTST o T gaR IR | Afelst Soil & rferst Tidal power 95 - 96
station? waves towards the sea entrance of gulf energy into IGEIFGETGIRS BIEGIED I A AT R | For & gRafad generation
kinetic energy AT
g
28|Which component in a steam power plant is Boiler Economizer Super heater Air pre heater  [ESTH TR Tl H fhd GTh T 39T Foy, IR SHIAATS R R TR I gieX Source of energy 95 - 96
used to heat the feed water from the flue gas? I O s gret 1 I I & o fhar srar thermal power
g7 generation
29|What is the advantage of pressurized water No heat loss High thermal It has high power Metal surface TRTSSS dled RUFX (PWR) T FIT BIIEr PN IHT gliet R 3= dT9T 87T 3UH 39 ATFd grg I Fg A1 Source of energy 95-96
reactor (PWR)? efficiency density temperature is lower |§? gelca § YA HA § thermal power
generation
30|Which power generation plant is having more Hydro power plant | Diesel power plant | Nuclear power plant [ Thermal power plant|f& fSstell 3cdtea T3 & TaTel & 378w STeT fagga aa+ Brolel AT FIT | WA AFT EIF | 9 G gd qIT Source of energy 95 - 96
reliability in operation? Taegatgar g2 thermal power
generation
31|Which is the disadvantage of non conventional Increase pollution | Security risk is more | Requires more | Cannot be used for [TRUR fosTell 3cUTesT IR IR GRIRE TorsTell YEYUT §¢T0 T SNIEH 377 §| 3178 [CREE H |94 &1s 3878 & fav Non conventional 95 - 96
power generation over conventional power maintenance base load demand |3cqTcsT ST s h&TeT AT g7 TFLTHAT & STAATC AAET fohdT 1T power generation
generation? Hehdl
32|What is the major disadvantage of wind power Pollution effect is Requires high Plant installation | Wind power is not [JaeT QTeFel 3cUTeel 1 YHTW Fhallel FATE? | TGNUT I TR SATGT | e cAeholleh 1 | TIT TUTAT W | Iaal Foll 335l 3R Wind power 95 - 96
generation? more technology more complicated |constant and steady g TFLTHRAT & Jfea g R g g generation
33|What is the function of turbine used in tidal Prevents water flow | Converts potential | Keeps the water Converts kinetic  |[SaRIa e ScdTeeT # TS I R 41 ¢2| U I 7PN A | EATAST Sofi bl |1l o g1 i foleet UCEESED Tidal power 95 - 96
power generation? to other parts of dam | energy into kinetic | flow from low to energy into Il T JATg AhcdT & | ITTasT Soll & AT TR R @A | RufasTsard generation
energy higher level potential energy gRafdd sar g g gRafdd sar g
34|What is the advantage of non-conventional More reliable Low initial cost Efficiency is high | Green house effect [TR-URIR FoiT A T FAT HIIST &2 378 INAHACS F IRIAF aerd e GIEICERS DGEGELICE: Non conventional 95 - 96
energy source? is avoided T ST & power generation
35|How the potential energy from water flowing is | By storing water in By using surge By using water By creating high |dTell & sget dTell ReUTCST Foil b faoTell I AT A Il | TTelt BT AT A ol | 3o 315d A | UeTeeierd & ATETH Hydro power station | 95 - 96
converted as kinetic energy to generate power? high quantity tanks at the water turbine to drive head through  |3c9eeT 3 & TorT a1fast Fail & &7 F & FHSROT AT | EF FT3TNT Feh | & [T Il REBA | ¥ 3T §8 TATR
canal alternator penstocks gRafda o srar &2 T 3G FH
36|What is the effect of radio active rays produced Damages the Creates health Reduces fission Enormous heat is  [JR&ATY] faWSH o &Rl 3cUee glel alell XA | RUFRT Y Fohdllel | TARELT T TeRT e |[ase Fishar 1 el |e72eh et e g1l & Source of energy 95 - 96
during nuclear fission? reactors hazards process produced Tfeh ot &1 3T woTTe 8T &7 Ig aTelTe FIATE FIATE thermal power
generation
37|What happens to solar cell, if the intensity of Output increases Output decreases | Output remain same | No output in the cell [If& srerrer &t aar Fer g, ot TR Tl &1 F41 H3CYT T © H3cYe gedT & 3M3CYT AT AT & | Tl H IS IT3CYT Installation of solar 95 - 96
light is low? grem? Ter plant
38|What is the output voltage of a solar cell, if light | No output in the cell [ Output voltage is No effect and Output voltage is [T Threr &1 rerar 3118 &, ot Tk Jct 31 Aol A IS A3CYC | HT3cYc dlecol 96 | Ig TTd w1, GAW | 3M3CYT uedl & Solar power plant 95 - 96
intensity is high? increased remain same decreased 33T Tl T 872 EHI ST g EaTg




Name of the Trade - Electrician 4™ Sem - NSQF - Module 6 - Transmission and Distribution

Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPT C OPT D Ans | Level |Topic of sylabus | Week No of
the Syllabus
1|Which electric lines connect the substation to Feeders Distributors Service lines Service mains TaeoT gorelt & facRe! & T Faeeer Hrst IEGica aag oS arRg AT A 1 Transmission 97-99
distributors in distribution system? &1 et WY TG T 1St Shah 872 system
2|What is the insulation resistance between Infinity More than one Mega | More than two Mega |More than three Mega |IE & oIl & 3R HETH docst Be] 3eTed ThAMATAT [ TR AW AEA| T AM AT T B 1 Domestic 97 -99
any two conductors in a medium voltage ohm ohms ohms STCTorelel H fohegl &F dTelehl o i KlED 3 service line
domestic installation as per IE rules? S el TR &7 872
3|What is the voltage ratio in A.C distribution 415 V/240 V 240 V/110V 415 V/110 V 11 KV/415V WWHMTII}H F v 3-Tq—o_-|'|é' 31% A.C 415 V/240 V 240 V/110 V 415 V/110 V 11 KV/415V A 1 Bus bar - 97 - 99
line adopted for domestic consumers? TaeRoT dTgeT 7 oot AT T 82 Power tarift
4|What is the name of the insulator used in Pin insulator Post insulator Strain insulator Shackle insulator  [31.TT SIT3=11 & 39T [T ST aTel et gy T Sl T gl Aehel IR D 1 Transmission 97-99
O.H lines? Feg elcY hl ATH T §7? system
@z
Tmn ‘
=T
Ll
sy
2 §
Pin type insulator Disc type insulator | Shackle type insulator | Suspension type  [dlTSel Segelex &l AATH FT 52 T TR gt | 38 YR segacd | A ThR gogac | [Feeed TR g=gact| D 1 Line insulator 97 - 99
insulator
5]
H
6|Which is the permissible load for lighting 800 W 1200 W 2400 W 3000 W |E fAT#AT & 3] HR e dRT A 39 800 W 1200 W 2400 W 3000 W A 1 Line insulator 97-99
subcircuit in domestic wiring as per IE rules? e T STl o [T HJ AT HR HieT AT
&2
7|What is the name of the insulator? Stay insulator Shackle insulator Suspension insulator Single shed pin SegoICR I ATH FT 57 g AP g feiaeT gegelcy | Rerer A3 WA 3geicy| D 1 Domestic 97 -99
insulator service line
]
8|What is the reason for the conductor cross- No heat loss No skin effect No power loss No corona loss EPIITEFITUT% SiY Tl Y JoIT H S ok PIS FSHII glfeT AeT | IS cadl YHII 78T | ls AFd 8T A8l | IS PRIT gl AeT | B 2 Line insulator 97-99
sectional area can fully utilised on TrafAeIe W HeFeR Hia-TFdl 817 HT
transmission of DC as compared to AC? q;?ra'rs' { 3TN FT ThelT &7
9|Why the disc pin insulators outer surface is To withstand high Not to attract birds to To offer high Disables continuous 3% el 5g e STedl Tclg i Telfatar 3T dlecol T HHAT | $H W d6a o [T o4 A Afad | aW &g A TR atel | D 2 |[Overheadlines| 97-99
made by glazing and bent the sides inward? voltage sit on it mechanical strength | water flow in rainy  [Z@RT &7 ST 147 § 3R FRaART T 37eT T & faT aferat i e eI el & foT | gaTg & ST awear
season Y TR FAT ST TET 872 o & fT =7Er J




10|What is the type of over head line joint? Twisted joint Straight sleeve joint | Compression joint for | Straight joint through [3TaR 83 TTg+T GG d &1 TR &1 52 H31g NS T AT 1SS | ACSR & [T T | Fodered & ATETH & Line insulator 97 -99
ACSR connectors g o s
11|Why steel is reinforced in ACSR conductors | To minimize the line To reduce the line  |To increase the tensile To increase the 3HIaRES oSa o [eIT SEAATS glad arel ST JIT T A el | oS ATeeol A BT | dedcll 9¢lel & [olT | ORT dgeT &TAdT T Over head lines | 97 - 99
used for over head lines? sag voltage drop strength current carrying ACSR HaFeX H Il &l F4t gafeld fohar F fow FH T & foT el & fow
capacity ST §?
12|Which type of A.C transmission is universally | Two phase four wire | Two phase three wire | Single phase two wire [Three phase three wire |[& YR T A.C JARUT Ardsfiias &7 T gl thal IR dR gl that el aR 9Tl thaf &l Rk el ot diel dR Over head lines| 97-99
adopted? 3TIATAT ST &2
13|Which type of line insulator is used for Pin insulator Strain insulator Shackle insulator Suspension insulator [@TSsT TATCA WX Piet o TFH o [T Tohd et sgelcy e Tl AT G Trelee segaiex Transmission 97 - 99
terminating on corner post? YR & eATge] S olcd &1 3TN fohar system
Sarg?
14|What is the reason of keeping binding wire Avoid sparking Avoid corrosion Avoid oxide formation | Avoid atmospheric  [STSfSaT aTIR 319 I §g & I W= 3R o= TIfRIT § a2 &ROT H & JTFATSS T § &< | argHS el gard & &< Line insulator 97 - 99
gap too close and very tight in pin insulator? pressure YOI 9 ATSC glel T FAT HROT 52
15|What is the name of conductor used on ACSR Aluminium Galvanised iron Hard drawn copper [3TaRes wlTgeil U= 39N & STl arel ACSR egAfaTA STEATRd digT FHOR drar Line insulator 97 - 99
overhead lines? HSFT P ATH FATE?
16|What is the main purpose of crossarm used Supporting the line | Holding the insulators | Avoids short circuit Reduces conductor  |[Icgd @R & TgaFd HIG3TH & &I MSeT gl &l 3TRES A3 W FHEFCA h AT AC | TER & dId hgael Over head lines| 97-99
in electric poles? conductors on overhead line between conductors | sag between supports |32 FIT g2 TERT ol Sog ol Yehsell Afhc A TAT ST g | RITASTAT I e T
g
17[Which type of line insulator is used at the Pin insulator Disc insulator Stay insulator Post insulator H.T 37TaRes orgat & 3ifcs R o v AT gt B sgaX g T S Over head lines| 97 -99
dead ends of the H.T overhead lines? G & TSl ST T 3TN fomT SATelr
g2
18|What is the advantage of AC power Corona loss negligible |Stress on transmission | Low voltage drop in Voltages canbe  [AC YfaR graTA2IeT & FT BIICT 72 PN JH T AT | TTATALIA olloell T | CIHIAR olgall § | dlecof 1 ¥4 319 Line insulator 97 -99
transmission? lines is minimum transmission lines stepped up and TG s gATH & FH diecst 31T TR ST TehetT & 3R
stepped down easily ITATAT T E13
o3 ST HhcT &
19(What is ACSR stands for? All Conductors Steel | Aluminium Core Steel | Aluminium Covered | Aluminium Conductor [ACSR T Hcloldl T &2 All Conductors Steel [ Aluminium Core Aluminium Covered Aluminium Transmission 97 - 99
Reinforced Reinforced Steel Reinforced Steel Reinforced Reinforced Steel Reinforced Steel Reinforced Conductor Steel system
Reinforced
20|What is the purpose of cross-arm in O.H Provide more support | Protect from short [ Reduce the sag of the | Holding the insulators |3i.e olTgeil 31 shIE-37T1 1 3T FATg? | 3.7, Giel 1 3HTeh FgeFell T GFEHAT & o FGAR TR U Over head lines | 97 - 99
lines? to the O.H pole between conductors | lines between poles | where the conductors TERT TeTeT THIYA A IET R |37 T RIRISAAT T | sy T foheR &
are fastened FH B SRS
21|What is the advantage of over head lines Public safety is more | Faults can be located | No interference with Not liable tothe  [#{fFeTa dhelel &Y JoleTl H TR 88 olell &1 | WIAAAD '\gT&TI A AN AT | FUR oSl & @y | Af3d @Raer & Tert Over head lines| 97-99
compared to underground cable? easily the communication | hazards from lightning |aT TIer &2 s T ST Tl § P FEALT AT | F forw favawei sigt
lines discharges 3




22|Which substation the transmission line Mobile substation Mining substation | Secondary substation | Distribution substation [STARI elTge] dlecst I fohd FATT N AT Ta€CAA Welel FEETAT ATEATHS FaEeesT TIROT T2t Over head lines| 97-99
voltage is stepped down to consumer supply SUSIFAT mﬁ‘raﬁm F o ST AT 87
voltage?

23|What will happen to the string arrangement | Whole string become | No effect operates Only the damaged Damaged insulator ~ [f& 2% ggiex &TTaed 81 ST &, Al | IR AR SR &1 STTcll & IS 37 YA 761, | Shael GIIIed [36h | FEATad gogaiel Line insulator 97-99
of disc insulators, if one of the disc insulator useless normally disc will not function and the adjacent  |f3E g ICT I TEIT STTEUT T FAT FIMT? AT & H P LT AN 3R 3T Srgelex
gets damaged? insulator will not Farfeid giar g PR FAET M

function

24|How the sparking on the aluminium cored Keeping binding turns | Making binding turns | Providing guard wires | Providing more than |SiTSt &1 STefe aTel Tog @ T=1g# IS dTel ST dTel GHATAI T | ST dTel GHATE T EIER‘{TQ?FﬁZTUTI's‘ T I 318 a9 Line insulator 97-99
conductors binding joints can be prevented? very close very tight below the conductors one binding Fsaredl 9T TUITHaT T 8 Vol ST FhaAT§?| ITH-91H @ FHRL IGAT AR Y T&TeT T Tl el

25|What will happen to the skin effect on the Becomes negligible | Increases to maximum [No effect, remain same| Decreases half of the [3T=I ShseFexl R car & FHTd T FT 30 gl AT § 3FaH a& 55 FIS 3R 16T, el | HleT ol JTET T ATl Over head lines| 97 -99
O.H conductors, if the conductor diameter is value 19T, 319 ShaFe HT I BT § (<lcm)? ST g wEaTg

small (<1cm)?




Name of the Trade - Electrician 4™ Sem - NSQF - Module 7 - Circuit Breakers and Relays

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPT D Ans | Level |Topic of sylabus [Week No of
the Syllabus
1{Which circuit breaker is installed along with ocCB MCB ELCB MCCB Slehel T AICaHT & Ja1d &g IINRET Alhc OCB MCB ELCB MCCB c 1 | Circuit breakers | 97 - 99
wiring circuit against leakage current protection? F TTY et [T AP FHT SAIMAT ST &2
2|Which relay hold their contacts in position after Read relay Current relay Voltage relay Latching relay ATa FHTHTD o T, hiel H ol 3= T ERTT RT Rel Jrecot et T Rer D 1 |Protective relays| 97 -99
power is cutoff? Eufa & w@a g7
3|What is the name of circuit breaker? Oil circuit breaker | Air blast circuit breaker [Vacuum circuit breaker|  Air break circuit  |HTehe sSTeh< &l oITH FAT 27 AT Ak AP | TAT sAlEe Gl s |  [ald Tlhe Shl TR Sh gipec s | B 1 | Circuit breakers | 97 -99
breaker
4[How the rupturing capacity of circuit breaker is KV KW MVA KVAR HFhT S T ol Thl &THAT T HedTehe Ha KV KW MVA KVAR [ 1 | Circuit breakers | 97 -99
rated? Far STarg?
5|What is the pick-up voltage in a over voltage Working voltage of Maximum voltage Minimum voltage Minimum voltage to  [Hehfeicl 3TaR dtesT Rel  Oeh-319 dlees FT |Rel T HRISRT dlecst| Rl I T Rel &l =aA s R gsaE & far | D 2 |Protective relays| 97 - 99
relay indicated? relay rating of relay rating of relay start the relay g7 grecet IfeaT grecat IfeaT ﬂa‘-l?m‘qm
6|What is the function of Buchholz relay in power | Over load and short Over voltage and [ Open circuit and earth | Open circuit and over [fSsTell SA®ER H J@Tedl el &1 B AT 272 MR A AR AC | drocst AR QAT & | 319eT Fiche 3R 2T | 39T Ffehe AR 3R | A 2 |[Protective relays| 97 -99
transformer? circuit protection earth fault protection fault protection voltage protection Tfdhe TeToT a gIam &Iy TI&TOT oot AT
7|Which type of load is protected by ‘G’ series Ovens Geysers Air conditioners General lighting |8 9&R &1 @13’ G ' A0ft MCB garT &Rfaid 3ad iy TR HER HTHATYT YR JaedT| C 2 | Circuit breakers | 97 - 99
MCB? systems g2
8|Which type of relay is used in both A.C and Reed relay Impulse relay Thermal relay Clapper-type armature [A.C 3R D.C 3Mqfd gl=il & [ohd TR & el &l RERTT 37997 Rt 3ol Rt FAR-JHR 3R | B 2 |[Protective relays| 97 -99
D.C supply? relay YT fohdT 1T 872 Rer
9|Which circuit breaker is used as a switch and Air circuit breaker Miniature circuit Moulded case circuit | Earth Leakage circuit [ERedraRaT Hishe # [Eae 3R FI&Tcash W Gihe sad ATATR Al S | AleSS 8 HIhT S | 31 Tlichof Al 5L | B 2 [ Circuit breakers | 97 - 99
protective device in the domestic wiring circuit? breaker breaker breaker 3YHIOT & T H foh Tfhe ST FT 39397
o ST 872
10{What is the purpose of trip coil used in circuit Easy operation Remote operation Accurate operation | Emergency operation [Tfhe Sehil 3 SEHTST 3T STTe dTell (0T higel 3TETeT SHTHRIST ReAe 3R T ITRAA 3TTARTeleT TR | B 2 Repair and 97 - 99
breakers? FT 32T FATE? maintenance of
CB
11|{What is the function of relay to the breaking Sensing the fault Analyzing the Controlling the Speed | Interpreting the fault |07 Hfehe 3 Hlehe ST o siTehal STRRI A | ST AT 1 TR HLAT| ST bl U T [ITeAch 3 ATFC H TS | Johd FTod aaA s | D 2 |Protective relays| 97 - 99
operation of circuit breaker in control circuit? quantities condition of breaker in case of fault situation to operate | Rl &1 FTF FAT §? faeeryor FI foaFae=r | fovaw & fufa fr

breaker

cTET hidd




12[What is the effect, if the test button marked as Circuit trips Circuit functions Circuit switch off Circuit will not trip on  [&f& X' & &9 & FIE=Tcl TohaT 14T T&T0T Sl | Aiche eh-3oh e 129 | Hiehe A=A T4 A | Hiche YA e A dg | liehol X Alehe e Protective relays| 97 -99
‘X' is closed permanently in ELCB? intermittently normally completely leakage ELCB & Tarll &9 & &¢ &, A ST 33T 91T & gl FRITATE EHEZETI
g
§
13[What is the defect in an air circuit breaker, if Incorrect setting of Excessive heat  [Insufficient air pressure|Line voltage is too high qiehe ST 3 FAT 1Y 8, 3R SANTS9T T el &7 ITerd Afcs 3T I HIATed agare oSef dlecol 9§ d Repair and 97 - 99
trips intermittently on loading? relay 311%—6 h-5oh Y [T IaT 872 st g maintenance of
CB
14|What is the defect in a oil circuit breaker if the  [Line voltage is too high Excessive load Poor dielectric strength|  Defective tripping  [TT& Aol AT 1T 81 ST ol el Hiche S | w15l dlocsl 9 d 3cTTYS HR FH qidegd ATFd | arqol fefer a Repair and 97 - 99
oil heats up excessively? mechanism FFATAwE? K IBCoE maintenance of
CB
15[What is the cause for the defect if phase to Components failure Insulation failure Human error Fuse failure 3R CATARN olTgel WX el ¢ 138 Blec ¢ o Tl T [AheldT g eIl [Awerdr EECE TSt [aerdr

ground fault on the transmission line?

FIAT HROT §?




